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BHE 3
YMLBRRA v A X A (FERBEFIZSMEHRE)

¢?xml varsion="1,07 encoding="UTF-877>
<HCCI_IN200L00UV01 ITSVersion="XML 1.1 xsi:scheualocation="urn:hl7-org:vs MCCI_IN200100UVEL xsd” xmins="urnhlT-org:v3” xmlns:xsi="http://www. wi, org/
2001/XMLSchema-instance™ ’
¢id extension="N. 1.2 root="2. 16,840, 1.113883.3.989. 2. 1. 3. 227 />
<l— N.1.2: Batch Rumber —>
<creationTime value="201012141516177/>
¢l— N,1.5: Date of Batch Transmission —>
<responseMadeCode cade="D"/>
¢interactionld extension="MCCI_IN200100UVO1™ root="2.16.840. 1. 113883.1.6°/> .
<name code="N, 1, 1" codeSystem="2. 16.840. 1. 113883, 3,989.2. L, 1. 1"/>
¢I— N.1.1: Type of Messages in Batch —>
<I— Messaga #1 —>
<PORR_INO43016UV>
¢id extension="N.2.r.1" rooct="2.16.840, [, 113883.3 989.2.1.3.17/>
<l— N.2.r.1: Hessage Identifier —>
{creationTime value="201012141516877/>
¢l— N, 2,r.4: bate of Message Creation —> .
{interactionld extension="PORR_INO490I6UY” root="2. 15.840. L. 113883, 1.6%/> )
<processingCode code="P7/>
<processingdodeCode code="T"/>
{accepthckCode code="AL"/>
<receiver typeCode="RCY"> )
¢device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.2.r.3” reot="2.16.540:1, 113883, 3.980.2.1.3. 12'/}
(= N.2.r.3: Message Receiver Ident1f1er —
{/device>
</receivery .
¢sender typeCode="SNO">
<device classCode="DEV" determinerCode="INSTANCE™>
¢id extension="N.2.r,2” root="2. 16. 840, 1, 113883, 3, 689, 2. 1. 3. 117/>
¢l— N, 2.r.2: Message Sender Identifier —>
{/device> :
{/sender’>
{controlActProcess classCode="CACT” mocdCode="EVN™>
<code code="PORR_TEOA9016UV" codeSystem="2. 16. 840. 1. 113883. 1. 18"/>
¢l— HL? Trigger Event ID —>
{effectiveTime valua="201012141516177/>
¢l— €,1.2: Date of Creationh —>
{subject typeCode="SUBJ">
CinvestigationEvent classCode="INVSTG™ mocdCode="EVN™>
¢id extension="C.1.1" root="2.16.84C.1. 113883, 3,989, 2. 1.3.1"/>
¢!— C.1.1: Sendet's (case) Safety Report Unique Ydentifier —>
<id extension="C.1,8.1" root="2. 16.840.1.113883.3.980.2.1.3.2°/>
¢}— C.1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2.1b” root="2. 16, 840. 1. 113883, 3,989.5. 1. 3. 2. 3. 175 -
— 8812, 1b: BAIFS (B —
<code code="PAT_ADV_EVNT™ codeSystem="2. 16. 840, 1. 113883, 5,47/>
{text>H. 1</ text?
¢t . 1: Case Narrative Including Clinical Course, Therapeutic Measures, Qutceme and Additional Relevant Information —>
{statusCode code="active”/>
<l— 828]2.7.1 BT, RETES —
<{effectiveTime>
<low value="20000101"/>
<l— C.1.4: Date Report Was First Received from Source —>
{/effectiveTime>
<availabilityTime value="20080101"/>
€l-- C.1.5: Date of Most Recent Information for This Report -
<reference typeCode="REFR™>
<document classCode="BOC™ moodCode="EVN™>
¢code code="1" codeSystem="2. 16,840, 1. 113883. 3. 989, 2. £, 1. 27" displayName="docunentsHeldBySender”/>
CtitledC. 1.6 Lt 1</title>
¢t— . 1.8, 1.r. 1: Documents Held by Sender {rapeat as necessary) £l —>
(text mediaType="application/pdf” representation="B64™>C.1.6.L r. 2</text>
¢!—- C.1.6.1.r 2 Included Documents #1 —> -
</document>
{/reference> - .
<reference typeCode="REFR™> .
<document classCode="DOC” moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3.988. 2. 1. 1. 27" displayName="documentsHeldBySender”/>

<titledC. 1 6. 1. x. 1</title>
¢<1— C.1.6.1.r.1: Documents Held by Sender (repeat as necessary) #2 —>
. (text mediaType="image/jpeg” representation="B64" compression="DF7)C. 1. 6. 1.r.2<{/text>
<l C.1.6.1.2.2: Included Documents #2 —> '
</doctiment>
{/reference>



{refersnce typeCode="REFR">
<document classCode="DOC" moodCode="EVN™>
(code code="2" codeSysten="2, 16. 840. 1. 113883. 3.989. 2.1. 1. 27" dlsplayNameA llteratureReference "/
<titledJ2, 17, r</title>
— ez, 17. r BB/ HIROSE #1 —
<text mediaType="application/pdf” representation="BE4">C.4.r.2</text>
{1— C.4.r.2: Included Documents H1 —>
<bibliographiclesignationText>C. 4. r. 1{/bibliographiclesignationText>
¢l— C.4.r 1! Literature Reference(s) #it —>
¢participation typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG™ determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
¢loeation classCode="COUNTRY” determinerCode="INSTANCE™>
<{code code="]2. 15, 7" codeSystew="1. 0. 3166. 1.2. 27/
<|— g@aJz, 16. r AFEE #1 —>
</lecationd
{/asLocatedBntity>
{/representedOrganization>
{/assignedEntity>
{/participation>
{/document>
{/reference>
¢reforonce typeCede="REFR™>
<document classCode="DOC* moodCode="EVN™> :
<code code="2" codeSystem="2. 16. B40. 1. 113883. 3. 989. 2 1.1.27" dlsplayName- literatureReference”/>
<titledJe, 17, ré/title>
<l— e0@y2. 17.r R/ WROIHE #2 —
<text mediaType="application/pdf” representatien="BE4">C.4.r.2{/text>
<l— ¢, 4.1.2: Included Documents #2 —>
<hibliographicDesignationText>C. 4. 1. [(/h1b1mgraph1c[!951gnatlonText)
¢l-- C.4.r.1: Literature Reference{s} #2 —>
<participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
(representedOrganization c¢lassCode="ORG™ determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
<lacation classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="J2.15. 1" codeSystem="1, 0, 3166.1.2.27/>
<1— @@ajJ2 15. r ARE #2 —
{/location? -
{/asLocatedEntity> .
{/representedOrganization’
{/assignedEntity>
</participation>
{/document>
</reference>
{component typeCode="COMP™> ~
{adverseEventAssessment classCode="INVSTG" moodCode="EVN™>
{subjectl -typeCode="SB]">
¢primaryRele classCode="INVSB]™>
<playerl classCode="PSN" determinerCode=" INSTANCE >
{name>D. 1{/nane>
<l-- D.1: Patient (same or initials) ——>
{adninistrativeGenderCode code="D.5" codeSysten="1.90.52187/>
<]—D.5 Sex —>
<birthTime value="200%101"/>
<l--b.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
<l— D.9.1: Date of Death —>
<asIdentifiedEntity ¢lassCode="IDENT™>
<id extension="D,1,1.L" root="2.16.840. 1. 113883.3.989. 2. 1. 3. 7'/)
¢I— D,1.1.1: Patient Medical Record Mumber(s) and Source(s) of the Record Number (GP Medical Record Numher) —>
<code code="1" codeSystew="2. 16.840.1, }13883.3.989.2. 1. 1. 47 dlsplayName— GP"/>
{/asIdentifiedEntity>
{asIdentifiedBntity classCode="IDENT">
¢id extension="D.1.1.2" root="2,16.840. 1.113883.3.980,2, 1.3, 8"/>
¢<l— D.1.1.2: Patient Medical Record Number{s) and Source(s) of the Recerd Number (Specialist Record Number) —->
¢code code="2" codeSysten="2, 16, 840, 1, 113883, 3. 089, 2. 1. 1. 4" displayNawe="Specialist”/>
{/asIdentifiedEntity> "
<asldentifiedEntity classCode="IDENT">
<id extension="D. 1. 1.3" roet="2.16.840. 1, 113883, 3.689,2,1.3,97/>
¢le= B.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record Number) -->
<code code="3" eodeSysten="2, 16, 840. 1. 113383, 3. 989. 2. 1. 1. 4" displayName="Hospital Record”/>
{/asldentifiedEntity>
<asIdentifiedEntity classCode="IDENT™>

I



¢id extension="D. 1.1.4" roat="2.16.84¢. 1, 113883, 3, 986.2.1.3. 107/> ,
¢1— D.1.1.4: Patient Medical Record Number(s) and Source(s) of the Record Mumber (Investigation Number) —>
{code code="4" codeSystem="2, 16, 840, 1, 113883.3.980. 2. 1. 1. 4" displayName="Investigation”/>
</asldentifiedEntity> .
<role classCode="PRS™>
<code code="PRN” codeSystem="2, 16, 840. 1. 113883. 5, 1117/>
<associatedPerson ¢lassCode="PSN™ determinerCode="INSTANCE™
<name>D. 10. 1{/name>
¢4— 0,10, 1: Parent Identification —>
¢administrativeGenderCode code="D, 10,6 codeSystem="1.0.52187/>
¢<1— D.10.5: Sex of Parent —>
<birthTime value="200801017/>
¢l— D.10,2,1: Date of Birth of Parent —>
{/associatedPerson>
{subjectOf2 typeCode="SB]™>
{observation classCode="0BS" mocdCode="EWN™>
<code code="3" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="age"/>
<value xsi!type="PQ" value="10" unit="D. 10.2.2b"/>
{l— D, 10, 2, 2a: Age of Parent (number) —>
<!— D, 10,2, 2b: Age of Parent (unit) —>
</observation>
</subject0£2>
<subject0f? typeCode="SB]™>
{abservation classCode="0BS" moodCode="EVNT>
Ccode code="22" codeSystem="2.16.840. 1. 113883, 3. 989. 2, 1, 1,197 displayName='lastMenstrualPerioéI)Date'}')
{value xsiitype="TS" value="200801017/>
<le— D.10.3: Last Menstrual Period Date of Parent -—>
{/observation’
</subject0f2>
. <subjectdf2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN™>
<cade code="7" codeSystem="2. 16. 840. 1. 113883, 3. 980, 2, 1. 1. 19" displayName="bodyWeight"/>
<value xsi:type="PQ” wvaluc="50" unit="kg"/> ’
¢l— D.10.4: Body Weight (kg} of Parent —>
{/observation>
</subject0f2>
<subjectOf2 typeCode="SB)™>
{observation classCede="0BS" moodCode="EVN">
{code code="17" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" displayName="height”/>
¢value xsi:type="PQ” value="160" unit="cam"/>
¢!— D,10,5: Height (cm}) of Parent —>
</observation>
</sthiect(f2>
<subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” woodCede="BVN™>
<cade code="1" codeSystem="2. 16. B40. 1. 113883. 3. 089. 2. L. 1. 20" displayName="relevantlledicallfistoryAndConcurrentConditions”/>
{somponent typeCode="COMP™>
{ohservation classCode="08S" moodCade="EVN">
<code code="D. 10.7. 1.1, 1b" codeSystem="2. 16. 840, 1. 113883, 6. 163" codeSystemVersion="1. 10.7.1.r.1a"/>
!~ D.10.7. L. x. la: MedDRA Version for Medical History #1 —>
{!— D.10.7. L. 1. 1h! Medical History (disease / surgical procedure/ etc.) (MedDRA code) #1 -—
SeffectiveTime xsi:type="IVI, TS™>
{low value="20090101"/>
<1— D,10.7.1.r.2: Start Date 1 —>
<high value="20080101"/>
¢l— D.10.7. 1.r. 47 End Date #I —>
</feffectiveTime>
<puthoundRelationship? typeCode="COMP”>
{observation classCade="0BS” moodCode="EVN">
Ccode code="10" codeSystem="2. 16. 840. 1. 113883, 3. 589, 2. L. 1. 197 displayName="comment"/>
<{yalue xsi:type="ED">D.10.7. L. r.5¢{/value>
| D.10.7.1.7.5: Comments #1 —>
</observation>
{/outboundRelationship2>
<inboundRelationship typeCode="REFR">
(ohservation classCode="0BS" moodCode="EVN">
Ceode code="13" codeSystem="2. 16,840, 1. 113883, 3. 989, 2. 1. 1. 15" displayName="continuing”/>
<value xsiitype="BL" value="true”/>
<!—D.10.7. 1. 1. 3: Continuing #l—>
</observation>
</inboundRelationship>
{f/observation>
{/component>
{component typeCoda="CONP™>
{observation classCode="0BS" moodCode="BVN">



¢code code="D.10.7. 1. 1. Ib" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="D. 10.7. L. x.1a"/>
¢l— [.10.7.1.1. la: MedDRA Version for Medical History #2 —>
¢l— .10, 7.1; 1. ib: Medical History {disease / surgical procedure/ etc.) (MedDRA code) #2 —>.
CeffectiveTime xsi: type— VL 5>
<low value="20000101"/>
<!— D.10.7. L r. 2: Start Date #2 —>
<high value="200801017/>
¢l— D,10,7. 1.x.4: End Date #2 —>
</effectiveTime>
{outboundRelaticnship® typeCode="COMP”>
<ohservation classCode="0BS" moodCode="BYN">
(cade code="10" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 19" dlsplayName- comment”/>
{value xsi:type="ED"D. I0. 7. L. r. 5</value>
J— D10, 7. 1.1 51 Comments #2 —>
{/observation>
{/outboundRelatianship2>
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS” mocdCode="E¥N">
<code code="13" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 18" displayName="continuing f'>
<value xsi:type="BL” value="true”/>
¢l— D.10.7. L.x. 3; Continuing #2 —>
{/chservation>
</inboundRelationship?
'¢/observationd
{/component?
{companent typeCode="COMP*>
{observation classCode="0BS" moodCode="EVYN">
<code code="18" codeSystem="2, 16. 840. 1. 113883, 3. 98%. 2, 1, 1. 18" dlsplayName- h1storyAnanncurrentCand1tmnText Fad
(value xsi:type="ED">D.}Q.7.2<{/value>
¢)— D.10.7.2: Text for Relevant Medical History and Concurrent Conditiens of Parent —>
</observation> )
</compenent>
{/organizer>
£/sub jectOf2>
<subjectOf2 typeCode="SB]">
{erganizer classCode="CATEGORY” moodCods="EVN">
(code code="2" codeSystem="2, 16. 840. 1. 113883, 3, 986. 2. 1. 1. 20" dlsplayﬂame— drugHistory™/>
<component typeCade="COMP™>
<substanceAdministration classCode="SBADM™ moadCode="EVN™>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<l— D.10.8.x. 4: Stert Date #1 —>
<high value="200901017/>
<l— 1,10, 8.r.5: End Date #1 —>
{fetfectivelime>
Lconsumable typeCode="CSN™>
<instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
¢code code="D. 10, 8. 1. 2b” codeSystem="TBD-MPID" codeSystemVersion="D. 10.8.r.2a"/>
<{!— D, 10,8, 1, 2a: MPID Version Date / Number #1 ——>
<!—- D.10.8.1. 2b: Medicinzl Product Identifier (MPID) #1 —>
{name>D. 10. 8. r. 1{/name>
(!~ D.10.8.r, 1: Name of Drug as Reported #1 —>
£/kind0fProduct>
{/instanceGfKind>
{/consumable’ .
{outboundRelationship2 typeCode="RSON">
<{ohservation classCode="0BS" moodCode="EVN™>
<code code="19" codeSystem="2.16.840. 1. 113883. 3. 989, 2.1. 1. 19" displayName="indication”/>
<yalue xsi:type="CE" cede="D. 10.8.r. 6b” codeSystem="2. 16, 840, 1. 113883, 6. 163" codeSystemVersion="D, L0, 8. x. 6a” /)
¢l— D,10.8.r.6a: MedDRA Version for Indication #1 —>
¢1-- D.10.8.1.6b: Indication (MedDRA code) #1 —>
</observation>
</outboundRelationship2>
<authoundRelationship? typeCode="CAUS">
{observation classCode="0BS" moodCode="BVN">
{cods code="29" codeSystem="2.16. 840 1. 113883. 3. 989, 2. 1: 1. 19" displayName="reaction”/>
. (value xeiitype="CE" code="D.10.8.r.7h" codeSystem="2. I6. 840, 1. 113883, 6. 163" codeSystenVersion="D. 10, 8.r. 7a"/>
<1—- . 10,8, 1, Ta: MedDRA Version for Reaction HI —>
€1— D.10,8.xr. 7b: Reactions (MedDRA code) #1 —>
</observation>
</outhoundRelationship2>
</substanceAdministration?
</component>
<component typeCode="COMP">



¢substanceAdninistration classCodé="SBADE™ mopdCode="EVN™>'
CeffectiveTime xsi:type="IVL_TS™>
<low value="200901017/> .
<l D, 10.8.r. 4: Start Date #2 —>
<high value="20090101"/>
¢l— D, 10.8.r.5: End Date #2 ~—
{/effectiveTime>
{eonsumable typeCode="CSM">
<instanceOfKind classCode="FNST™>
<kind0fPreduct classCode="MMAT" determinerCode="XIND">
<code eode="D. 10.8. r. 3b” codeSysten="TED-PhPID" codeSystenVersion="D. 10.8.1.3a"/>
<l— D.10.8.r.3a: PhPID Version Date / Number #2 —>
<t— D.10, 8. 1. 3b: Pharmaceutical Product Identifier {PhPID) #2 —>
<name>D, 10. 8. r. 1{/name>
(b= D.10.8.r. 1! Name of Drug as Reported §2 -—>
£/kindOfProduct>
{/instance0fKind>
</consumable>
<outhoundRelationship? typeCode="RSON™>
{obzervation classCode="OBS” mocdCode="EVN™>
{code cede="19" codeSystem="2. 16. 840. 1. 113883, 3,989.2. 1. 1. 19” ‘displayName="indication”/>
<value xsiitype="CE* code="D.10.8.1.6b" codeSystem="2.16. 840. 1. 113883, 6. 163" codeSystemVersion="D. 10. 8. x.6a"/>
¢I— .10, 8. r. Ba: MedDRA Version for Indication #2 —>
¢!— D.10,8.r.6b: Indication (HedDRA code) #2 —>
{/ebservation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
{ohservation classCode="0BS" moodCode="EVN"™>
(code code="29" codeSystem="2, 16, 840, 1. 113883. 3. 989, 2. 1. L. 19" displeyName="reaction”/>
<value xsi:type="CE” code="D.10.8.r.7b" codeSystew="2.16. 840, 1. 113883, 6, 163" codeSystenVersion="D.10.8.r.7a /)
¢!— D, 10, B.1. Ta: MedDRA Version for Reaction #2 —>
<}— D.10. 8. 1. 7b: Reactions (MedDRA code} #2 ——>
</cbservation>
{/outboundRelationship2>
¢/substanceAdministration®
{/component>
{/organizer>
</subject0f2>
{/role>
<{/playerl>
<subjectOfl typeCode="SBJ">
(researchStudy classCode="CLNTRL” moodCede="EVN™>
¢id extension="C.5.3" root="2.16.840. 1, 113883,3,989.2. 1.3.57/>
<l C.5.3: Sponsor Study Number —>
¢code code="C. 5. 4" codeSystem="2. 16. 840. 1. 113883. 3. 689. 2. L. . 8"/>
¢I— .5, 4: Study Type Where Reaction(s) / Event{s) Were Observed —> .
<title>C.5. 2¢/title>
<[— C.5.2: Study Nawe —>
{authorizaticn typeCode="AUTH">
{studyRegistration classCode="ACT" moadCede="EVN™>
<id extension="C.5.1.r. 1" root="2.16. 840.1.113883. 3. 989.2. 1. 3.6"/>
<I— C.5 1. r.1: Study Registration Mumber #1 —>
Lanthor typeCode="AUT"
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
(code code="C.5. 1.r.2" codeSysten="1.0.3166.1.2,27/>
<le- €.5.1.r.2: Study Registration Country #1 —>
</governingPlace>
{/territorialAutharity>
{/author>
{/studyRegistration>
</authorization>
<authorizatien typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN™>
<id extension="C.5.1.r.1" root="2, 16,840, 1. 112883. 3. 088. 2. 1. 3.6"/>
{I— C.5.1.r.1 Study Registration Number #2 ——>
Cauthor typeCode="AUT™>
<territorialAuthority classCode="TERR">
<gaverningPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5, 1. r.2" codeSystem="1, 0. 3166. 1. 2. 27/>
¢1— C.5,1,r. 27 Study Registration Country #2 —>
</governingPlace>
" <fterritorialAuthority>
</author>
</studyRegistratian’



</avthorization?
{/researchStudy>
{/subject0f1>
<{subjectlf2 typeCode="5B]">
{observation classCode="0BS" mocdCode="EYN">
<code code="3" codeSystem="2, 16. 840. 1. 113883, 3.989. 2, 1. 1. 197 displayName="age"/>
<value xsiitype="PQ" value="10" unit="D. 2. 2b"/>
¢J— D, 2. 2a: Age at Time of Onset of Reaction / Event (number} —>
¢l--~ D.2.2b: Age at Time of Onset of Reaction / Event (unit) —>
{/observation> .
{/subjectQf2>
{suhject0f2 typeCode="SB]">
<observatmn classCode="0BS" moodCode="EVN">
¢code code="16" codeSystem="2. 16.840. 1. 113883.3.989.2,1,1.197 d1sp1ayName— gestationPeriod”/>
<valuoe xsi:type="PQ" value="10" unit="D.2. 2. Ib"/>
¢l~-D[.2.2. 1a: Gestation Period When Reaction / Event Was Dbserved in the Foetus (rumber} =
<l— I 2.2, 1b: Gestation Period When Reaction ,/ EVent Was Observed in the Foetus (unit) -—>
{/ohservation>
{/subjectDf2>
<subject0f2 typeCode="SBJ">
{observation ¢lassCode="0BS" moodCode="EVN™>
<code code="4” codeSystem="2. 16.840. 1. 113883, 3,989, 2. 1. 1. 19" displayName="ageGroup”/>
<value xsiitype="CE” code="D. 2. 3" codeSystem="2.16. 840. 1. 113883.3.989.2.1.1.87/>
<!— D.2 3: Paticnt Age Grnup {as per rcporter) —>
{/observation>
{/subjectDf2>
{subject0f2 typeCode="5B]">
{observation ¢lassCode="CES” moodCode="EVN™>
{code code="7" codeSystem="2.16.840. 1. 113883, 3,989, 2.1. 1. 197 dlsplayName— bodyWelght i
<value xsi:type="PG4* value="48. 2" unit="kg"/>
<1— D.3: Body Weight (kg} -—>
{fobservation> ’
</subject0f2> .
{subject0f2 typeCode="SBJ"> ’ . N
{observation classCode="0BS” moodCode="EVN™> .
<cods code="17" codeSystem="2. E6. 840. 1. 113883, 3. 988. 2. [. 1. 19" displayName="height”/>
¢value xsitype="PQ" value="152" unit="ea”/>
<— D. 4! Height (em) —>
{/obzervation>
</subject0f2>
{subject0f2 typeCode="SB]">
<ohservation classCode="0RS" moodCode="EVN">
<code code="22" codeSystem="2. 16.540. 1. 113883, 3. 989, 2. L. 1. 19" displayName="lastMenstrualPeriodDate”/>
{value xsi:type="TS" value="200901017/>
¢]— D.6: Last Menstrual Period Date ~->
{/observation>
{/subjectOfZ>
{subject0f2 typeCoda="SB]" >
{organizer classCode="CATEGORY” moodCode="EVN">
<oode code="1" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1, 1. 20" displayName="relevantMedicalHistoryAndConcurrentConditions”/>
Ccomponent typeCode="COMP™>
<ohservation c¢lassCode="DBS™ moodCode="EVN™>
<code code="D, 7,1, 1. 1b” codeSystem="2. 16. 840. 1. 113883, 6, 163" codeSystemVersion="D.7. L. r. la"/>
{l-~ D.7.1.r. 1a! MedDRA Version for Medical History #1 —>
<l—— D.7.1.r. 1b: Medical Histery (disease / surgical procedure / ete. ) (MedDRA code) #E -—>
(effectiveTipme xsi:type="IVL_TS">
{low value="20090101"/>
<l--D.7.1.r.2¢ Start Date #1 —
<high value="200901017/>
<l—D.7.1,r. 4% End Date #1 —>
¢feffectiveTime>
CcutboundRelationship2 typeCode="COMP™>
{observation classCode="0BS" moodCode="EYN">
{code code="10" codeSystem="2. 16. 840. 1. 113883, 3, 988, 2, 1. 1. 19" displayName="comment /)
Cvalue xsi:type="ED”PD.7.1.r. 5¢/valued
<I—D.7.1.r.587 Comments #1 —>
{/observation?-
{/outboundRelationship2>
<outhoundRelationship2 typeCode="EXPL">
<abservation classCode="0BS" moodCode="EVN™>
Lcode code="38" codeSystem="2. 16, 840. 1. 113883.3. 989, 2, 1, 1. 19" displayName="familyHistory”/>
<value xsi:type="BL™ value="true"/>
¢|— D.7.L.1.6: Family History §1 —>
</observation>
¢/outboundRelatienship2> . .



{inbeundRelatienship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN™>
(code code="13" codeSystem="2. 16. 840. 1. 113883, 3, 586, 2, 1, 1. 197 displayName="continuing”/>
<value xsi:type="BL” value="true”/> ‘
¢l— D.7.1r. 3: Continuing #1 —>
{/observation>
¢/inboundRelationship>
{/observation>
</component>
<gomponent typeCode="COMP™> 7
{observation classCode="0BS” moodCode="EVN">
<code code="D.7.1.r.1b" codeSystes="2. 16.840. 1. 113883. 6. 163" cedeSystemVersion="[.7.1.r.1a"/>
<l— D.7. 1. r.la: MedDRA Version for Medical History #2 —>
¢l— D, 7.1.r.1b: Medical history (disease / surgical procedure / etc.) (MedDRA cede} #2 —>
CeffectiveTime xsiltype="IVL_TS">
{low value="20050101"/>
© ¢!— D.7.1.r.2: Start Date #2
<high value="200901017/>
<!-- D.7.1.r. 4! End Date #2 —>
</effectiveTime>
<outhoundRelationship? typeCode="COMP™>
{abservation tlassCode="0BS” mocdCode="EVN™>
Ccode code="10" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1. 1, 19” displayName="comment”/>
<value xsi:type="ED"?D.7. 1. r.5</value>
I— D.7.1L.r.5 Comments #2 ——>
</observation?
¢/outboundRelationship2>
<putboundRelationship2 typeCode="EXPL">
<observation classCode="0BS" moodCode="EVN™>
<ecode code="38" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. L. 19" displayName="familyHistory”/>
<value xsi:type="BL” value="true"/>
<l— D.7.1.r.6: Family Histery #2 —>
{/observation>
¢/outboundRelationship2>
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS™ moodCode="EVN">
Seode code="13" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="continuing™/>
Cvalue xsi:type="BL" value="true"/>
¢l—- D.7.1.£.3: Continuing #2 —>
{/ubservation?
{/inboundRelationship>
{/chservation>
£/component)
{component typeCode="COMP™>
{obgervation classCode="0BS" moodCode="EVN"> .
Ccode code="18" codeSystem="2, 16. 840, 1. 113882, 3,989. 2. 1. 1. 19" displayName="historyAndConcurrentConditionText”/>
<value xsi:type="ED">D.7.2{/value>
¢l-— P, 7.2: Text for Relevant Medical Histery and Concurrent Conditions (not including reaction / event) —>
¢/observation>
</component>
{gomponent typeCode="COMP™>
{observation classCode="0BS" moadCode="EVN">
<code code="11" codeSystem="2. 16, 840, 1, 113883, 3,989, 2. 1. 1. 19" displayName="concemitantTherapy”/>
{value xsiitype="BL" value="true”/>
¢1-- 1, 7.2: Concemitant Therapies —>
{fabservation>
</compenent?
{forganizer>
{/suhjectOf2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="2" codeSystem="2. I6. B40. 1. 113883, 3. 989. 2. 1. 1. 20" displayName="drugHistory™/>
<component typeCode="COMP™>
{substanceAdministration classCode="SBADM™ maodCode="EVN™>
<effectiveTime xsiitype="IVL_TS">
{low value="200901017/>
¢'-— D 8 r 4: Start Date #1 —>
¢high value="20080101%/>
¢t— D 8. r.5: End Date #1 —>
{/effectiveTime>
{consumable typeCode="CSM™>
<instanceOfKind classCode="ENST">
<kindOfPreduct classCode="MMAT” determinerCoda="KIND">
{code code="D, 8.1, 2b" codeSystem="TBD-MPID" codeSystemVersion="D.8.r.2a"/>
¢l— D.8.r.2a: MPID Version Date / Numher #l —>
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¢l-- D.8.r. 20! Medicinal Product Identifier (MPID) #1 —>
<name>D. 8. r. 1{/name?
¢l— D.8.1.1: Name of Drug as Reported #1 —>
</kindofProduct>
<{/instanceOfKind>
</consumable>
outboundRelationship? typeCode="RSON">
<vhservation classCode="0BS” moodCode="E¥YN">
¢code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1. 1. 197 displayName="indication”/>
¢value xsittype="CE* code="D.8,r.6b" codeSystem="2.16.840. 1. 113883, 6. 163" cheSystemVersmn—- D.8.1.6a"/>
¢l— D.8. r.6a MedDRA Version for Indication #l —>
¢l— D.8. r.6b: Indication (MedbRa code) #1 —>
<{/observation}
</outboundRelationship2>
<outboundRelationship? typeCode="CAUS™>
{observation classCode="0BS™ moodCode="EVN">
{code code="29" codeSysten="2. 16, 840, 1, 113883. 3. 988. 2. 1. 1, 19* displayName="reaction”/>
¢value xsi!type="CE" code="D.8.r.7b" codeSystew="2. 16,8240, ], 113883, 6. 163" codeSystemVersion="D.8.r.7a"/>
{l— D.8,r,Ta: MedDRA Version far Reaction #1 —>
{l— D,8.r.7b: Reaction (MedDRA code) #1 —> ‘
¢/observation> :
<foutboundRelationship2>
{/substanceAdministration>
<{component?
{component typeCode="COMP™>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
CeffectiveTime xsi:type="IVL_TS")>
{low value="2000011"/>
{l— D.8.1.4: Start Date #2 —>
<high value="200901017/>
<J— D.B.r.5: End Date #2 —>
</effectiveTime>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kind0fProduct classCode="MMAT" determinerCoda="KIND"> :
<code code="D. 8.r.3b” codeSystem="TBD-PhPID" cndeSystem\'erslon— D.8.r.3a W
{l— D.8.r.3a: PhPID Version Date / Number —>
<|— D.8.r.3b: Pharmaceutical Product Identifier (PhPID) H2 —>
<name>D. 8. r. 1</name>
¢I— D,8.r.1: Name of Drug as Reported #2 —->
</kind0fProduct>
</instanceOfKind>
{/consumable>
{outboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
<code code="18" -codeSystem="2. 16. 840. 1. 113883. 3. 089, 2. 1. I. 197 displayName="indication”/>
¢valug xsi:type="CE” code="D.8.r.6b" codeSystem="2, 16,840, L. 113883. 6, 163" codeSystemVersion="D.8, r.6a"/>
€l D.8.r. 6a: MedDRA Version for Indication #2 ——>
{]— D.8.r. 6b: Indication {MedDRA code) #2 —>
{/observation>
{/cutboundRelationship2>
¢outboundRelationship? typeCode="CAUS™>
{observation classCode="0BS” moodCode="EVN™> .
{code code="20" codeSystem="2. 16, 840, 1, 113883, 3,989.2.1.1.18" displayName="reaction”/>
<value xsi:type—- “CE* code="D. 8.1, Tb” codeSystem="2. L6. 840, 1. 113883, 6. 163" codeSystemVersion="] D 8.r.7a"/>
<l— D.8.r. Ta: WedDRA Version for Reaction #2 —>
<)~ D.8. 1. Tb: Reaction (MedDRA code) #2 —>
</ohservation>
¢/cutboundRelationship2>
</substanceAdministration>
{/compenent?
{/organizer>
¢/sub ject0L2>
(subjectOf2 typeCode="SBT">
{observation classCode="0B5" macdCode="EVN">
¢code code="32" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2. 1. 1. 19" displayName="reportedCauseCfDeath”/>
¢value xsittype="CE” code="D.9.2.T. 1b" codeSystem="2. 16.840, 1. 113883, 6. 163" codeSystenVersion="D.9.2.r.1a">
"¢i—— D.9.2.r. la: MedDRA Version for Reported Cause(s) of Death #I —> A
¢!~ D.9.2.r.1b: Reported Cause(s) of Death (MedDRA code) #1 ~->
CoriginalText>D, 9. 2. r. 2</originalText>
¢!— D,9.2,r.2: Reported Cause(s) of Death (free text) #1 —>
{/value>
</observation
</subiectOf2y : ‘ : :
{subject0f2 typeCode="SBJ"> )



{observation classCode="0BS™ mcodCode="EVN™
<code code="32" codeSystem="2. 16.840. 1. 113883, 3,989, 2, 1, 1, 19" displayName="reportedCause0fDeath”/>
Cvalue xsiitype="CE" code="D.9,2.1.1b" codeSystem="2. 16.540. 1. 113883, 6. 163" codeSystenVersion="D.9.2,r. 1a™>
¢l— D.%. 2.1, la: MedlRA Version for Reported Cause(s) of Death #2 —>
¢l— D.9.2.r.1b: Reported Cause(s) of Death (MedDRA code) #2 —>
<eriginalText>D. 8. 2. r. 2{/originalText>
<l-- D.5.2.r.2: Reported Cause{s) of Death (free text) #2 —>
{/valued
. &/observation> -
{/subjectOf2>
{suhject0f2 typeCode="SBJ">
{observation classCode="0BS™ meodCode="EVN">
{eode code="5" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="autopsy”/>
<value xsi:type="BL™ value="true”/>
{!— D.9.3 Was Autopsy Done? —>
CouthoundRelationship? typeCode="DRIV™>
<ehservation classCode="0BS” moodCode="EVN™>
<code code="8" cedeSystem="2, 16, 840, 1, 113883. 3. 980.2.1. 1. 197 displayName="cause0fDeath™/>
<value xsi:type="CE” code="D.0.4.r.1b" codeSystem="2.16. 840. 1. 113883. 6. 1637 codeSystemVersion="D.9.4.r.1a">
{1— D.9.4.r. 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
<l— D.9.4.r. 1b Autopsy—determined Cause(s) of Death (MedDRA code) #1 —>
{originalText>D. 9. 4. r. 2{/originalText>
<l— D,9.4.r.2: Autopsy-determined Cause(s) of Death (free text} #1 —>
</value>
{/observation>
</outboundRelationship2>
CautboundRelationship2 typeCode="DRIV™>
<chservation classCode="0BS” moodCode="EVN">
Ceode code="8" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" displayName="cause0fDeath”/>
¢value xsi:type="CE” code="D.D. 4.r.Ib" codeSysten="2. 16,840, 1. 113883, 6, 163" codeSystenVersion="D.8.4.1. la™>
¢]-— D.9.4.r la: MedDRA Version for Autepsy-determined Cause(s) of Death #2 —>
¢l+— 0.9, 4. 1. 1b Autopsy-determined Cause{s) of Death {(MedDRA code) #2 —>
<originalText>D. 9. 4. r. 2</originalText>
¢1-- D.9.4.1.2! Autopsy-determined Cause(s) of Death (free text) #2 —¥
<{/value> ’
{/observation>
{/outboundRelationship2>
{/observation>
</subject0f2>
<subject0f? typeCode="SBI™>
{observation classCode="0BS" meadCode="EVN">
<id root="154eb889-958b—45f2-a02f-42d4d6F465T"/>
{code code="29" codeSystem="2_16.840. . 113883, 3.989. 2. 1. 1. 19" displayNamwe="reaction”/>
<pffectiveTime xsi:type="IVL_TS™>
<low value="200801017/>
{!— E.i.4: Date of Start of Reaction / Event #1 >
<high value="20090102"/>
¢{l—— E.i.5: Date of End of Reaction / Event #1 —>
<feffectiveTime>
<value xsi:type="CE" cade="E, i,2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="E.1i,2,.1a™>
¢{}— E i,2.la: MedDRA Version for Reaction / Bvent #1 —>
<!—- E.i.2.1b: Reacticn / Event {McdDRA code) #1 —>
{originalText language="E.i.l. 1b7>E i. 1. la{/originalText>
¢{!— E.i. 1, 1a: Reaction / Event as Reported by the Primary Source in Native Language #1 ——>
{!— E,i. L. 1b: Reaction / Event as Reported by the Primary Source Language #1 -—>
<fvalusd ’
<location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E.1.9" codeSystem="1,0.3166.1.2.27/>
<{I— E, i.9: Identification of the Country Where the Reaction / Event Cccurred #1 —>
{/locatedPlace>
</locatedBntity>
</lacation>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="30" codeSystew="2.16. 840, 1, 113883, 3, 989, 2.1, 1, 18" displayName="reactionForTranslation™/>
<value xsi!type="ED">E.1i.l.2¢/value>
{l-—— E.i.1. 2: Reaction / Event as Reported by the Primary Source for Translation #1 —>
{/observation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 18" displayName="ternHighlightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16. 840, 1. 113883. 3. 986.2, 1, 1. 107/>
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¢]— E.i.3.1: Term Highlighted by the Reporter #1 —>
¢/ocbservation>
{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT” ) .
{observaiion classCode="0BS” moodCode="EVN">
¢cade code="34" codeSystem="2. 16, 540, 1, 113883, 3. 989. 2. 1. 1. 19" displayName= resultsInDeath'/)
<¢value xsi‘type="BL” value="trus"/>
¢I— E.i.3.2a: Results in Death #1 —>
</observation>
</outboundRelationship2>
{outboundRelationshipZ typeCode=" PERT >
{ohservation classCode="0BS” moodCode="EVN™>
{eode code="21" codeSyster="2. 16. 840. 1. 113883, 3,989, 2, 1, 1, 19" displayName="isLifeThreatening”/>
{value xsi!type="BL™ nullFlavor="NI"/>
¢l-— E.i.3.2b: Life Threatunlng #1 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>
{code code="33" codeSystew="2. 16. 840. 1, 113883, 3. 989, 2, 1 1.19" displayName="" requlresInpatlentHospltallzatlon 1>
{value xsi:type="BL" value="true”/>
¢i— &£.1.3.2c! Cansed / Prolonged Hospitalisation #t —>
{/observation
</outhoundRelationship2> .
<outhoundRelationship? typeCode="PERT™> ' .
{observation classCode="0BS” moodCode="EVN™>
<code code="35" codeSystem="2. 16. 840, 1, 113883, 3,989, 2. 1,1, 19" displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
<l— B.i.3.2d: Disabling / Incapac1tat1ng #1—>
{/observation>
</outboundReiationship2>
<outhoundRelationship? typeCade="PERT™>
<observation classCode="0BS” moodCode="E¥YN">
{code code="12" codeSystem="2. 16. 840. 1. 113883, 3,989, 2.1, 1, 19" dlsplayName— congenitalAnonalyBirthDefect”/>
<value xsiityps="BL" nullFlavor="NI"/>
¢l— £.1.3. %" Congenital Angmaly / Birth Defect #1 —>
{/observation)
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<phservation classCode="0BS" moodCode="E¥N">
leode code="26" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1, 1. 19" displayName="otherMedicallyInportantCondition”/>
{value xsi:type="BL" value="true”/>
<}— B.1i.3.2f! Other Medically Important Condition #1 —>
</observation>
</outboundRalationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" mpodCode="E¥N™>
¢cade code="27" codeSystem="2. 16. 840. 1. 113883..3.989. 2. 1. 1. 19" displayName=" nut:ome /)
(value xsi:type="CE" code="E.1i.7" codeSystem="2.16, 840. 1. 113883.3.980. 2. L. L. 11"/>
¢I-- B.i.7: Outcome of Reaction / Event 2t the Time of Last Observation #1 —>
{/observation>
</ontboundRelationship2>
{outhoundRelationshin2 typeCode="PERT™>
<observaticn classCode="0B3” moodCode="EVN™>
¢eode code="24" codeSysten="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 19" displayName=" medxca1Conf1rmat10nByHeaithProfess1onal'/)
“¢value xsi:type="BEL" value="true”/>
{I-- E.£.8: Medical Confirmation by Healthcare Professional #1 —>
</obgervation>
{foutboundRelationship2>
¢puthoundRelationship? typeCode="PERT">
<chservation classCode="0BS" moodCode="EVN">
<eods code="11" codeSystew="2. 16.840. 1. 113883, 3. 989, 5, L. 3, 2, L. 10" displayName="3R50 « BERI"/> .
Cvalue xsi:type="CE" code="J2.14.1” codeSystem="2, 16, 840. 1. 1£3883. 3. 989.5. 1. 3. 2. L. 8"/>
<I-- 69012141 SRR - B HL - ‘
</observation>
</outboundRelationship2>
{/chservation>
</subjectof2>
¢subject0f? typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<id root="2baa?Bd6-cOe8~4e6c—-93c9-5h860b3142207/>
¢code code="29" codeSystem="2. 1E. 840. 1. 113883, 3. 588, 2, 1, 1. 19" displayName="reaction”/>
{effectiveTime xsi:type="IVL_IS">
<low value="20090101"/>
¢{|— £ i.4: Date of Start of Reaction / Bvent #2 —

.
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¢width value="24" unit="E. i.€b"/>

¢!— E.i.Ba: Duration of Reaction / Event (number) #2 —>

¢t— E_i.6b: Duration of Reaction / Event {unit) #2 —>
<feffectiveTime>

<value xsi:type="CE" code="E.i.2.1b" codeSystem="2, 16, 840, 1. 113883. 6. 163" codeSystemVersion="E.i.2.1a"™>

¢t~ E.i.2.1a: MedDRA Version for Reaction / Event #2 —>
¢!— E.i,2,1b: Reacticn / Event (MedDRA code) #2 —>
{originalText language="E.1i.1.1b">E.i. L. la¢/originalText>

¢I— BE.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #2 -—>
¢{!— E.i.l.1b: Reaction / Event as Reported by the Primatry Source Language #2 —>

</value>
<location typeCode="LOC">
<locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.1.9" codeSystem="1.0.3166.1.2.2°/>

<l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 —>

{/locatedPlace>
{/locatedEntity>
</lecation? .
<cutboundRelationship? typeCode="PERT™>
{chservation classCode="0BS” moodCode="EVN">
{code code="30" codeSystem="2.16. 840. 1, 113883. 3, 989.2.1. 1. 197
<yalue xsi:type="ED")E. 1i. 1. 2<{/value>

displayName="reactionForTranslation”/>

l— E.i.1,2: Reaction / Event as Reported by the Primary Source for Translation #2 —>

{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>

{observation classCode="0BS” moodCode="EVN™>

<code code="37" codeSysten="2. 16, 840. 1, 113883, 3, 989, 2, 1, 1, 197

displayName="ternHighlightedByReporter™/>

<value xsiitype="CE” code="E.3.3. 1" codeSystem="2, 16. 840. I. L13883. 3. 989. 2. 1. 1. 10"/>

¢l-- E.1i,3.1:Term Highlighted by the Reporter #2 —>
</observation?
</outboundRelationship2>
¢outhoundRelationship? typeCode="PERT">
'Sabservation classCade="0BS" moodCode="EVN™>
{code code="34" codeSystem="2. 16,840, 1.113883,3,989.2.1.1,19"
{value xsi:type="BL” value="true”/> -
¢l E i.3.2a% Results in Death #2 —>
{/ohservation>
{/outhoundRelationship2>
¢outboundRelationshin? typeCode="PERT™>
<observation classCode="0BS” moodCade="EVH™>
{code code="21" codeSystem="2. 16. 840, 1. 113883, 3,989, 2,1, 1,19"
<value xsi:type="BL" nuliFlaver="NI"/>
"¢l— E.i.3.2b: Life Threatening #2 —>
. {/observation>
</outboundfelationship2>
<outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" moodCode="E¥YN">
<code code="33" codeSystem="2. 16. 840. 1. 113883, 3. 089, 2.1.1, 18"
{value xsi:type="BL" value="trus"/>
¢l— E,i.3.2c: Caused / Prolonged Hospitalisation #2 —>
<{/abservation?
</outboundRelationship2>
{cutboundRelationship2? typeCode="PERT">
{ohservation classCode="0B5" moodCode="E¥N">
{code code="35" codeSystem="2, L6, 840, 1. 113883, 3.989,2. 1. . 197
¢value xsiltype="BL" rullFlavor="KI"/>
¢{!— . i.3.2d: Disabling / Incapacitating #2 —>
{/observatian>
</outboundRelationship2>
<autboundRelationship? typeCode="PERE™>
<observation classCode="0BS" moodCode="EVN™>
<cade code="12" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19"
¢value xsi:type="BL" nullFlavor="NI"/>
{l-— E.1i,3.2e: Congenital Anomaly / Birth Defect #Z ——>
</observation> ’
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation t¢lassCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 197
<value xsiitype="BL" value="true”/>
¢{— E.i.3.2f: Other Medically Important Condition #2 —>
</observatian>
{/cutboundRelationship2>
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displayName="resultsInleath™/>

displayName="isLifeThreatening”/>

displayName="requiresInpatientHespitalization”/>

disglayNameﬂ'resultsInPersistentOrSignificantDisability'/)

displayName="congenitalAnomalyRirthDefect”/>

displayName="otherMedicallyImportantCondition”/>



<outboundRelationship2 typeCode="PERT™> '
{observation classCode="0BS” moodCode="EVN">
(eode code="27" codeSystem="2. 16. §40. . 113683, 3. 989, 2, 1. 1. 19" displayName="outcome™/>
¢value xsi:type=*CE" code="E.i. 7" codeSystem="2. 16. 840. 1. 113883. 3. 982. 2. 1. L. 117/>
¢!— £.1.7: Qutcome of Reaction / Bvent at the Time of Last Cbservation #2 —>
{/ohsexrvation> '
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EYN">
{code code="24" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19" displayName=" me:!:.caEConflrmatlun.ByHealthmeess:unal />
Cvalue xsi:type="BL” value="true”/> .
¢I—- E.i.8: Medical Confirmation by Healthcare Professional #2 —>
 {/observation>
{/outboundRelationshipZ>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0B3" moodCode="EYN">
<code code="11" codeSystem="2. L6.840. . 113883, 3.980.5.1.3.2. 1. 10" displayName="7RH1 - BEER"/>
¢value xsi‘type="CE™ code="]2.14.i" codeSystem="2. 16.840. 1. 113883.3.988.5. 1. 3. 2. 1.8/
1— esaje. 141 i - PR H2 —>
{/chservation .
</outboundRelationship2>
{/observation?
</subject0f2>
<subjectOf2 typeCode="SB]™>
{observation classCode="CBS” mocdCode="EVN">
{id root="3aB626ch- -0 1 h-4eaB-8a0F-e0F£34430adf" />
{code code="29" codeS]rstem— 5. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 197 displayName="reaction™/>
CeffectiveTime xsi:type="IYL_ 5%
<width value="24" unit="E. i.6b"/>
<!~ B.i.Ba: Duration of Reaction / Event (number) #3 —>
¢l— E.i.6b: Duration of Reaction / Bvent {unit) #3 —>
<high value="201012017/> )
¢}— E.i.5! Date of End of Reaction / Event #3 —>
¢feffectiveTime> .
<value xsi:type="CE" code="E. i.2.1b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="E. 1.2, 1a™>
¢}— E.i.2.1a: MedDRA Version for Reaction / Event #3 —> -
¢]l—- E.1.2.1b: Reaction / Event (MedDRA code) #3 —> -
{originalText language="E.i.1.1b"3E. i, 1. 1a{/originalText>
¢{l— B.i,1.1a: Reacticn / Event as Reported by the Primery Source in Native Language #3 —
¢l~- E.i.1.1b: Reacticn / Event as Reported by.the Primery Seurce Langttage #3 —>
</value>
<location typeCode="LOC™>
{locatedEntity eclassCede="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="TNSTANCE™>
<code code="E,i,9” codeSystemw="1.0. 3166, 1.2.2°/>
¢{l—- E.i.9: Identification of thie Country Whers the Reaction / Event Occurred #3 ——>
{/lacatedPlace> '
</locatedEntity>
</location>
<outboundRelationship2 typeCode="PERT™>
(observation classCode="0BS” moodCode="EVN"> )
. <code code="30" codeSystem="2.16. 840.1,113883.3.988. 2. L. 1, 19” displayName="reactionForTranslation”/>
<value xsi:type="ED"E. i.1.2¢{/value>
(I— E.i.1.2! Reaction / Event as Reported by the Primary Source for Translation #3 —>
{/observation®
{/cutboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0RS” moodCode="EVN">
<code code="37" codeSystem="2. 15. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="ternllighlightedByReporter”/>
¢value xsi‘type="CE" code="E.i.3.1” codeSysten="2. 16. 840, 1.113883.2.989.2. 1. 1. 107/>
¢l=- E.i.3.1:Tern Highlighted by the Reporter #3 —>
</ohservation>
</outboundRelaticnship2>
{puthoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="34" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="resultsInDeath”/>
Cvalue xsi:type="BL” value="true”/>
¢l— B.1,3.2a: Results in Death #3 —>
{/observation>
</outboundRelationship2>
<outheundRelationship2 typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN™>
<code code="21" codeSystem="2.16. 840, 1. 113883. 3.989.2.1.1.19” d1splayName= 1sL1feThreaten1ng "/
<value xsiitype="BL” nullFlavor="NI"/> .
{l— E.i.3.2b: Life Threatening #3 —> -
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{/observation>
¢/outboundRelationship2>
<outboundielationship? typeCode="PERT™> .
<ohservation classCode="0BS” moodCode="EVN™>
{code code="33" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, 1.1.197 di splayName="requiresInpatienttospitalization”/>
<value xsiitype="BL™ value="true”/> :
¢|— E, i.3.2c: Caused / Prclonged Hospitalisation #3 —>
</observation>
</outboundRelationship2>
{outhoundRelationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN™>
<code code="35" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlaver="NI"/> B
¢I-— E.i.3.2d: Disabling / Incapacitating #3 —>
</observation? .
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>
¢oode code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1, 1. 19" displayName="congenitalancualyBirthDefect”/>
¢value xsi:type="BL" nullFlavor="NI"/>
{1~ E.i.3.2e: Congenital Anomaly / Birth Defect #3 —>
{/observation>
</outboundRelationship2>
(outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" meodCode="EVN™>
{code code="26" codeSysten="2. 16. 840. 1. 113883, 3,689.2, 1. 1. 197 displayName="otherNedicallyInportantCondition”/>
<value xsiitype="BL™ value="true”/>
¢l-- E.i.3.2f: Other Medically Important Condition #3 —>
¢/chservation>
<feutboundRelationship2>
¢outboundRelationship2 typeCode="PERT™>
{abservation classCode="0BS" moodCode="EVN™>
<code code="27" codeSystem="2.16. 840, L. 113883, 3,989, 2. 1. 1. 19" displayName="outcome”/>
<value xsi:type="CE" code="E.1i.7" codeSystem="2.16.840. 1. 113683.3.980.2.1.1.117/>
¢{|— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
</observation>”
</outboundRelationship2>
{outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="24" codeSystem="2. 16. 840. 1. 113883, 3,989,2.1, 1,197 displayName="medicalConfirmationByHealthProfessicnal "/>
(value xsi:type="BL" value="true”/>
¢!~ E.i.8: Medical Confirmation by Healthcare Professional #3 —>
{/chservation> :
</outboundRelationship2>
¢outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<eode code="11" codeSystem="2. 16. 840, 1. 113863, 3,989, 5,1, 3. 2. 1. 107 displayName="3k4 - BL&0"/>
¢yalue xsiitype="CE” code="J2.14.1" codeSystem="2. 16.840. 1. 113883. 3.989.5.1.3.2. 1.8"/>
<!-- Ba6J2. 14. § s#40 - BEsn #2 —
{/observation>
</outboundRelationship2>
{/ohservation>
</subject0f2>
{subject0f2 typeCode="SB]™>
{observation classCode="0BS™ moodCade="EYN">
<id root="2e99840F-08b4-499c-80Ff-ddB416f4£Ba5"/>
<code code="29" codeSystem="2, 6, §40. 1. 113883, 3,989. 2. 1. 1. 197 displayName="reaction”/>
CeffectiveTime xsi:type="SXPR_TS™
<comp xsi:type="IVL_TS™>
<low value="200%0101"/>
<l— E.1i.4: Date of Start of Reaction / Event H#4 —>
<high value="201012017/>
¢l— E.i.5: Date of End of Reaction / Event #4 >
{/comp>
<comp xsi:type="IVL_TS8" operator="A">
<width value="24" unit="E.i.6b"/>
¢l-- E. i.62: Duratien of Reaction / Event (number) #4 —>
¢l~- E.i.6b: Duration of Reaction / Event (unit) #4 —>
</comp? '
</effectiveTine> .
<value xsi:type="CE” code="E.i.2.1b" codeSysten="2, 16. 840. 1. 113883, 6. 163" codeSystem¥ersion="E.i.2.1a">
¢l—— E.i.2. la: MedDRA Version for Reaction / Event #4 —>
¢l E.i.2.1b: Reaction / Event (MedDRA code) #4 —>
<originalText language="E.i. 1l Ib™>E.i. 1l la¢/originalText> .
¢l— E.i.1.la: Reaction / Event as Reported by the Primary Source in Native Language #4 —>
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¢!~ E.i.1.1b: Reaction / Bvent as Reported hy the Primary Source Language #4 —>
</value>
{location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
{locatedPlace ¢lassCode="COUNTRY” determinerCode=" INSTANCE >
¢eode code="E.i.9" codeSystem="1.0.3166.1.2,27/>
¢|=— E.i.9: Identification of the Country Where the Reaction / Event Occurred #4 —> s
{/locatedPlace> ’
</locatédEntity>
<yloﬁqtion)
<outboundRelationship? typeCode="FERT™>
{ohservation classCode="0A5" moodCode="EVN™>
{code code="30" codeSystem="2. 16. 840. 1. 113883.3. 089, 2. 1. 1. 19" displayName="reactionForTranslation”/>
<value xsi!type="ED">E.i. 1. 2{/value}
<l-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 ——>
¢/chservation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observaticn classCode="0BS" mocdCode="EVN">
¢code code="37" codeSystem="2. 16. 840. 1. 113883, 3. 089, 2. 1. 1. 19" displayMame="ternHighlightedByReporter”/>
<value xsi:type="CE" code="E.1.3.1" codeSystem="2, 16. 840. 1. 113883. 3, 989, 2. 1. 1, 10°/>
<¢|l— E.i.3.1:Term Highlighted by the Reporter {4 —>
{/cbservation> ;
</outhoundRelaticnship2>
{outboundRelationship? typeCode="PERT~ >
{observation classCode="DBS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840, 1. 113883. 3. 089, 2. 1, 1, 18" displayName="resultsInDeath”/>
<value xsi:type="BL” value="true"/>
¢!— E.1.3.%a% Results in Death #4 —>
{/cbzervation>
</outboundRelationship2>
<outboundRelationship? typeCade="PERT™> ' .
{observation classCode="0BS” moodCode="EVN"> !
<code code="21" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2, 1. 1. 18" dlsplaYName— isLifeTheatening”/>
{value xsi:type="BL" nuliFlavor="NI"/>
¢)]— B.1i.3.2b: Life Th.'reatenmg f#4 —>
{/cbservation> ’ s .
. <fonthoundRelationship2> ’ _
" {euthoimdRelationship2 typeCode="PERT”"> .
{ohservation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2.16.840. 1. 113883. 3.989.2.1.1, 19" d1splayNﬂmE- “requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true"/>
¢!— B.i.3 2ct Caused / Prolonged Hospitalisation #4 —>
¢fobservation> )
</outboundRelationship2>
CouthoundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS" moocdCode="EVN™> .
¢code code="36" codeSystem="2, 16, 840, 1. 113883. 3, 989, 2. 1. 1. 18" dlsplayName— resultsInPer51stentOrSngfmantDlsahlllty i)
<value xsi:type="BL” nullFlaver="NI"/>
¢!— B.i.8.2d: Disabling / Incapacitating #4 ——>
{/observation>
</nuthotdeelat10nsh1p2>
<outboundRelationship2 typeCode="PERT" >
<cbservation c¢lassCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1.-113883. 3. 989.2. 1. 1. 19" displayName="congenitalAnowalyBirthDefect”/>
Cvalue xsi:type="BL" nullFlaver="NI"/>
¢I— E.i.3.2%: Congenital Anomaly / Birth Defect #4 ~—>
{/observation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation tlassCode="0BS" moodCode="EVN™>
<code code="26" codeSystem="2. 16. B40. 1. 113883. 3. 989.2. 1. 1. 19”7 displayNdme= otherMedicallylmportantCondltmn wa
<value xsi:type="BL" value="true”/>
¢}—— E.i.3.2f: Other Medically Important Condition #4 —>
</ohservation>’
{/outboundRelationship2>
(otitbatifidRelationship? typeCode="PERT™> .
{observation classCode="0BS” moodCode="EVN™>
Ccade code="27" codeSystem="2. 16, 840, [, 113883. 3. 989. 2. 1. 1. 19" displayName="outceme”/>
¢value xs5i:type="CE" code="E.i.7” codeSystem="2. 16. 840. 1. 113883, 3.989. 2, 1. 1. 117/>
¢l— B.i,7: Outcome of Reaction / Event at the Time of Last Observation #4 —>
{/cohservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{ahservation classCode="DBS” maodCede="EVN">
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<zode code="24" codeSystem="2.16, 840, 1, 113883, 3. 980. 2. 1. 1. 197 displayNamwe= medlcalCanlrmatlﬂnﬁyﬂealthPTDfBSSlonal T
Cvalue xsi:type="BL" value="true”/>
<|l— E.i.8! Medical Confirmation by Healthcare Frofessional #4 —>
{fobservation>
¢/outhoundRelationship2>
{outhoundRelationship2 typeCede="PERT">
{observation classCode="0BS” moodCode="EVN™>
(code cade="11" codeSystem="2. 16. 840, 1. 112883. 3. 989, 5. 1. 3, 2. 1. 107 displayName="3k4n - BLE1"/>
¢value xsiitype="CE" code="JZ.14. 1" codeSystem="2. 16. 840. 1. 113883.3.989.56.1.3.2.1.8"/>
<l 98072, 14. 1 A - BEA 4 —
</observation>
</outboundRelationship2>
{/ohzervationd
</subjectDf2>
(suhject0f2 typeCode="SR]">
{observation classCode="0BS" moodCode="EYN">
<id rooct="1071064c-cf10~4a3b-83c1-34f9ddbTeatd” />
<code code="29" codeSystem="2, 16. 840. 1. 113883. 3. 889. 2. 1. 1. 19” displayName=" reaction "
LeffectiveTime xsi:type="EVL_TIS™>
<low value="200901017/>
¢l— E.i.4: Date of Start of Reaction / Event #5 —>
{feffectiveTimer .
<value xsi:type="CE™ code="E. i.2. 1b" codeSystem="2, 16, 840. 1. 113883. 6. 163" codeSystemVersion="E. 1.2 Ia™>
<l-- B.i.2. 1a® MedDRA Versien for Reaction / Event #5 —>
¢l— E.i.2 1h: Reaction / Event {MedDRA code) #5 —>
{originalText language="E.i.1. 1b">E.i. 1. la¢/originalText>
<l-— E.i.I.ta: Reaction / Event as Reported by the Primary Source in Native Language #5 >
¢l— E_i,1.1b: Reaction / Event as Reported by the Primary Source Language #5 ——>
{fvalued
<location typeCode="L0C™>
<loéatedEntity classCode="LOCE™>
¢lacatedPlace classCode="COUNTRY" determinerCade="INSTANCE™>
<code code="E.1i.9" codeSystem="1.0.3166.1.2,.27/>
{|-- E.§.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
{/locatedPlace>
{/locatedEntity>
<{/location>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0B5" moodCode="EVYNT>
<code code="30" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2, 1. 1. 19" displayName="reactionForTranslation®/>
¢yalue xsi:type="ED")E i. 1. 2¢/value>
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Sovrce for Translation #5 ——>
{/observation>
</outhoundRelationshipZ>
<outboundRelationship? typeCode="PERT™>
{observation ¢lassCode="0B5" meodCode="EVN™>
<code code="37" codeSystew="2. 16. 840. 1, 113883, 3. 989, 2, 1, 1, 19" displayName="ternHighlightedByReporter™/>
<value xsi'type="CE" code="E.i.3.1” codeSystem="2. 16.840. 1, 113883.3.989. 2. L. 1. 10" />
<|— E. 1.3, 1:Term: Highlighted by the Reporter #5 —>
{/chservation>
</outhoundRelationship2>
CoutboundRelationship? typeCode="PERT™>
{observation c¢lassCode="0BS” moodCode="E¥YN™>
Ceode code="34" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
¢!— E.i.3.22: Results in Death #5 ——>
{/observation>
. ¢/outhoundRelationshipZ>
<outboundRelationship? typeCode="PERT™>
<observation classCode="OBS” moodCode="E¥N™>
<code code="21" codeSystem="2. 16. 840. 1. 113883, 3. 689, 2, 1, 1. 19" displayName="isLifeThreatening”/>
{value xsi:type="BL" nullFlaver="RI"/>
<l-- B.1.3.2b: Life Threatening #5 —>
{/cbservation>
{/outboundRelationship2}
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
¢code code="33" codeSystem="2, 16. 840. 1. 113883 3.989.2.1. 1. 197 displayName= requ1resInpat1entHosp1tallzatlun />
<yalue xsi:type="BL" value="true"/>
<l— E.i,3.2c: Caused / Prolonged Hospitalisation #5 —>
¢{/observatioh>
</outboundRelationship2>
<putboundRelationship? typsCode="PERT >
{observation classCode="0BS" moodCode="EVN">
¢code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1, 1. 19" displayName=’rasultsInPersistentOrSignificantDisabi1iiy'/>
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<yalue xsi:type="BL" nullFlavor="NI"/>
¢I— B, 1.3.2d: Disabling / Incapacitating #5 —>
{fobservation?
</outboundRelationship2>’ .
<outboundRelationship? typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN"> '
<code code="12" codeSysten="2, 16, 840, 1. 112883.3. 989. 2. 1. 1. 19” displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL" nullFlaver="NI"/>
<}— B. .3, 2e: Congenital Anomaly / Birth Defect #i5 —>
{/observation>
£/authoundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation slassCode="0BS" moodCode="EVN">
Léode code="26" codeSysten="2. [6. 840, 1. 113883. 3. 989. 2. 1. 1. 197 displayName= “otherMedicallyTImpertantCondition”, /)
<value xsi:type="BL" value="true”/>
¢|-— E_i.3. 2f: Other Medically Important Condition #5 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT >
{abservation c¢lassCode="0BS” moodCode="EVN™>
<eode code="27" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. L. 1. 197 displayName="outcome”/>
<value xsi:type="CE" code="E.i.7" codeSystem="2.16.840.1.113883.3.980.2. 1. L 117>
¢!— E.1i.7: Outcome of Reaction / Event at the Time of Last Observation #5 -—>
</observation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
¢observation classCode="0BS” moodCode="BYN™>
<eode code="24" codeSystem="2. 16, 840, 1, 113883, 3. 989.2. 1. 1. 19”7 displayName= mcdlcalCnnflrmﬂtlonByHealthPrnfesslona1 />
<value xsi:type="BL" value="true”/>
{l— E.i.8! Medical Confirmation by Healthcare Professicnal #5 —>
{/ohservation>
¢/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{observation c£lassCode="085" moodCode="EVN">
{eode code="11" codeSystem="2. 16. 840, 1. 113883. 3. 589. 5. 1. 3.2. 1. 107 displayNawe="7R10 - BE&"/>
<value xsi:type="CE" code="J2.14.1” codeSystem="2. I6.840. I. 113883.3.986. 5, 1.3.2. 1.8 "/
I— 8@8J2. 14.i ko - BEFn #56 —> :
{/obsérvation) )
¢{/outhoundRelationship2>
{/abservatian .
{/subjectOf2> .
¢subject0f2 typeCode="SB]™> ' :
{ohservation classCode="0BS” moodCode="EVN">
<id root="1£927283-10b6-4334-9d43-eD25640Lh1BET/>
¢aode code="29" codeSystem="2. I6. 840, 1. 113883. 3,989, 2, 1. 1. 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TIS">
<high value="20080101"/>
{|— E.i.4: Date of Start of Reaction / Event ﬁS -—>
¢/effectiveTime> N
¢value xsi:type="CB" code="E. i. 2. Ib" codeSysten="2. 16. 840. 1. 113883. 6. 163" codeSystemVersmn— E.i.2.1a™>
{l— B 1.2 la: MedDRA Version for Reaction / Event #6 - .
<l— E.i,2 1b: Reaction / Event (MedDRA code) #56 —>
<originalText ].anguage— E.i.I.1b"E. i. 1. 1a</originalText>
¢|— B.i.1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #6 —>
¢l— E.i,1.1b: Reaction / Event as Reported by the Primary Source Language #6 ——>
<fvaluep
¢location typeCode="LOC™>
¢logatedBntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY" determinerCode="TNSTANCE”>
Ceode code="E. i.9” codeSystew="1.0. 3166, 1.2.27/>
{l— EB.i.9: Identification of the Country Where the Reaction / Event Occurred #6 ——>
</locatedPlace>
{/locatedEntity>
" ¢/location>
{outboundRelationshipZ typeCode="PERT™>
<observation classCode="0RS" moodCode="EVN">
{eode code="30" codeSystem="2. 16. 840. 1. 113883, 3. 589, 2, 1, 1. 19" _displayName="reactionForTranslation”/>
<value xsi:type="ED">E. L, 1, 2{/value> .
¢]-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 -—>
{/observation>
<{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERI™>
{ohservation classCode="0BS" moodCode="EVN™>
<code code="37" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1, 19" displayName= temH1gh11ghtedByRepnrter />
¢value xsiitype="CE™ code="E.1i.3.1” codeSystem="2.16. 540. 1. [13883. 3,989, 2, 1. 1.10"/>
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¢1— E.i,3. 1:Term Highlighted by the Reporter K& —>
¢/ohservation>»
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™> . .
{obzervation ¢lassCode="0RS" moodCode="EVN™>
{code code="34" codeSysten="2. 16, 840, 1. 113883, 3, 989, 2, 1. 1. 19" displayName="" results[nDeath’/)
<value xsi:type="BL" value="true”/>
<l-— E.i.3.2a! Results in Death #6 —>
</chservation>
{/outboundRelationship2>
{outhoundRe}ationship? typeCode="PERT™>
(ohservation ¢lassCode="0BS™ moodCode="EYN™>
" Ccode code="21" codeSystem="2. 16. B40. [. [13883. 3. 989, 2. 1. 1. 197 displayName="isLifeThreatening™/>
{value xsi:type="BL" nullFlavor="NI"/>
¢]-- E.i.3.2b! Life Threatening #6 —>
{/chservation>
<{/outbaundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation ¢lassCode="0BS" moodCode="EVN">
<code code="33" codeSystem="2. L6. 840, 1. 113883, 3, 989, 2. L, L, 19" displayName= requ:reslnpat1entHusp1ta11zat10n p
{value xsi'type="BL™ value="true”/>
¢l— E.i.3.2¢: Caused / Prolonged Hospitalisation 6 —>
{fobservation>
</outhoundRelationship2>
<outhoundRelationship2 typeCoda="PERT™>
{observation classCode=" DBS” moodCode="EVN">
<cade code="35" codeSystem="2. EB. 840. 1. 113883, 3, 588, 2,1.1,19” displayName="resultsInPersistentOrSignificantDisahility”/>
{value xsi:type="BL" nullFlavor="NI"/>
<!— E.i.3.28: Disabling / Incapacitating #6 —>
{/chservation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<gode code="12" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2, 1, 1, 19" displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL™ nullFlavor="NI"/> ’
<l-- E.i. 3 2e: Congenital Anomaly / Birth Defect #6 —>
{/ohservation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{vbservation classCode="0RS™ moedCade="E¥N">
<code code="26" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1, 19" displayName="ctherMedicallyInportantCondition”/>
{value xsi:type="BL” value="true"/>
<!— E.i. 3. 2f: Other Medlcally Important Condition #6 —>
{/observation>
</outhoundRelationship2>
<outboundRelationshipZ typeCode="PERT™>
{observation classCode="085" mosdCode="EV¥N™>
{code code="27" codeSystem="2. 16. 840. 1. 113883. 3,989, 2, 1. 1. 197 displayName="outcome"/>
(value xsi:type="CE™ code="E. 1. 7% codoSysten="2. 16.840. 1. 113883. 3. 889. 2. 1. L. 11"/
<l— E.i.7: Qutcome of Reaction / Event at the Time of Last Observation §6 —>
{/ohservation>
</outboundRelationship2>
<outboundRelatienship? typeCode="PERT™)
{observation classCode="0BS” moodCade="E¥N™>
{code code="24" codeSystem="2, 16. 840. 1. 113883, 3,989,2,1. 1,197 d1sp1ayName— "medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
<!— E. 1,8 Medical Confirmation by Healthcare Professional #6 ——>
{/ohservation>
</outboundRelationship2>
<outboundRe}ationship? typeCode="PERT™>
{observation ¢lassCode="0BS" moadCode="EYN™>
<eode code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989, 5. 1. 3.2. 1. 107 displayNawe="5RA - BE"/>
<value xsi:type="CE" code="]2, 14.i" codeSystem="2, 16.840. 1. 113883.3.589.5,1,3.2.1.8"/>
<|— eeaJz. 14. 1 R - Bap 46 —>
{/chservation>
{/outhoundRelationship2>
£/observation>
</subject0f2>
<subject0f2 typeCode="SB]">
{cbservation classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-bbb-cel4bec279d8e” />
<code code="29" codeSystem="2.16.840. [, 113883, 3,989, 2, 1. 1. 19" displayName="reaction”/>
{effectiveTime xsi:type="IVL_I57>
¢width value="24" unit="E, i, 6b"/>
¢l— E.i.6a: Duraticn of Reaction / Event (number) #7 —>
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¢|—- E.i.6b: Duration of Reaction / Event (unit) #7 —>
{feffectiveTime>

¢value xsiitype="CE” code="E.i. 2. 1b" codeSystem="2. 16, 840.1.113383. 6: 1637 codeSyster¥ersion="E. 1,2 ia™>

<l— E.i.Z Iai MedDRA Versibn for Reaction / Event #7 ——>
¢l— E.i.2.1b% Reaction / Event (MedDRA code} #7 -—>
{originalText language="E.i.l.1b"™>E, i. 1. la¢/originalText>

¢!— £.i.1, la: Reaction / Event as Reported by the Primary Source in Native Language HT —>
¢t— E.i. 1. 1h: Reaction / Event as Reportéd by the Primary Source Language #7 —>

<{fvalue>
{lacatian typeCade="LOC">
{locatedBntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="B.i.9" codeSystem="1.0.3166.1.2.27/>

¢{l— E.i.9: Identification of the Country Where the Reaction / Event Decurred #7 —>

{/lecatedPlace>
{/locatedEntity>
</location>
<outboundRelatienship? typeCode="PERT">
<ohservation classCode="0BS” moadCade="EVN™>

<code code="30" codeSystew="2. 16. 840, 1. 113883. 3. 989.2. 1.1, 19"

<value xsi:type="ED"DE, i. L 2</value>

displayName="reactionForTranslation”/>

¢l— B.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 —>

</ohservationy
{/outboundRelationship2>
<outbeundRelationship? typeCode="PERT™>
Sohservation classCode="0B5" moudCode— EVNT>
{code code="37" codeSystew="2. 16, 840. 1. 113883. 3. 989, 2. 1. L 19”7

displayName="ternHighlightedByReporter”/>

<value xsiitype="CE” code="E.i.3.1" codeSystem="2. 16. 840, ‘1. 112883. 3,989. 2. 1. 1. 10°/>

¢l— E.i. 3. 1:Term Highlighted by the Reporter #7 —>
{/observation>
</outboundRelatienship2>
{outhoundRelationship2 typeCode="PERT™>
{ohssxvation classCode="0BS™ moodCode="EVN™>
<code code="34" codeSystew="2. 16, 840. 1. 113883. 3. 989. 2. L. 1. 197
<value xsi:type="BL" value="true”/>
<l— E.i.3.2a: Results in Death #7 —>
¢/chservation?
</outboundRelationship2>
<onthoundRelationship? typeCode="PERT">
{ohservation classCode="0BS" moodCode="EVN™>

{code code="21" codeSysten="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1, 167

<value xsi:itype="BL" nullFlavor="NI"/>
¢l— £.i.3.2b: Life Threatening #7 —>
{/observation>
{/outboundRelaticnship2>
<outbeundRelationship? typeCode="PERT >
<ohservation classCode="0BS* moodCode="EVN™>

{code code="33" codeSystew="2. 16, 840, 1. 113883. 3. 959. 2. 1. 1. 18"

{value xsi:type="BL" value="true"/>
¢l— E. 1.3, 2c: Caused / Prolonged Hospitalisation #7 —>
{/observation>
</outboundRelaticonship2>
{outbeundRelationship? typeCade="PERT™>
<observation classCode="0BS" moodCode="EVN™>

<code coade="35" codeSystem="2. 16, 840, 1. 113883. 3. 986. 2.1, 1. 19"

<value xsi:type="BL” nullFlavor="N1"/>
{l— E.1i,3.2d: Disabling / Incapacitating #7 —>
{/observalion>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>

¢code code="12" codeSyster="2, 16, 840. 1. 113883. 3. 988. 2. 1. 1. 18"

<value xsiltype="BL” nullFlavor="NI"/>
¢!— B.i.3. % Congenital Anomaly / Birth Defect #7 —>
¢/observation>
¢/outboundRelationship2>
<otthoundRelaticnship? typeCode="PERT">
{observation classCode="GBS” moodCode="EVN">

<ende code="26" codeSystem="2.16.§40. 1. 113883, 3.989.2. . 1. 15"

{value xsi:type="BL" value="true"/>
<l-- B i.3.2f: Other Medically Impurtant Condition #7 —>
{/chservation>
</outboundRelationshipZ>
<cutboundRelationship2 typeCode="PERT">
{ohservaticn classCode="0BS™ moodCode="EVN™>
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{code code="27" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 197 displayName="cutcome”/>
¢value xsi:type="CE" code="E,i,7” codeSystew="2.16.840.1. 113883.3.989.2.1. L. 117/>
¢l E.i.7: Outcome of Reaction / Bvent at the Time of Last Observation #7 ~—>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<ehservation c¢lassCode="0BS™ maodCode="EVN™>
<code code="24" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 187 displayName="medicalConfirmationByHealthPrefessicnal”s?
¢value xsi:type="BL” value="true”/>
¢}— B.i.8: Medical Confirmation by Healthcare Professional #7 —>
{/abservation>
<fouthoundRelationship2>
Soutboundftelationship2 typeCode="PERT™>
<observetion classCode="0BS" moodCode="EYN">
¢code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 107 displayName="3KH1 - BL&0"/>
{value xsiitype="CE™ code="J2.14.i" codeSystem="2. 16.840.1.113883.3.989.5.1.3.2.1.8"/>
<l— @882, 14.1 &0 - BEfn #7 —>
</ebservation>
</outhoundRelationship2>
{/observation>
</subject0f2>
<subjectBf? typeCode="5B]">
Cobservation classCode="0BS" moodCode="FEVN™>
<id root="al5be092-8070-426d-af04-686326344320"/>
{code code="29" codeSystem="2.16. 840, 1. 113883, 3.989. 2. 1. 1, 18" displayName="reactien”/>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_T5">
{low walue="200901017/>
¢l— E.i.4: Date of Start of Reaction / Event #8 —>
<width value="24" unit="E. 1. 60"/>
¢l— E.i.5a: Duratien of Reaction / Event {number) #8 —>
<l— E.i,6b: Duration of Reaction / Event (unit) #8 —>
¢/comp>
(comp xsi:type="IVL_TS” operator="A">
<high value="20101201"/>
¢|— E.i.5: Date of End of Reaction / Event #8 —>
{/conp>
</effectiveTime> '
Cvalue xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16,840, 1. 113883, 6. 163" codeSystenVersion="E.i.2. la™>
¢t—— E.i.2.1a: MedDRA Version for Resction / Bvent #8 —>
¢}— E.i.2.1b: Reacticn / Event (MedDRA code) #8 —->
¢originalText language="E.i.1.Ib">E. i. 1. lad/originalText>
¢#— B, i, 1.1la: Reacticn / Bvent as Reported by the Primary Source in Native Language H8 —>
¢ten E.i.1.1h: Reaction / Event as Reported by the Primary Source Language #8 —>
</value>
{location typeCode="LEC™>
¢JocatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/> .
¢}— E,i.9: Identification of the Country Where the Reaction / Event Occurred #8 ——>
<flocatedPlace?
{/lacatedBntity>
{/location?
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN"> :
{code code="30" codeSystem="2. 16. 840, I. 113882, 3.989. 2. 1. 1. 19" displayName="reactionForTranslation™/>
<value xsi:type="ED"JE.I. 1. 2¢/value>
¢l-— E.i.1.2! Reaction / Event as Reported by the Primary Source for Translation #8 —>
{/ohservation> '
</outboundRelationship2>
¢outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCade="EVN™>
{code code="37" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayNape="ternHighlightedByReporter”/>
¢value xsi:type="CE” code="E.i.3.1" codeSystem="2. 16,840, 1, 113883, 3,989.2. 1, 1. 107/>
¢l-- E.i.3. 1:Term Highlighted by the Reporter #& —>
- ¢{/observation?
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2.1, 1. 19" displayName="resultsInDeath”/>
{value xsiitype="BL® value="true"/> :
¢l— E.i.3.2a: Results in Death #8 ——>
</cbservation?
</ontboundRelationship2>
<outboundRelationship2 typeCode="PERT">
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{ehservation classCode="088" moodCode="EVN">
Scade code="21" codeSystem="2, 16, 840, 1. 113883. 3. 985. 2. 1. 1. 197 displayName=" 1sLerThreaten1ng />
<value xsi: :type="BL” nullFiavor="NI"/>
¢l— E 1.3.2b ;. Life Threatening #8 —>
{fohaservation) '
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0DBS" moodCade="EV¥N™>
<code code="33" codeSystem="2. 16.840. 1. 113883.3.589. 2. 1. 1. 19 displayName= requ1resInpat1entHosp1ta]natlon />
<value xsi:type="BL” wvalue="true"/>
<|— E.i.3.2c: Caused / Prolonged Hospitalisaticn #8 —>
{/observation> ’
</yuthoundRelationship2>
CoutboundRelationship? typeCode="PERT™>
<observation classCode="0E5" moodCodo="EYN™>
{code code="35" codeSystem="2. 16. 840, 1, 113883, 3, 989. 2. 1. 1. 19" displayName="resultsInPérsistentOrSignificantDisahility”/>
" ¢value xsi:type="BL" nullFlaver="NI"/>
(l— E.i.3.24: stablmg / Incapacitating #8 —>
</observation>
¢/outhoundRelationship2>
{outhoundRelationship? typeCode="PERT"> .
{observation classCode="0RS" moodCode="EYN">
<code code="12" codeSystem="2. 16.840. 1. 113883, 3,989.2.1.1.197 di splayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL™ nullFlaver="N1"/> -
¢l— E.{.3.2e: Copgenital Anomaly / Birth Defect #8 ——>
{fobservation? '
¢/outboundRelationship2>
(outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="26" codeSystem="2. 16.840. 1. 113883. 3.989.2.1. 1. 197 displayName="ctherMedicallyTnportantCondition”/>
<value xsi:type="BL" value="true”/> :
¢l— B. 1.3 2f: Other Medmally Inportant Condition 8 —)
{/observation? !
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observaticn classCode="DBS” moddCode="EYN™>
¢eode code="27" codeSystem="2. 16. 840, 1. 113883, 2, 980. 2. 1. 1. 19" displayName="outcoms"/>
{value xsi:type="CE* code="E.i. 7" codeSystem="2.16.840. 1 113883,3.989,2, 1. L 117>
¢<l— B.i.7: Outcome of Reaction / Event at the Time of Last Qbservation H#8 —>
{/observation® )
</outboundRelationship2> ) . .
{outboundRelationship? typeCode="PERT™>
{ebservatich classCode="DBS” moodCode="EVN™>
<code code="24" codeSystew="2. 16. 840, 1. 113883, 3. 989. 2.1, 1, 19" displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true”/>
<|-- B.i.8: Medical Confirmation by Healthoars Prafessional #8 —>
{/vbservation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">"
{observation tlassCode="0BS" mocdCode="EVN">
<code code="11" codeSysten="2. 16. B40. 1. 113883, 3, 989. 5. 1. 3. 2. 1. 10" displayName="3%0 - BESN"/>
(value xsiitype="CE” code="J2.14.1" cadeSystem="2.16.840. 1. 113843, 3,989.5,1.3.2.1.8"/>
<|-- @@aJ2. 14.i R - BEhn #8 —> \
¢fobservation¥
{/outboundRelationship2>
{/chservation>
</subject0fz>
<subject0f? typeCode="5BJ">
{organizer classCode="CATEGORY” moodCode="EVN™>
<code code="3" codeSystem="2. 16. 540, 1, 113883. 3.989; 2. 1. 1. 20" displayName="testsAndProceduresRelevantToTheInvestigation™/>
<compenent typeCode="CONP™> ’ o
{observation elassCode="DBS™ moodCade="EVN">
Ccode code="F.r.2.2b" codeSysten="2.16,840. 1, 113883, 6. 163" codeSystemVersion="F.r.2.2a">
<l— F.r.2. 2a! MedDRA Version for Test Name #1 -——>
¢{l— F.r.2 2b: Test Name (MedDRA code) #1 —> }
<originalText>F. r. 2. 1<{/original Text>
{1-— F.r.2. 1% Test Name (free text) #1 ~—>
¢/code?
CeffectiveTine value="20090101"/>
<l— F.r.1: Test Date #1 —
<value xsi:type="IVL_PQ™>
<eenter value="10" unit="mg/d1"/>
<!— F.r.3.2: Test Result (value / qualifier) {#1 —>
{!— F.r.3.3: Test Result (umt) #l —> -
</value>
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¢interpretationCode code="F.r.3.1” codeSysten="2, 16.840. 1. 113883.3.989. 2. L. 1. 12°/>
{l~- F.r.3.1: Test Result (code) #1 —>
{referenceRange typeCode="REFV™> s
{observationRange classCode="0BS" moodCode="EVN. CRT™>
<value xsi:type="PQ” value="40" unit="mg/d1"/>
¢l F.r.4: Normal Low Value #1 —>
ZinterpretationCode code="L" codeSystem="2. 16.840. 1. 113883, 5. 83"/>
{/observationRange)
</referenceRange>
{referenceRange typeCode="REFV">
<abservationRange classCode="0BS” mocdCode="EVN. CRT™>
<valug xsi:type="PQ” value="110" unit="mg/d1"/>
€le— F.r.5: Normal High Value #1—>
{interpretationCode code="H" cedeSystem="2. 16.840. 1. 113883.5.83"/>
{/observationRange>
{/referenceRange>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
(code code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1, 1. 197 displayName="comment”/>
<value xsi:type="BD">F.r, 6¢/value>
{!— P.r.6: Commvents (free text} #1 ——>
{/observatian>
</outboundRelationshin2>
CouthoundRelationship? typeCode="REFR™>
{observation classCode="0BS" moodCode="E¥N"> )
{code code="25" codeSysten="2. 16. 84C. 1. 113883, 3,989, 2. 1. 1. 19" displayName="moreInformationAvailable”/>
<value xsiitype="BL" vaiue="true™/>
{!—F.r. 7: More Information Available #l —>
{/observation>
</outboundRelationship2>
{/observation>

{/component?

{cenponent typeCode="COMP">
<{observation classCode="0BS" moodCode="EVN™>
{code code="F.r. 2. 2h" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
¢!— F.r.2.2a; MedDRA Version fer Test Name 2 —>
{l—— F.r.2.2b: Test Name (MedDRA code) #2 —->
CoriginalText>E. r. 2. 1{/ariginalText>
{l— E.r.2.1: Test Name (free text} #2 —>
{/code>
LeffectiveTine value="20090101%/>
(!-— F.r.1: Test Date #2 —>
{value xsi:type="IVL_FQ">
{low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inclusive="false”/>
{/value>
{!— F.r.3.2: Test Resutt (value / qualifier) #2 —>
{1 F.r.3.3: Test Result (unit) #2 —>
<l— LT 10 mg/dl #2 —
{/obdervation>

< feomponent>

{compenent. typeCode="COMP">
Cabservation ¢lassCode="0BS" moedCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16,840, 1. 113883, B, 163" codeSystenVersion="F.r. 2. 2a">
{l~— F.r.2.2a: MedDRA Versien for Test Name #3 —>
{!— F.r.2.2b: Test Neme (MedDRA code) #3 -
<originalText>F, r, 2, 1<{/originalText>
(l— B, r.2.1: Test Name (free text) #3 —>
{/cade>
<effectiveTime value="200901017/>
{!— F.1.1: Test Date #3 —>
<value xsi:type="IVL_PQ™>
<low hullFlavor="NINF"/>
¢high value="10" unit="mg/dl” inclusive="trus"/>
{/value)
¢l— F.r. 3.2: Test Result (value / qualifier) #3 —>
== F.r.3.3: Test Result (unit) #3 —>
{{— LE 10 mg/dl #3—>
</observation>

</component>

{component typeCode="COMP™>
{observation classCode="0B5" moodCode="EVN">
¢code code="F.r. 2. 2b" codeSystem="2. 16. 840. 1. 113883. 6. 163”7 codeSystenVersjon="F.r.2.2a">
¢{!— F.1.2 2a: MedDRA Version for Test Name #4 —>
{l— F.r.2. 2b: Test Name (MedDRA code) H4 —>

- 91 -



<originalTextOF. r. 2, [{/originalText>
t— F.r.2.1: Test Name (free text) #4 —>
{/code>
CeffectiveTime value="20080101°/>
(1= F.r.1: Test Date #4 >
¢value xsi:type="IVL_PQ">
low value="10" unit="mg/d1l” inclusive="false”/>
<high nullFlaver="PINF"/>
</value>
<l~- F.r.3.2: Test Result (value / qualifier) #4 ——
{l— F.r.3.3: Test Result {unit) B4 -—>
<I— §T 10 mg/dl #4 —>
¢/ohservation> ’
¢{/component?
<component typeCode="COMP™>
Lobservation classCode="0BS" mocdCode="EVYN™>
<code code="F.r.2.2b* codeSysten="2. 16, 840. 1. 113883. 6. 163" codeSystenVersion="F.r.2 22"
¢i— F.r.2.2a: MedDRA Version for Test MName #5 —>
¢1— P.r.2.2b: Test Name (MedDRA code) #5 —>
<originalText>F. r. 2. 1{/originalText>
<l-— B.r.2.1: Test Mame (free text) #5 —->
{/eode?
<effectiveTime value="20000101"/>
<]-— F.r.1: Test Date #5 —> -
{value x3i:type="IVL_PQ">
<low value="10" unit="mg/d1” inclusive="true”/>
<high nullFlavor="PINF"/>
</value>
{l— F.r.3.2: Test Result (value / qualifier} #5 —>
¢]—- F,r,3.3: Test Result (unit) #5 —>
<|-- GE 10 mg/dl #5 —>
{/observation> '
</conponent>
{component typeCode="COMP™>’
<observation classCode="0BS” moodCode="EYN™>
{code code="F.T.2. 2b" codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystenVersion="F.r. 2. 2a">
<l—— F.r.2.2a: MedDRA Version for Test Name #6-—>
¢|— F.x.2 2b! Test Name (MedDRA code) #6 -—>
CoriginalText)F. r. 2, I{/originalText>
{l— F.r.2.1: Test Name (free text) #6 —>
¢feode> )
CeffectiveTime value="20030101"/>
{I—= F.r.1: Test Date {6 —>
Cvalue xsi:type="ED7>F. r. 3. 4</value>
(|-~ F.r.3.4: Result Unstructured Data (free text) #6 —>
{/observation>
</conponent>
{/organizer>’
</subject0f2>
<suhject0f2 typeCode="SB]™>
¢organizer classCode="CATEGORY™ moodCodo="EVN™>
¢code code="4" codeSystem="2. 16, B40. 1. 113883. 3. 989. 2. 1. 1, 20" displayName="drugInformation”/>
¢l— 6.k Drug(s) Information (repeat as necessary) 1 —>
<component typeCode="COMP™>
{substanceAdninistration classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5—e039-4aTa-9c30-67671b06fGed" />
<consimable typeCode="CSH">
{instanceOfKind classCode="INST"™>
<kindOfPraduct classCods="MMAT" determinerCode="KIND">
¢code code="G. k. 2.1, 1b” codeSystem="TBD-MPID” codeSystemVersion="G.k.2. 1. 1a"/>
{!— G.k.2.1.1a: MPID Version Date / Nuwber 1 —>
¢l-- G. k. 2.1.1b: Medicinal Product Identifier Q&ID) #1 —
<name>G. k. 2: 2{/name>
¢l— 6.k 2.2; Medicinal Praduct Name as Reported by the Primary Source #1 —>
{asManufacturedProduct classCode="MANU™>
{subjectOf typeCode="SBJ"> ‘
{approval '¢lassCode="CNTRCT” moodCode="EVN">
<id extension="G.k.3.1” root="2.16. 840, 1, 113883, 3.985.2, 1.3.4"/>
¢l— G.k.3.1: Authorisation / Application Number #1 —>
<author typeCade="AUT">
<territorialAuthority classCode="TERR™>
{territory classCode="NAT” determinerCode="INSTANCE™>
{code code="G.k.3.2” codeSystem="1.0.3166. 1.2.27/>
<l~~ G.k. 3.2: Country of Authorisation / Application #1 —>
</territory>
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{/territorialiuthority>
</author>
<pertinentInformation typeCode="FERT™>
{policy elassCode="POLICY" moodCode="EV¥N™>
(code code="J2.5. %" codeSystem="2. 16.840. 1.113883. 3. 989,65, 1.3.2. 1.4°/>
< @eeJ2.5.k: —BEREEOY AIENE #1 —
</policy>
{/pertinentInformation>
{/approval>
</sub ject0f>
<subjectOf typeCode="SBJ™>
{characteristic classCode="0BS" wmoodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883.3.989.5. 1.3, 2. 1107 displayName="$FER A FORAES />
¢value xsiitype="CE” code="J2,4,k” codeSystem="2.16.840.1.1138583.3.689.5.1.3.2.1.3"/>
<l— geaJ. 4. ki HERSETORLKS #1 > '
{/characteristic>
</suh jectOF>
</asManufacturedProduct>
<asSpecializedKind classCode="GEN™>
{generalizedMaterialKind classCode="MAT™ determinerCede="KIND™>
<code> '
{originalText>J2, 12</ariginalText>
<I— garz. 12: RBSAEE —
</code>
</generalizedMaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACT1">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<{}— 6. k.2, 3,r.3a: Strength (number) #1-1 —>
{}— G. k. 2.3.1.3b: Strength (unit) #1-1 —>
<dencninator value="17/>
</quantity>
¢ingredientSubstance classCode="MMAT” determinerCode="KIND">
Ccode code="G. k. 2. 3. 1. 2h” codeSystem="TBD~Substance” codeSystemVersion="G.k 2.3.r.2a"/>
¢4~ G.k.2.3.x.2a: Substance / Specified Substance TermID Version Date / Number #1-1 —>
¢1— 6. k. 2.3.r.2b: Substance / Specified Substance TermID #1-1 >
<name>G. k. 2. 3. r. 1{/hame>
}— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
</ingredientSvbstance>
<{/ingredient>
{ingredient classCode="ACTI">
{quantity>
<pumerator value="10" unit="G.k.2.3.r.3b"/>
<1— G.k.2.3.r.3a: Strength (nuwber) #1-2 —>
<) G k.2.3.1.3b: Strength (unit) #1-2 —>
<denominator value="1"/>
{/quantity>
<ingredientSubstance classCode="MMAT® determinerCode="KIND">
<code code="G. k. 2. 3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k. 2.3,r,2a"/>
{l—— G, k.2.3.r.2a: Substance / Specified Substance TermlD Version Date / Number #1-2 —>
1— G.k.2.3.r.2b: Substance / Specified Substance TernlID #1-2 ——>
<name>G. k. 2. 3. r. 1</name>
{1— G.k.2.3.1,1: Substance / Specified Substance Mame #1-2 —
</ingredientSubstance>
{/ingredient>
</kindGfProduct>
<sub jectOf typeCode="SB]™>
{productEvent classCode="ACT™ moodCode="EVN">
<code code="1" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 18" displayName="retailSupply”/>
{performer typeCode="PRE">
{assignedEntity classCode="ASSIGNED">
(representedOrganization classCode="0RG" determinerCode="INSTANCE™>
{addr> :
{country>G, k. 2, 4{/country>
¢l— 6, k.2.4: Identification of the Country Where the Drug Was Obtzunecl #1 —
{/addr>
{/representedlrganization>
</assignedEntity>
</performer>
</productEvent>
{/subject0f>
<subjectOf typeCode="SB]™>
<abservationBvent classCode="0BS" moodCode="EYN™>
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="—AZFIEFEMOAFER"/,
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Reaction #l —>

Reaction #1 -—>

Reaction $#2 -2

Reaction #2 _—>

Reaction #3 —>

Reaction #3 -

Reaction #4 —>

‘Reaction #4 —>

<value xsi:type="CE” code="]2.6.k” codeSystem="2.16.840. 1. 113883.3.980.5.1.3.2. 1, 57/>

Q— agaye. 6. k: —RRRAEEAROATER 81 —
{/observationBvent>
</subject0d>

</inatance0fKind>
</consumable>
<outboundRelationshipl typeCode="SAST>

<pauseQuantity value="10" unit="G.k.9.i.3. 1b"/>

<l— G.k.8.i.3.1a: Time Interval between Beginning of Drug

<l-- G. k. 9. 3,3, 1b: Time Interval between Beginning of Drug

<agtReference classCode="0BS" moodCode="EVN™>
¢id root="154chB8Y-958h—-46f2-a02f~42d4d6F4657F" />
<{/actReference>
<foutboundRelationshipl .
<outhoundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b7/>
¢l— 6.k 9.1, 3. 2a; Time Interval between Last Dose of Drug

¢I-- G.k.9.1,3.2b! Time Interval between Last Dose of Drug
CactReference classCode="0BS” moodCode="EVN™>
<id reot="154eb8BI-95Bb—-4512-a021-42d4d6£46567f"/>
{/actReference)
</outhoundRelationshipl>
<putboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢I-- 6.k.9.i.3. la: Time Interval between Beginning of Drug

{I— 6,%.9.4.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN"> .
¢id root="2baa28d6-c9eB-1c6c-G3ed-5bBE0b3142207 />
{factReference>
¢/autboundRelatiohshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
¢I~- G.k.9.1.3.2a: Time Interval between Last Dose of Drug

¢l— G.k.9,i.3.2b: Time Interval between Last Dose of Drug
(aptReference classCode="0BS”™ moodCode="EVN™>
¢id root="2bhaa28di-cHe8-4cGc-93c0-EbB60bI142207 />
{/actReference>
</outboundRelationshipl? -
<puthoundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l— 6.k 5. 1.3. 1a: Time Interval between Beginning of Drug

<l-- G.k.9.i.3.1bt Time Interval between Beginning of Drug

<actReference classCode="0BS" meodCode="EVN™>
<id ront="3aB626cb-9f1b—4eal-8a0f-e0ff34430adL”/>
¢/actReference>
{/outboundRelationshipl>
<puthoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G, k.9.i.3.2b"/>
¢l— G. k. 9.i.3.2a: Time Interval between Last Dose of Drug

<1-— G.k.9.1.3.2b: Time Interval between Last Dese of Drug
<actReference classCode="0BS" moodCode="EVN™>
<id root="3a8626ch-9f1b-4ea8-Balbf-eDff34430ads”/>
¢/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SA5">
{pausefuantity value="10" unit="G.k.9.i. 3.1b"/>
{l— 6.%9.1.3. la: Time Interval between Beginning of Drug

<l— 6.k 9. ‘i, 3. 1b! Time Interval between Beginning of Drug

<actReference classCode="0BS" moodCode="EVN™>
<id root="2e99840f-D8h4-499¢c~-80Ff—dd8415E4f8a5" />
{/actReference>
{/outboundRelationshipl>
¢outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="¢ k. 9.i.3.2b"/>

S a4 -

Administration and Start of Reaction / Event (number) Drug #i,

Aduinistration and Start of Reaction / Event {unit) Drug H#I,

and Start of Reaction / Event (number) Drug #1, Reaction 1 —

and Start of Reaction / Event (unit) Drug #1, Reaction fil —>

Administration and Start of Reacticn / Event (number) Drug #1,

Adminisiration and Start of Reaction / Bvent (unit) Drug #1,

and Start of Reaction / Bvent (number) Drug #1, Reaction #2 —

and Start of Reaction / Event (unit) Drug #1, Reaction §2 —>

Administration and Start of Reaction / Event (number) Drug #1,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #3 —

and Start of Reaction / Bvent (unit) Drug #1, Reaction #3 ——>

Administration and Start of Reaction / Event (number} Drug #1,

Administration and Start of Reaction / Event {(unit) Drug #1,



Reaction #5 —>

Reaction #b —>

Reaction #6 —>

Reaction #i6 —>

Reaction #7 ——

Reaction #7 —>

Reaction #8 ——>

Reaction #8 —>

{}— 6.k.8.1.3.2a: Time Interval hetween Last Dose of Drug a

¢t~ 6.k.B8,i.3. 2b: Time Interval between Last Dose of Drug
¢actReference classCode="0BS” moodCode="E¥YN">
{id root="2e99840f-08h4-499c-B0ff-dd8415f4f8ab5"/>
</actReference>
</outboundRelationshipl> .
{outboundRelationshipl typeCade="SAS™>
{pauseQuantity value="10" unit="G. k. 9. 1. 3. 1"/
¢4—— G.k.9.1. 3. 1a! Time Interval between Beginning of Drug

¢}— G.k.9.i. 3. 1b: Time Interval between Beginning of Drug

<actReference classCode="0B3" moodCode="EVN">
<id reot="1071064c-cf10-4a3b-B3ci-34£9ddbTeabd” />
{/actReference> .
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
» ¢pauseQuantity value="10" unit="G.k.9.1i.3.2b"/> )
¢!~ G.k.9.i.3.2a: Time Interval between Last Dose of Drug

¢I— G.k.9.i.3.2b; Time Interval between Last Dose of Drug
<actReference classCode="0B5” moodCode="EVN™>
<id reot="1071064c-cf10-4a3b-83c1-34f9ddbTeabd” /> .
{factReference>
</outhoundRelationshipl>
<outhoundRelationshipl typeCode="SA8">
{pavseQuantity value="10" unit="G.k.9.i.3.1b"/>
<'— 6,k.9.1i. 3. 1a: Time Interval between Beginning of Drug

¢!— G.k.9.1. 3, 1b: Time Interval between Beginning of Drug

{actReferencé classCode="08S" moodCode="EVN">
<id reot="1f927283-10b6-4334-9d43-e9256405b18E"/>
{/actReference>
</authoundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{patseQuantity value="10" unit="G.k. 9.1 3.2b"/>
¢l— 6. k.9, 4.3 2a; Time Interval between Last Dose of Drug

¢!-— G.k.9.1.3.2b* Time Interval between Last Dose of Drug
CactReference classCode="0BS" moodCode="EVN">
{id root="1f927283-10b6-4334-9d43-e925640f018f" />
{/actReference> .
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
(pauseQuantity value="10" unit="G, k. 9.1 3. 16"/>
¢I— G. k. 8.1 3. 1a: Time Interval hetwsen Baginning of Drug

{I— G.k.9, 1,3.1b! Time Interval hetween Beginning of Drug

¢actReference classCode="0BS” meodCode="EVN™>
{id roeot="e0342669~38be-423f-h6hb-celdhc279d8e"/>
{/actReference>
</outboundRelationshipl) . .
{cutboundRelationshipl typeCade="SAE™>
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l-- 6.k 9.1.3.2a: Time Interval between Last Dose of Drug

¢l— G.k.9.1.3.2b: Time Interval between Last Duse of Drug
{actReference classCode="0BS™ moodCode="EVN™>
<id rept="e0342969-38be—423f-h6hb-celdbc279d8e”/>
{/actReference> -
{/outboundRelationshipl>
ZoutboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.167/>
<l— 6. k.9.1.3. 1la: Time Interval between Beginning of Drug

<1— G,k 9.i.3.1b: Time Interval between Beginning of Drug

<actReference classCode="0BS” moodCode="EVN™>
<id root="alGbhe092-8070-426d-af04-6863263443eD”/>
{factReference>
</outboundRelatiosnshipl>
<autboundRelationshipl typeCode="SAE">
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nd Start of Reaction / Event (mumber) Drug #1, Reaction H4 —

and Start of Reaction / Event (unit) Drug #1, Reaction #4 —>

Administration and Start of Reaction / BEvent (rumber) Drug #1,

Administration and Start of Reaction / Bvent (unit) Drug &1,

and Start of Reaction / Event (number) Drug #1, Reaction #5 —

and Start of Reaction / Event (unit) Drug K1, Reaction #5 —>

Administration and Start of Reaction / Event (number) Drug i1,

Administration and Start of Reaction / Event (unit} Drug #1,

and Start of Reaction / Event (number) Drug #1, Reaction #6 —

and Start of Reaction / Event (unit) Drug #1, Reaction #6 —>

Administration and Start of Reaction / Event {mmber) Drug #1,

Adpinistration and Start of Reaction / Event {unit) Drug #1,

and Start of Reaction / Bvent (number) Drug #1, Reaction #7 —

and Start of Reaction / Event “(unit) " Drug #1, Reaction #7 —>

Administration and Start of Reaction / Event (number) Drug #L,

Administration and Start of Reaction / Bvent (unit) Drug #1,



¢pauseQuantity value="10" unit="G.%. 9.1.3.2b"/>
<l— 6.k .9.i.3.2a: Time Interval between Last Dose of Drug and Start of Resction / Event (number} Drug #1, Reaction #§ —

>
! <4 G. k. 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Rea:tlon / Event (unit) Drug #, Reaction #H8 —>
<actReference classCode="0BS" moodCode="EVN">
<id root= al5b3092—8070-426d-af04-685326344390 /)
</actReference>
{/outboundReiationshipl>
<outboundRelalionship2 typeCode="PERT™>
<ohservation classCode="0BS” moodCode="EVN™>
¢code code="6" codeSystem="2, 16. 840, 1, 113883. 3. 989. 2. 1. 1. 197 displayName="blinded"/> )
{value xsi!type="BL™ value="true"/>
¢l-- G.k.2.5: Investigational Product Blinded #1 —>
{/observation?
<fouthoundRelationshipn2>
{outboundRelationship? typeCode="COMP™>
¢<l-— G.k.4.r: Dosage and Relevant Infermation (repeat as necessary} #1-1 —
<substanceAdministration classCode="SBADM™ moodCode="EVN™> '
<text>G. k. 4. r. 8/ text>
{}=- G.k. 4.r. 8 Dosage Text #1-1 ——>
CeffectiveTime xsi:type="SXPR_TS">
{comp xsi:itype= "PIVL_TS">
<period value="10" unit="G. k. 4.1.37/>
(I~ G.% 4.7, 2: Number of Units in the Interval #l-1 -~
¢l— G.%k 4.r.3: Definition of the Time Interval Unit #1-1 —>
{/comp>
<gomp xsi:type="IVL_TS” operator="a">
Clow value="20000101%/>
¢I— G.k.4.r. 4 Date and Time of Start of Drug ﬂl—l —>
<high value="200901017/>
¢!~ G.k 4.r 5: Date and Time of Last Adwinistration #I-1 —->
</eomp? ’
<comp xsi:type="1YL_TS” operater="A">
<width value="4" unit="G.k.4.r.6b"/> :
{]— 6.k 4.r.6a: Duration of Drug Administration (number) #1-1 —>
¢!— €.k 4.1.6b: Duration of Drug Administration (unit).#1-1 —>
</comp> ’ R
{feffectiveTimad )
<routeCode code="G. k. 4. r.10.2b" codeSystem="2, 15 240.1.113883. 3. 989, 2. 1_ 1. 14* codeSystenVersion="0. k. 4.r. 10. 2a™>
(1= G.k.4.r.10. 2a° Route of Administration TermIl} Version Date / Number #1-1 —>
<1— 6.k 4.1.10.2b: Route of Administration TermID #l-1 —> '
<originalText>G, k. 4. r. 10. 1{/originalText> '
¢l— G.k.4.1.10.1: Route of Administration (free text) #1-1 —>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1»"/>
¢l— G,k 4.1.1a Dose (number) #1-1 —>
{l-— G.k.4.r.1b: Dese (unit} #1-1 —>
<consumable typeCode="CSM™>
<instance0fKind classCode="INST">
productInstancelnstance classCade="MMAT™ determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</lotNunbexText>
¢<l— G. k. 4.1, 7: Batch / Lot Nunber #1-1 —>
¢/preductInstancelnstance>
Ckind0fProduct classCode="MMAT™ determinerCode="KIND">
¢foruCode code="G. k. 4. r.5. 2b" codeSystem="TBD-DoseForm” codeSystemYersion="G.k.4.r.9.2a">
{l— G.k. 4. r.9.2a: Pharmaceutical Dose Form TermlD Version Date / Number #1-1 —>
<l— G.k. 4.r.9.2b: Pharmaceutical Dose Form TermID #I-1 —>
CoriginalText>G. k. 4. r. 8. 1<{/originalText> '
<l-- 6.k 4,1.9.1: Pharmaceutical Dose Form (free text) #1-1 —>
{/formCode>
¢/kindOEProduct>
</instance0fKind>
</consvmable>
{inkoundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
{cade code="28" codeSystem="2. 16. 840. 1. 113883. 3,989, 2. 1. L. [9" displayName="parentRoute0fAdministration”/>
(vatue xsiitype="CE’ code="G.k 4.r.11.2b" codeSystem="2. I6.840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. I.
iL.2a™> :

¢}— G.k.4.r. 11. 2a: Parént Route of Administration TernID Version Date / Number #1-1 -->
¢(I— G. k. 4. x 11. 2b: Parent Route of Administration TerwID #1-1 —>
<originalText?G. k. 4, v, 11 1</original Text>
{l— G. k. 4,7, F1. 1t Parent Route of Adwinistration (free text) #i-1 —>
</valuey
{/observation>
</inboundRelationship>
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{/substanceAdministration>
</outhoundRelationshipZ2>
{outboundRelationship2 typeCode="COMP™>
¢l—— G. k- 4.1 Dosage and Relevant Infermation (repeat as necessary) #1-2 —>
{substanceAdninistration elassCode="SBADM™ moodCcde="EVN">
<textdG. k. 4. T, 8BS/ textd> ~
<]~ G.k.4.r.8: Dosage Text #1-2 —>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.r.3"/>
¢{!— G.k. 4.r.2: Nomber of Units in the Interval #1-2 —>
¢I— G. k. 4.1.37 Definition of the Time Interval Unit #1-2 —>
{/eompd
<comp xsi:type="IVL_TS" cperator="A">
<low value= 20090l01'/)
¢l— Gk 4,1.4: Date and Time of Start of Drug f1-2 —>
<high value="200901017/>.
¢l— G.k.4.r.5! Date and Time of Last Admmstratlun #1-2 —>
</comp?
</effectiveTime>
<routeCode code="G. k. 4.r. 10, 2b" codeSystem="2. 16. 840. 1. 113883, 3. 989 2.1.1. 14" codeSystemVersion="G. k. 4. . 10. 22>
¢l— G k.4.1.10, 2a: Route of Administration TermID Version Date / Number #1-2 —>
<I— G, k.4.1, 10, 2b: Route of Administration TernID £1-2 —>
CoriginalText>G. k. 4. r. I 1{/originalToxt>
¢l— G. k.4.1.10.1: Route of Administration (free text) #1-2 —>
</routeCode>
(doseQuantity value="10" unit="G. k. 4.r.16"/>
<!-- G.k 4.r. la Dose (number) #1-2 —>
(!— G. k. 4.r.1b: Dose {unit) #1-2 —>
{consumable typeCode="CSH™>
(instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
¢lotNumberText>6. k. 4. r. 7</lotNunberText)
¢l-= G.k.4.r.7: Bateh / Lot Kuwber $1-2 —>
¢/productInstancelnstance)
<kindOfProduct elassCode="MMAT™ determinerCode="KIND™>
{FfornCode code="G.%.4.r.9. 2b" codeSysten="TBD-DoseForm” codeSystenVersion="G.k.4.r.9. 2a™>
<I— G.%k. 4.1.9 2a! Pharmaceutical Dose Form TermID Versicn Date / Number #1-2 —>
¢l— 6.k 4.1r.9. 2b: Pharmaceutical Dose Form TermID #1-2 —>
{originalText?G. k. 4. r. 9. 1{/originalText>
<l— G.k.4.r.9.1! Pharmaceutical Dose Form (free text} #1-2 ——> .
</formCod=>
{/kind0fProduct?
{/instanceGfKind>
</consumable>
CinboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="BVN™>
{code code="28" codeSystem="2. 16.840. 1. 113883, 3,989, 2.1.1.19" displayName="parentRoute0fAdninistration”/>
¢value Xsi:type="CE* code="G.k.4.r.11.2b" codeSysten="2. 16.840. 1. 113883. 3. 989, 2. L. 1. 147 codeSystenVersion="G. k. 4. 1.
11.2a">
¢l G.% 4.r.11.2a: Parent Route of Administration TermlD Version Date / Number #1-2 —>
¢l-- G.% 4.r.11.2b: Parent Route of Administration TermlID #1-2 —>
<originalText>G. k. 4. r. 11, 1{/originalText>
¢{l— G,k 4.1.11.1: Parent Route of Administration (free text} #¥I-2 —>
{/valued
{fchservation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationshipZ>
<outboundRelaticnship2 typeCode="COMP™>
<l— G.k. 4. r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
{substanceAdministration classCode="SEADM" moodCode="EVN™>
<text>G. k. 4. r. B/ text>
{l— G.K 4.r. 8: Dosage Text H#I-3 -
{affectiveTime xsi:type~"SKPR_TS™>
{comp xsi:type="PIVL_TS">
¢peried value="10" unit="G.k.4.r.3"/>
¢I— G.k.4.1r. 2. Number of Units in the Interval #1-3 —>
¢{I— G.k.4.r.3: Definition of the Time Interval Unit ¥1-3 —>
</comp>
{comp xsi:type="IVL_TS” operator— TAT>
aw value="200901017/>
¢I— G k. 4.r. 4: Date and Time of Start of Drug #1-3 —>
<width value="4" unit="G.k.4.r.6b"/>
{l— G.k.4.r, Ba: Duration of Drug Administration (numher) #1-3 -—>
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¢l-- G.k.4.1.6b: Duration of Drug Administration {unit) #1-3 —>
</comp> . .

¢feffectiveTine? . o . . )

CrouteCode code="6G, k. 4.1.10.2b” codeSystem="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 147 codeSystenVersion="C.k 4.T.10,2a">
¢l— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-3 —> :
{l— G.k.4.r.10.2b: Route of Administration TermID #1-3 —>
CoriginalText>G. k. 4. r. 19. 1<{/originalText>
¢l G.k 4.1 10, 1: Route of Adwinistration (free text) #1-3 —>

¢routeCode>

{doseQuantity value="10" unit="G.k.4.r.1v"/>

<]— G.k 4.1, la Dose (pumber} #1-3 —> '

{l— G.%. 4.r.1b: Dose (unit) #1-3 —>

{eonsumahle typeCode="CSH™>
Cinstance0fKind classCode="INST™>

{productinstanceinstance classCode="MMAT™ determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l G.k.4.r.7: Batch / Lot Number #I-3 —>
{/productInstancelnstance>
<kind0fPreduct classCode="MMAT" determinerCode="KIND™>

¢fornCode code="G. k. 4., 9. 2b" codeSysten="TBD-DoseForn” cedeSystenVersion="G.k.4.r.9, 2a">"
<|— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
{!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-3 —>

CoriginalText>G. k. 4. 1. 9. 1{/originalText>
¢<]— G.k. 4.r.9.1: Pharraccutical Dose Form (free text} #1-3 —>
{/formCode>
</kind0fPreduct>
</instance0fKind> -
{/consumahle>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS™ moodCode="EVN™>
¢code code="28" codeSysten="2. 16, 840. 1. 113883. 3. 68¢. 2. L. 1, 19" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE" code="G.%k 4. r.11.2b" codeSystewm="2. 16, 840, 1. 113883.3.980.2. 1. 1. 117 codeSystenVersion="G.k.4.r.
11.2a™> .
- ¢! G.k.4.r.11.2a: Parent Route of Administratien TermID Version Date / Number #1-3 -—>
<}— G. k. 4.1 Il.2h: Parent Route of Administration TermID #1-3 —> '
<originalText?G- k. 4. 1. 11. 1</originalText> ' '
<!— G.k.4.r.11.1: Parent Route of Administration {free text) #1-3 —>
</value>
<{/ohservation>
{/inboundfelationship>
</substanceAdministration>
</outboundRelationship2> ’
<outhoundRelationship? -typeCode="COMP™>
¢!— G.k 4.r: Dosage and Relevant Information (repeat as necessary) #1-4 —>
{substanceAdministration classCode="SBADM" moodCode="EYN"™>
{text>G. k. 4. r. B</text> ' '
<I— Gk 4.1. 8 Dosage Text #l-4 -5
(effectiveTime xsi:type="SXPR_T5™>
<comp xsi:type="PIVL_TS™>
<pericd value="10" upit="G.k.4.r. 37/>
¢l— G.k.4.r.2: Number of Units in the Interval §l-4 —>
¢<l— G.k 4.1 3: Definition of the Time Interval Unit #1-4 —>
</conp> '
{comp xsistype="IVL_TS” operater="a">
{width value="4" unit="G.k.4.r.6b"/> )
¢1— G.k.4.1. 6a: Duration aof Drug Administration (humber) H#l-4 —>
(I~ G.k.4.1.6b: Duration of Drug Administration (unit) #1-4 —>
<high value=7200001017/>
{1-- G. k. 4.r. 5: Date and Time of Last Administration #1-4 —>
</comp>
. &feffectiveTimed .
¢routeCode code="G.k 4.r.10.2b" codeSystem="2, 16.840. 1. 113883. 3. 989, 2. 1. 1. 14" codeSystemVersion="6.k. 4.1. 10.2a">
¢l-- G.k.4.r.10.2a: Route of Administration TermID Version Date / Mumber #1-4 —>
¢I— G.k.4.r.10.2b: Route of Administration TermID #I—4 —>
{originalText>G. k. 4. r. 10. 1</originalText>
¢I— G.k.4.r.10.1: Route of Administration (free text) §l-4 -
/routeCode> - Co -
<doseQuantity value="10" unit="G, k& 4.r.1b"/>
¢{— G.k.4.t.1a Dose {mmber) #1-4 ——>
{!— G.k. 4, r.1b: Dose (unit) #1-4 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST" -
<praductInstancelnstance classCode="MMAT™ determinerCode="INSTANCE™>
{lotNumberText>G. k, 4, r. 7</lotNumberText>
¢1— G.k. 4,1, 7: Batch / Lot Number H1-4 —>
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¢/productInstancelnstance>
<kindOfProduct ¢lassCode="MMAT" determinerCode="KIND">
¢formCode code="G.k, 4.1.9. 2b” codeSystem="TBD-DoseFarm” cedeSystenVersion="0.k 4.1.9, 2a”>
<l— 6.k, 4,r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1~4 —>
¢l-- G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #i-4 —>
<originalText>G. k. 4. 1. 9. 1<{/originalText>
¢l-— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-4 —>
</fornCode>
{/kind0fProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN™>
Ccode code="28" codeSystem="2. 16.840. L. 113883. 3. 989, 2. |. 1. 18" displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16. 840. 1. 113883.3.989,2, 1. 1, 14" codeSystemVersion="G. k. 4. 1.
11.2a™> .
¢l— G. k. 4.1, 1L 2at Parent Route of Administration TermID Version Date / Number #1-4 —>
¢l— G, k. 4.r, 11, 2b: Parent Route of Administration TermID #1-4 —>
{originalText>G. k. 4. r. 11. 1{/original Text>
¢<l=- G.k.4.r. 1L 1! Parent Route of Administration (free text) #1-4 ——>
{/value> '
</chservation>
</inboundRelationship>
</stthstanceAdministrationd
<foutboundRelationship2>
{outhoundRelationship2 typeCade="COMP™>
<I— G.% 4. r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
{substanceAdninistration classCode="SBADM” moodCode="EVN™>
{text>G. k. 4. r. B{/ text? y
<l G.k 4.r.8: Dosage Text #1-5 —>
CeffectiveTime xsi:type="SKPR_TS™>
{eomp xsiitype="IVL_TS™>
<low value="200801017/>
¢{— Gk 4, r.4: Date and Time of Siart of Drug #1-5 ——>
<high value="200901017/>
<I— G.k.4.r.5: Date and Time of Last Administration #1-5 —>
</comp>
<eomp xsiitype="IVL_T5" operator="A">
{width value="4" unit="G.k. 4.r. 6b"/>
‘ {!—— G.k.4.r.6a: Duration af Drug Administration (number) H1-6 —>
<$— G.k.4.xr.6b: Duration of Drug Administration (unit) #1-5 -->
</comp>
<feffectiveTime>
<routeCode code="G. k. 4.r.10. 2b* codeSystem="2. 16. 840, 1, 113883, 3, 985. 2, 1. 1. 14" codeSystemVersion="G. k. 4.r. 10.2a">
¢I— G.k 4 r.10.2a: Route of Administration TermID Version Date / Number #1-5 —>
¢|— G. k. 4.r.10. 2b: Route of Administration TernlD #1-3 —>
. CoriginalText>G. k. 4. r. 16. 1</originalText>
¢!— G k.4.r.10.1: Route of Administration (free text) #1-6 —>
{/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b7/>
¢l-- G.k.4.r.1a Dose (pumber) #1-5 —>
¢)— G.k. 4.r.1b: Dese (unit) #1-5 —>
<consumable typeCode="CSM">»
{instanceOfKind classCode="INST™> :
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumberText)G. k. 4. r. 7¢/lotNumberText>
¢1— G,k 4.1r.7: Batch / Lot Number #1-5 —>
<fproductInstancelnstance>
<kinddfProduct classCode="WMAT" determinerCode="KIND'™>
{fornCode code="G.k. 4, 1,9, 2b" codeSystem="TBD-DoseForm™ codeSystemVersion="6.k.4.1.9.22™>
{l= G.k.4.r.9. 22 Pharmaceutical Dose Form TermID Version Date / Number #1-5 —>
<l— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-6 -->
CoriginalText>G. k. 4.1. 9. 1</originalText>
¢l— G.k.4.1.9, 1: Pharmaceutical Dose Forn (free text) #1-5 —>
{/TormCode>
£/kindOfProduct>
. </instanceOfKind>
{/cansumable>
¢inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2, 16. 840. 1. 13883, 3. 989, 2, 1. 1. 19" displayName="parentRouteOfAdninistration”/>
¢value Xsi:type="CE" code="G.k.4,r. 11, 2b" codeSystew="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.1.
11,2a™> ’
¢!— G, k.4,7, 11.2a: Parent Route of Administration TernmID Version Date / Number #1-5 —>
¢l—- G.k.4.7.11.2b! Parent Route of Administration TernlID #1-5 —>
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{originalText)G. k. 4.r. 11. 1</originalText>
<I-- G.Xk.4.r. 11, 1: Parent Route of Administration (free text} B1-56 —>
. {fvalue> .
{/obzservation>
{/inboundRelationshipd ™~
¢/suobstanceAdministration>
</outhoundRelationship2>
<outboundRe}ationship2 typeCode="COMP">
¢}— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-6 ——>
¢suhstancefdministration classCode="SBADN" moodCode="EVN™>
{textdG. k. 4. r. B/ toxt>
<!— G.k. 4.r.8: Dosage Text #1-6 —>
<effectiveTime xsi:type="SKFR_TS">
<comp xsi:type="PIVL_TS">
<period value="t0" unit="G.k.4.1.37/>
{1~ G.k.4.1.2: Number of Units in the Interval #1-8 —>
d— G k.4.r.3: Defmltmn of the Time Interval Unit #1-6 -—>
</comp>
<camp xsiitype="IVL _TS” operator="A">
¢low value="200801017/>
{1~ G.k. 4.r.4: Date and Time of Start of Drug #1-6 —>
<width value="4" wnit="G.k.4.r.6b"/> '
¢l— G.k. 4.1, 6a: Duration of Drug Administration (number) #1-6 —>
{1— G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 —>
"¢feompy
{comp xsiitype="IVL_TS” operator="A">
<high value="200001017/>
¢l-— G. k. 4.1. 5! Date and Time of Last Administration $1-6 —>
¢/comp>
feffectiveTime>
(routeCode code="G. k. 4.r. 10, 2b* codeSystem="2, 16. 840. 1. 113883, 3, 989. 2. 1. £, 14" codeSystemVersion="G. k. 4. r. 10. 2a">
¢l— G.k.4.1r.10. 2a: Route of Administration TermID Version Date / Number #1-6 —> .
¢<l— .k 4.1.10.2b: Route of Administration TernID ¥1-6 —> '
<originalText>G. k. 4. r. 10, 1{/originalText> .
. ¢1— G.k.4.7.10.1: Route of Administration (free text) #1-6 —>
" </routeCode> )
<{dosefuantity value="10" mit="G. k. 4.r.1b"/>
¢l— G.k.4.1.%a Doss (numher} #1-1 —>
{le G.k 4. r.1b: Dose (unit} #1-1 —>
{consumable typeCode="CSH™>
{instance0fKind classCode="INST">
¢productInstancelnstance classCode="] mm detemmerCode— INSTANCE™>
<lotNurberText>G. k. 4. r, 7</TotHumberText>
. <= Gk 4r7: Batch / Lot Numher #I-1 —>
</productInstancelnstance>
<kindOfProduct elassCode="MMAT" determinerCode="KIND">
<fornCode code="G.k 4.1, 9, Zb" codeSystem="TBD-DoseForm™ codeSystemVersion="G. k. 4.r.8.2a">
¢]— G.k.4.r.9.2a: Pharmacevtical Dose Form TermID Version Pate / Number #I-6 —>
¢l—— G.k.4.r.9.2b: Pharmaceutical Dose Form TernID #1-6 —>
<eriginalText?G. k. 4.1. 9. 1</originalText>
<1=— G,k 4,1.9.1: Pharmaceutical Dose Forn (free text} H1-6 —>
{/formCode>
{/kind0fProduct>
{/instance0fKind>
- {/consurabled
{inboundRelationship typeCode="REFE">
<ohservation e¢lassCode="(BS” moodCode="EYN™>
{code code="28" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1, 18" displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE" code="G._k. 4111 2h" codaSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 14" cadeSystemVersion="G. k. 4.r1.

11.2a"> .
<l— . k. 4,1, 11, 2a: Parent Route of Administration TermID Version Date / Number #1-6 —>
¢l— G.k.4.r.11.2b: Parent Route of Adnministration TernID #1-6 -
<originalText>G. k. 4. r. 1L. 1{/originalText>
¢l-— G.k.4.r. 11. 1! Parent Route of Administration (free text) #l-6 —>
{/value?>
<{/observation>
¢/inbouridRelationship : - ..
{/substanceAdministration '
</outbotndRelat ionship2>
{outboundRelationship2 typeCode="COMP™>
¢l— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1-7 —
¢substanceAdministration classCode="SBADM" moodCode="EVN™>
{text>G. k. 4. r. B{/text> |
<l—- 6.k.4.r.8: Dosage Text #1-7 —>
(effectiveTime xsi:type="SXPR_TS™>
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{comp xsi:type="IVL_T5"
<low value="200901017/>
{I—— G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k. 4.r.6b"/>
¢I— G.k.4.r.6a: Duration of Drug Administration (number) #1-7 —
¢I— G.k.4.r.6b: Duration of Prug Administration (unit) #1-7 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="200901G1"/>
¢l— G.k.4.r.5: Date and Time of Last Administration #1-7 —>
<feomp)
{feffectiveTime>
<routeCade code="G. k. 4.r. 10, 2h” codeSystem="2, 16. 840. [. 113883, 3.989.2. 1. 1. 14 codeSystenVersion="¢. k. 4. r. 10. 2a™>
¢}— G.k.4.r.10.2a: Route of Administration TermiD Version Date / Number #1-7 —>
¢!— G.k.4.1.10. 2b: Route of Administration TermID #1-7 —>
{originalText>G. k. 4. r. 10, [{/original Text>
{le- G, k.4.1.10,1: Route of Administration {free text) #I-7 —>
/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!— G. k. 4.r. 1a Dose (number) #1-7 —>
{!— G, k. 4,7, 1b: Dose {unit) #1-7 —>
Cconsumakle typeCode="CSM™>
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
(LotNunberText>G. k. 4. r. 7</lotNumberText>
I— G. k. 4.1r. 7! Batch / Lot Number #$1-7 —>
</productInsianceInstance>
<kind0fProduct classCode="MMAT" detemlnerCnde— KIND™>
(formCode code="G. k. 4. 1.9, 2b" codeSystem="TBP-DoseForn” codeSystemVersion="G.k.4.r. 9. 2a">
¢l— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 —>
¢l— G.k,4.1.9.2b: Pharmaceutical Dose Form TernlID #1-7 —>
CoriginalText>G. k. 4. r. 9. 1<{/originalText>
{l— G.k.4.r.9. 1 Pharmaceutical Dose Form (free text) #1-7 —>
</formCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
¢inboundRelationship typeCode="REFR™>
{abservation classCade="0BS" moodCode="EVN">
<code code=*28" codeSystem="2. 16, 840, |, 113883, 3. 989. 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
(value xsi:type="CE” cades"G, k. 4.r.11.2b" codeSystem="2. 16. 840, 1, 113883, 3, 989. 2. 1. 1, 14" codeSystenVersion="G. k. 4.r.
11.22">
: ¢l— G.k.4.r.11.2a: Parent Route of Aduinistration TernID Version Date / Number #1-7 —>
<l— G.k.4.xr.11.2b: Parent Route of Administration TernmID #$1-7 —>
<originalText>G. k. 4. 1. 1L 1<{/criginalText>
{l— G.k.4.r.11.1: Parent Route of Administration (free text) #1-T —>
</value>
{/observation>
</inboundRelationship>
{fsubstanceAdninistration>
</outboundRelationship2>
<outhoundRelationship2 typeCode="SUMN™> .
{pbservation classCode="0B5" moodCode="EYN">
<code cede="14" codeSysten="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 19" displayName="ctmulativeDoseToReactien™/>
<value xsi:type="PQ” value="10" unit="G.k. 5b"/> .
{!— G.k.5a: Cumulative Dose to First Reaction (humber) #1 —>
¢!-- G.k.5b: Cumulative Dose to First Reaction (unit) #1 -->
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="16" codeSystem="2. 16. 840. 1. 113883, 3. 980. 2. 1. 1. 19" displayName="gestationPeriod”/>
¢value xsiitype="PQ” value="10" unit="G.k.6k"/>
{l-- G.k 6a: Gestation Period at Time of Exposure (number) #1 —>
¢<l— G.k 6b: Gestation Period at Time of Exposure {unit) #1 —>
{/observation>
{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
<code code="31" codeSysten="2. 16. 840, 1, 1[3883, 3, 989. 2. 1. 1. 19" displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.i.4” codeSysten="2. }6. 840, L. 113883, 3. 989.2. 1. 1. 16"/>
{}— G,k 9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #1 —>
<autboundRelationshipl typeCode="REFR">
<actReference classCode="0BS™ moodCode="EVN™>
<id root="154ebB889-958h-452-a02f-42d4dBF466TE"/>
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</actRoference>
{/outhoundRelationshipl>
{/observation>
{/outboundRelationship2>
CoutboundRelationshin?: typeCede="FERT™> :- S e
<observation classCode="0BS” moodCode="EVN™>
<code code="31" codeSysten="2, 16, 840. 1. 113883. 3, 988. 2. 1. L. 197 displayName=" recurranceOfReantmn "
¢value xsi:type="CE” code="G.k.9.3.4" codeSystew="2. 15.840. 1. 113883.3.989.2. 1. 1. 16°/>
¢~ G.k 9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reacticn #2 —>
{outboundRelationshipl iypeCode="REFR">
¢actReference classCode="0BS” moodCode="EVN™>
<id rest="2baa?8d6-c9e8-de6c-93e9-5b860b3 142207 />
{/actReference?
¢/outboundRelationshipl?
{/cbservation>
</outhoundRelationship2>
<putbaundRelationship2 typeCode="REFR™>
¢observation classCede="0BS" moodCode="EVN™>
<code code="8" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 197 displayName="codedDrugInformation”/> .
<value xsiitype="CE” code="G. k. 10.1” codeSystem="2.16. B40. 1. 113883, 3.989.2. 1. 1, 17°/>
¢1— G,k 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-1 —>
</observation> '
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™>
Ceode code="9" codeSystem="2. 16. B40. 1. 113683. 3, 989, 2, 1, 1. 19" displayName="tcdedDrugInformation”/>
Cvalue xsi:type="CE” code="G.k.LC.r" codeSystem="2.16.840. 1 113883.3.989.2. 1.1 177/
<!— G.k 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-2 —>
{/abservation>
</outboundRelationship2>
{cutboundRelationship2 typeCode="REFR™>
(ohservation classCode="0BS" maodCode="EVN">
{code code="2" codeSystem="2. 16. 840, 1. 113883. 3. 980, 2. L. 1. 19" displayName="; add:l.tmnallnformatlon Wi
<value xsi:type="ST"G. k. L11</value>
¢1— 6.k 11: Additional Informaticn on Drug (free text} #l —>
¢/observation?
</authoundRelationship2>
<inboundRelationship typeCode="RSON">
(observation classCode="0BS” moodCode="EVN™>
leode code="19" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, 1. 1. 197 displayName="indication”/>
Cyalue xsi:type="CE® code="G.k.7.r.2b" codeSystem="2.16.840. 1. 113883, 6. 163" codeSystemVersion="G.k.7. r. 2a">
¢{l— G.k.7.r.2a: MedDRA Version for Indication #1-1 —
¢|~- G.k.7.xr.2b! Indication (MedDRA code) #1-1 —>
<originalText>G. k. 7. 1. 1{/original Fext>
¢l— G.k. 7.1, 1: Indication as Reported by the Prmary Source #1~1 —>
{/value>
<perfarmer typeCode="PRE">
<assignedEntity classCode="ASSIGNED™>
¢code code="3" codeSysten="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 21" displayName="scurceReparter”/>
{/assignedEntity>
{/performer>
{/observation>
¢/inhaindRelationship>
{inboundRelationship typeCode="RSON™>
{observation ¢lassCode="08S" moodCode="EVN™>
<eonde code="19" codeSystem="2. 16, 840, 1. 113883.3.989.2. 1. 1. 187 dlsplayName- indicatior”/>
<value xsi:type="CE* code="G.k.7.T.2b" codeSysten="2.16.840, 1. 113883. 6. 163" codeSystemVersion="G.k 7. 1. 2a">
{l— Gk 7.r. 2a: MedDRA Version for Indication #1-2 —2
¢l-- G. % 7.r.2b:" Indication (MedDRA cede) #1-2 —>
<originalText>G. k. 7. r. 1{/originalText>
¢l-— G.% 7.r.1: Indication as Reported by the Primary Seurce #1-2 —>
(/value>
<performer typeCode="PRR">
{assignedBntity classCode="ASSIGNED™>
<code code="3" codeSystem="2. 16. 840. 1. 113883, 3, 685.2. 1. 1. 217 displayName="sourceReporter”/>
</assignedEntity>
</performer> -
</observation>
</ inboundRelationship>
<inboundRelationship typeCodes=" CAUS >
Cact classCode="ACT" moodCade="EVN">
<code code="G.k.8" codeSystem="2. 16, 840, 1. 113883. 3. 689.2. L. L. 15"/>
<l— G.k.B: Action(s) Taken with Drug #1 ——>
</act>
</inboundRelationship>

~ 32 —



{/substancefdministration>
<{/compenent>
<!— G.k Drug(s) Information (repeat as necessary} #2 —>
<conponent typeCode="COMP™>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
<id roct="68d6f5ce—3b3b-45cT-92dd-6905730c3a97/>
<eonsunable typeCode="CSM">
<instanceOfKind classCode="INST">
{kind0fProduct classCade="MMAT" determinerCode="KIND">
<code code="G_k 2.1 2b" codeSysten="TBD-PhPID" codeSystem¥ersion="G.k 2.1 2a"/>
<l-- G.k.2. 1, 2a: PhPID Version Date / Number #2 —>
{l-— G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
{name>G. k. 2. 2</hame>
¢l— G.k.2. 2: Medicinal Product Name as Reported by the Primary Source #2 —>
¢asManufacturedProduct classCode="MANI">
<subjectOf typeCode="SBJ">
<approval classCode="CNTRCT” moodCode="E¥N">
<id extension="6, k. 3.17 root="2. 16. 840. 1. 113883. 3,989, 2. 1. 3.4"/>
¢l— G.k.3.1: Authorisation / Application Number #2 —->
<author typeCode="AUT">
{tarritorialAuthority classCode="TERR™>
<territory classCode="NAT™ determinerCode="INSTANCE™>
<code code="G. k. 3. 2" codeSystem="1.0, 3166, 1,2.2°/>
¢}— G.k. 3.2: Country of Authorisation / Application #2 —>
<{/territory>
¢/territorialAuthority>
<fauthor>
<pertinentInformation typeCode="PERT">
<policy classCode="POLICY" moodCode="EVN™>
<code code="]J2.5.k" codeSysten="2. 16, 840, 1, 113883, 3.989.5.1.3.2. 1. 4"/>
<|— ag@J2. 5. k: —RAERSFOY R IEHE 2 -
</policy>
</pertinentInformation>
</approval’
¢/suhjectOf>
¢subjectOf typeCode="SBJ™>
{characteristic classCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2, 16. 840. 1. 113883. 3. 989. 5. £. 3. 2. 1. 107 displayName="FEEBHGORIREL"/>

{value xsiitype="CE” code="JZ.4.k" codeSysten="2.16.840.1.113883.3.982.5.1.3.2. 1. 375
<l-- 868)2. 4. k: FERDFOWRESY #2 —
¢/characteristic>
{/subjectOf>

</asManufacturedProduct>
Cingredient classCode="ACTI™>
{quantity>
<{numerator value="10" unit="G.k.2.3.r.3b"/>
<}-- G.k.2.3.r.3a: Strength (number) #2-1 —>
4}— G.k.2.3.r.3b: Strength (unit) #2-1 —>
<{denominator value="1",/>
{fquantity>
<ingredientSubstance classCode="MYAT™ determinerCode="KIND™>
" Leode code="G.k. 2. 3,1, 2b” codeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3.r.2a"/>
¢!— G, k.2.3.r.2a: Substance / Specified Substance TernID Version Date / Number #2-1 —>
¢I—- G.k.2.3.r.2h Substance / Specified Substance TermID #2-1 -->
<name>G. k. 2. 3. r. 1{/name>’

¢l— G.k. 2.8, r,1: Substance / Specified Substance Name #2-1 —>
{/ingredientSubstance>
{/ingredienti>
<ingredient classCode="ACTI">
<{quantity>
{numerator value="10" unit="G.k.2. 3.r.3b"/>
{l— 6.k 2.3.r.3a: Strength (number) #2-2 —>
¢{!— G.k. 2.3.r.3b: Strength (unit) #2-2 —>
<denominstor value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G. k. 2. 3.r.2h" codeSystem="TBD-Substance” cadeSystemVersion="G.k.2.3.r.2a"/>

<!— G,k 2,3 r, 2a: Substance / Specified Substance TermID Version Date/Number #2-2 —>
¢}~ G.%. 2.3.1.2b Substance / Specified Substance TermlD #2-2 —>
<name>G. k. 2. 3. r. 1{/hame>
<!— G.k.2.3.r.1: Substance / Specified Substance Name #2-2 -—>
{/ingredientSubstance>
</ingredient>
¢/kindDfProduct>
(subjectOf typeCode="SBJ">
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{productEvent classCode="ACT” 'moodCode="EVN">
Ccode code="1" codeSystem="2. 16. 840. 1. 113883, 3,989.2, 1,1, 18" dlsplayName— "retailSupply”/>
<performer typeCode="PRF™>
(ass:gnedﬁntlty classCode="ASSIGNED >
{representedOrganization classCode="0RG" determ:nerCode— INSTANCE >
<addr>
{country>G. k. 2. 4¢/country>
¢l— G.k.2.4: Identification of the Country Where the Drug Was Obtained H2 —>
¢/addr> _ _ )
</representedOrganization>
{/assigredEntity>
{/performer>
(/productEvent)
</subject0f>
<subjec10f typelode="SB]">
{observationEvent classCode="0BS" moodCode="EVN">
<code code="2" codeSystem="2.16, 840. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10” displayName="—RFIEEROAFER"/>
<value xsi:type="CE” code="J2.6.k" codeSystem="2. 16,840, 1;113883.3,989.5.1.3.2. 1.57/>
- 889]2.6.k: —RMERLKOATER #2 —
</eobservationBvent> ' ' ;
. </subjectOf>
<finstance0fKind>
{/consunabie>
<outhoundRelationshinl typeCode="SAS™>
<panseQuantity value="10" unit="G.k.9.1i.3.1b"/> . -
{lv— 6.k.9.i.3. la: Time Interval betwcen Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #1—> ' ’ ' )
' ¢<l— G.k 8.3, 3. 1b: Time Interval beiween Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,
Reaction #1 —>
<actReference classCode="0BS" moodCode="EVN™>
<id root="154¢bBRG-968b-45f2—a02f-42d4d6T4657F" />
</actReference>
</outboundRelationshipl>
CouthoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b7/>
¢! €.%.9.1.3.2a! Time Interval betwaen Last Dose of Drug and Start of Reactlun / Event {number) Drug #2, Reaction #1 —>

¢{!— G.k 9. i.3.2b: Time Interval between Last Dase of Drug and Start of Reaction / Event {unit) Drug #2, Reaction #1 —>
{actReference classCode="0BS” moodCode="EVN™>
<id root="154eb8R3-858b-4512-a02f-4234d6f4657F"/>

{/actReferencead
</outboundRelaticnshipl> -
{outhoundRelationshipl typeCode="SA5">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢— 6.k 9.1.3. la: hmImumlMmunhmmmgﬁﬂmghmmnmnmamswﬁofhmhm/Ewm(mﬁu)huﬂz

Reaction #2 ——>
¢l— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,

Reaction #2 - .

<actReference classCode="OBS™ moodCode="EVN™>

<id root="2baa28d6-c9eB-4e6c-83e9-5b860b314220% />

{/actReference>
{/outboundRelationshipld
¢outhoundRelationshipl typeCode="SAE™>

{pauseQuantity value="10" unit=". k.9.1.3.2b"/>

{I— 6. % 9. 1.3 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #2 —

<l— G, k. 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS" moodCode="EVN™> -
. <id root="2baa28d6-c9e8-4ebc-33e9-5bEE0b3142207/>
. </actReference>
¢/cutboundRelationshipl>
{outboundRelatienshipl typeCode="5AS™>
<pavuseQuantity value="10" unit="G.k.9.1.3.1b"/>
<F—&k&i&m:ﬁmIMlehmwnhﬂmmgﬁDmgMﬂﬂﬂmﬂmamsmnofkuﬁm/Ewm(m@mﬂDmgﬂ.
Reaction #3 —>
Reaction #3 ~>
¢actReference classCode="0BS” moodCode="EVN">
- {id root= 3a8825nh—gflh-4eaB—San~eOff34430adf’/>
<{/actReference>
</outhoundRelatlonsh1pl>
{eutboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.26"/>
<l-—-G,k.9.1.3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #3 —
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Reaction #4 ——>

Reaction #4 —>

Reaction #6 —>

Reaction #5 —>

Reaction #6 -2

Reaction #6 —>

Reaction #7 —>

Reaction #7 —>

¢I— 6.k 9.i.3.2b: Time Interval between Last Pose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #3 —>
{actReference classCode="0BS". moodCode="EVN™>
<id root="3a8626ch-0flb-deal~Bali-e0r34430adf"™ />
</actReference’
</outboundRelationshipl>
<cutboundRelationshipl typeCode="SAS™>
¢pauseQuantity value="10" unit="G.k.9.1i. 3. 1b"/>
¢I-- 6.} 9.i.3.1a* Time Interval between Baginning of Drug Administration and Start of Reaction / Event ({number) Drug #2,

{l— G.% 9.i.3, 1b: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event (unit) Drug #2,

<actReference classCode="0B5" moodCode="EVN™>
<id root="2e998407-08b4-499c-B0ff-ddB415T4f8a5"/>
{/actReference>
{/outboundRelationshipi>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G. k. 8. 1i.3.2b"/>
¢l 6.k 9.i.3.2a’ Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug {2, Reaction #4 —

<l— G.% 9.i,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug #2, Reaction #4 —>
<actReference classCode="0BS" moodCode="EVN">
<id roet="2e00840f-08b4-49%c-80Ff-dd8415f4£8a5" />
</actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G, k.9 1i.3.1b"/>
{l— G,%.9.i.3.1a: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event (number) Drug #2

¢l— G.%. 9.i.3. 1b: Time Tnterval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,

{actReference classCode="0BS" moodCodé="EVN">
<id root="1071064c—cfL0-4a3b—83c1-34f5ddbTeabd” />
{factReference> '
{/outboundReiationshipl>
CoutboundRelationshipl typeCode="SAE">
{pavseQuantity value="10" unit="G k.9, i.3.26"/>
¢!— G.k.9.i.3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #5 —

¢]-- G.k.9.i.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) GUrug #2, Reaction #5 —>
<actReference ¢lassCode="0BS" moodCode="EVN™>
<id root="107E064c-cfl0-4a3b-B3cl-34f9ddbTeabd”/>
</actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.%.i.3. 16"/
¢l=- G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,

{!— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2

<actReference classCode="0BS" moodCode="EVN™>
<id reot="1f527283-10b6-4334-9d43-e925640£b18f" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.1i.3.2t7/> -
{l-- 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reactien #6 —

¢1—— 6.k 9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #6 —>
{actReference classCode="0BS" mondCode="EVN™>
<id root="1f927283-10b6-4334-0d43-e925640fb18E" />
{/actReference>
{/autboundRelationshipl>
¢outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3.b"/>
¢t— G.k.9.i.3. 1a: Time Interval between Beginning of Drug Administration and $tart of Reaction / Event (number) Drug #2

¢l .k 9.1.3. 1b: Tinme Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug H2,

(actReference classCode="0BS" moodCode="EVN">
<id root="e0342969-38be-423f-bbbb-cel4be279d8e”/>
{/nctReference>
<foutbeundRelatienshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.1,3.2h"/>
<l— (. k. 9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #7 —
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<l— 6.k.9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #7 —>
<actReference classCode="0BS" moodCode="EVN™> .. '
<id root= 90342969—33be 423f—b6‘ub-cel4hc279d8e />
<{/actReference>
{/outboundRelationshipl>
LoutboundRelationshipl typeCode="SAS™>
<pauseQuantity valuze="10" unit="G.k 9.1.3.1b"/>
©¢)— G.k. 9 i.3.1ar Time Interval between Beginning of Drug Admmstrat:on and Start of Reaction / Event (mumber) Drug #2,
Reactien #8 ——>

Reaction #B —>
¢actReference classCode="0B5" moodCode="EVN">
¢id reot="alsbed92~R0T0-426d-af04-6863263443c07/>
¢/actReference>
. </outboundRelationshipl>
<outboundRelationshipl ‘typeCode=" SI\E >
(pavseQuantity value="10" unit="G.k.0.i.3.2b"/>
. <}—— G. k. 9.1.3.2a; Time Interval between Last Dose of Drug and Start of Reaction / Event (rumber) Drug #2, Reaction #8 —
> ' .

(actReference classCudeﬂ 0BS” moodCode="EVN">
"¢id root="al5be092-8070-426d-af04-6863263443207/>
¢/actReference>
{/outhoundRelationshipl>
<outhoundRelatianship2 typeCode="FERT™>
{ohservation classCode="0BS" moodCode="EVN">
Ccode code="6 codeSysten="2.16. 840, 1. 113883, 3. 989, 2, 1. 1. 197 displayName="blinded"/>
<value xsiitype="BL” value="true"/>
¢l— G,% 2.5: Investigational Product Blinded #2 -—>
</observation>
</outboundRelationshinZ>
(outboundRelationshipZ typeCode="COMP™>
¢!— G.%.4.r : Dosage and Relevant Information (repeat as iecessary) #2-1 —>
¢substanceAdministration classCode="SBAD" mnudCode— EVN™>
<text>G. k. 4. r. B{/text>
<l— G,k 4.r.8: Dosage Text #2~1 —>
{effectiveTime xsi:type="IVI_TS™>
<low value="20000101"/>
¢4— G k.4.1r.4: Date and Time of Start of Drug #2-1 -
¢high value=" 20090101 >
(4= G.k.4.xr.5: Date and Time of Last Adml.mstratlon #o-1 —>
<{feffactiveTiue>
<routeCode code="G.k.4.r.10.2b" codeSysten="2, 16, 840. L. 113883, 3.989.2. 1. 1. 14 codeSystemVersion="G. k 4.r 10, 2a™>
(4 G.k.4.r.10.2a: Route of Administration TermID Version Date / Numher #2-1 —>
34— G.k.4.r. 10.2b! Route of Administratien TermID f2-1 —>
<originalText>G, k. 4. r. 10. 1{/originalText>
¢l— G.k.4.1.10.1! Route of Administration {free text} #2-1 —>
</routeCode>
{doseQuantity value="10" unit="G. k. 4.r.1b"/>
¢}— G.k 4.1, 1a Dose {number) #2-1 ——
<= G.k.4.r. 1b: Dose (unit) #2-1 —>
{consumable typeCode="CSM™>
¢instanceOfKind elassCode="INST™>
¢productInstancelnstance classCode="| lDJAT determinerCode="INSTANGE™>
{lotNumberText>G. k. 4. r, 7</lotNumberText>
¢l— G.k. 4. 1.7: Batch / Lot Nomber #2-1 —>
{/productInstancelnstance>
<kinddfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="6. k. 4.v. 8. 2b" codeSysten="TBD-DoseForm” codeSystenVersion="G.k 4.r.% 22>
<l— 6.k, 4. 1.9 2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-1 —>
¢I-- G. k. 4.r.9.2b: Pharmaceutical Dose Form TermlD #2-1 —>
<originalText>G. k. 4. r. 8. 1</originalText>
{!— 6. k.4 r.9.1: Pharmaceutical Dose Form {free taxt) #2-1 —)
</fornCode>
£/kindOfProduct>
{/instance0fKind>
</consumabled
¢inboundRelationship typeCode="REFR">
¢observation classCode="0BS” moodCode="EVN">
(code code="28" codeSystem="2. I4. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k. 4.r.11. 2b" codeSystew="2. 16, 840, 1. 113883. 3. 080. 2. L. 1. 14" codeSystenVersion="G. k. 4.r.
11.2a™> .
¢!— G.k. 4.1.1]. 2a: Parent Reute of Administration TermiD Versiom Date / Number #2-1 —>
¢l— G.k. 4.1.11.2b! Parent Route of Administration TermlD §2-1 —>
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<originalText>G. k. 4, 1. 11. 1¢/originalText>
¢1— G.k.4.r. 1L 1: Parent Route of Administration {free text) #2-1 —>
</valued
{/ohservation?
¢/inboundRelationship>
{/substanceAdministration>

{/outboundRelationshipn2>

(outhoundRelationship? typeCode="COMP™>

¢1-- G.k.4.17 Dosage and Relevant Information (repeat as necessary) #2-2 -

{substanceAdministration classCode="SBADM™ moodCode="EVN"> .
LtextPG. k. 4. . 84/ text> :
¢1— G.k. 4.r.8: Dosage Text #2-2 —>

" (effectiveTime xsittype="IVL_TS™>

<low value="20090101"/>
(1— G.k.4.r.4: Date and Time of Start of Drug #2-2 —>
(width value="4" unit="G. k. 4.r. 6b"/> _
¢i— G.k.4.r. 6a: Duration of Drug Adaministraticn (nupber) #2-2 —>
¢}— G.k 4.r.6b: Duration of Drug Adwinistratien (unit) H2-2 -
¢fetfactiveTime?
<routeCode code="G.k. 4.1.10.2b" codeSyster="2, 16.B840. L. 113883, 3.989.2. 1. L. 14" codeSystemVersion="G. k. 4.T. 10. 22"
<l— G.% 4.r. 10, 2a% Route of Administraticn TernID Version Date / Number #2-2 —>
¢|— G.k.4.1.10,2Zb: Route of Administration TernID #2-2 —>
¢originalText?6G. k. 4.1. 10. 1</originalText>
¢l— . k. 4.1.10,1¢ Route of Administration (free text) #2-2 —>
</routeCade> -
¢doseQuantity value="10" vnit="G. k. 4.r. 1b"/>
(t— G.% 4.x.1a Dose (mmber) #2-2 ~—>
1= G. k. 4.r. Ib: Dose {unit) #2-2 —>
{consumable typeCode="CSM™>
¢instance0fKind classCode="INST">
{productinstanceInstance classCode="MMAT" determinerCode="INSTANCE">
otNumberText>6. k. 4. r. 7</lotNumberText>
<l-- G.k.4.r.7: Batch / Lot Number #2-2 —2
</productInstancelnstance?
<kind0ffroduct classCode="MHAT" determinerCode="KIND™>
¢fornCode code="G.k. 4.r.9.2b" codeSysten="TBD-DoseForm” codeSystenVersion="G. k. 4.1r.9.2a">

¢l— G.k. 4.1.9.2a: Pharwaceutical Dose Form TermID Version Date / Number #2-2 —>
{J— Gk 419 2h: Pharmaceutical Dose Form TermlD #2-2 —>
<originalText>. k. 4. 1. 9. 1</originalText?
<l— G.k 4.1.9. 13 Pharmaceutical Dose Form (free text) #2-2 —>
¢/formCede>
¢ /kind0fProduct>
¢/instance0fKind>
</consumable?

CinboundRelationship typeCode="REFR™>
<observation classCode="0BS™ moodCode="EVN™>
(code code="28" codeSystem="2, 16. 840. 1, 113883.3.989. 2. 1. L. 19" displayName=’parentRouteOfAdministration'/)
¢valpe xsittype="CE” code="6.k.4. r. 1L 24" codeSystem="2. 16. B40. 1. 113883, 3.989.2. L. L. 14" codeSystemVersion="G. k. 4.1.
11.2a™>
¢l-— G.k 4. 1.11.2a: Parent Rente of Adninistration TermlD Version Date / Number #2-2 ——>
{l— G.k.4.r.11. 2b: Parent Route of Administration TermlD #2-2 —>
CoriginalText>G. k. 4. r. 11 1{/ariginalText>
¢§— G.k.4.1. 11, 1 Parent Route of Administration (free text) #2-2 —>
¢/valued s
-{/observation>
¢/inhoundRelationship>
</substanceAdrinistration>
(/outhoundRelationshipZ>
{puthoundRelationship2 typeCode="COMP™>
{1~ G.k. 4. r: Dosage and Relevant Information {repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™> -
<textDC. k. 4. r. B{/text>
¢l G.k.4. 1.8 Dosage Text #2-3 ~—>
(effectivelime xsistype="IVL_TS">
¢width valye="4" unit="G.k.4.r.6b7/> .
(== G.k.4,r.6a: Duration of Drug Administration (mumber) #2-3 —>
(}— G.k. 4. r.6b: Duratien of Drug Administration (unit) #2-3 -—> -
<high value="20090101"/>
¢{l— G.k 4 r.5: Date end Time of Last Administratian #2-3 —>
{/effectiveTime> .
(routeCode code="G. k. 4, 1. 10.2b" codeSysten="2. 16. 840. 1. 112883, 3.989. 2, 1. 1. 14" codeSystemVersion="G. k. 4.1. 10, 2a">
{}— G.k.4.1. 10, 2a’ Route of Adwinistyation TernID Version Pate / Number #2-3 ——>
<l— G. % 4. r. 10.2b: Route of Aduinistration TeraID #2-3 —
: {originalText>G. k. 4. 1. 10, 1</originalText>
¢1— G.k.4.7.10.1: Route of Administration (free text) #2-3 —>
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{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
¢l— 6.k 4.r. 1a Dose {mmber) #2-3 —3
<1~ G k. 4.r.1b: Dose (unit) #2-3 —>
{constmahle typeCode="CSM"> .
<instanceOfKind classCode="INST">
{productInstancelnstance classCade="MMAT" daterminerCode="TINSTANCE™>
{lotNumberText>G, k. 4. r. 7¢/lotNumberText>
¢t— G. k. 4.r.7: Bateh / Lot Number #2-3 —>
</productInstancelnstance). . . .
<kind0fProduct classCode="HMAT" determinerCode="KIND">

<{formCode code="G, k. 4.r.9. 2h" codeSyston="TBV-DoseForm™ codeSystemVersion="G. k. 4.r. 9. 2a™>
<l— 6.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —>
- <I-- 6.k.4.1.9. 2b’ Pharmaceutical Dose Form TermID #2-3 —>

<originalText>G. k. 4.r. 9. I</ariginalTex1>
¢!— 6.k 4.r.9.1: Pharmaceutical Dose Form -(free text) #2-3 —>5
{/formCode)
{/kind0fProduct} .
{/instance0fKind>
</consumahle} ) »
{inboundRelationship typeCode="REFR™>
Cohservatioh classCode="0BS” moodCode="EVN")> . .
<eode code="28" codeSystem="2. 16, 840. i. 113883. 3, U86. 2. [. 1. 19~ displayName="parentRouteOfAdmini stration™/>
{value xsi:type="CE” code="G.k.4.r.11 Zh" codeSystem="2. 16.840. 1, [13983. 3. 980.2.1. I, 14" coedeSystenVersion="6.k 4, r,
11.2a™> - : - .
<1— G.k.4.r.11.2a: Parent Route of Administration TernID Yersion Date / Number #2-3 -
<t— 6, k.4. 7. 11. Zb: Parent Route of Administration TermlD #2-3 ——>
{originalText>G. k. 4. r. 11. 1</originalText>
{— G k. 4.r. 11, 1: Parent Route of Administration (free text) #2-3 —>
{/value» '
{/observation)
</inbeundRelationship>
</substanceAdministration>
</outboundRelationshipZ>
<outheundRelationship? typeCode="COMP™> . .
<1— §. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
<text>G. k. 4. r. 8¢/ text>
{I— G.k.4.r.8: Dosage Text #2-4 —>
{effectiveTime xsi!type="SXPR_TS">
<comp xsiitype="PIVL_TS™>
{period value="1¢". unit="G. k. 4. 1. 3"/>
{I— G.k. 4.r.2: Numher of Units in the Interval #2-4 —>
<l— 6.k 4.1r.3: Definition of the Time Interval Unit #2-4 —>
</comp}>
{comp xsi:type="IVL_TS” operator="A">
<low value="200801017/> .
<l-- G.k.4.r. 4 Date and Time of Start of Drug #2-4 --> = ,
</oomp>
{/effectiveTime> :
<{routeCode code="G. k. 4.r.10,2h" codeSystem="2, 15. 840, 1. 113883, 3,989, 2. 1. 1. 14" codeSystemYersion="G, k. 4.r. 10. Za™>
<!— G.k. 4.1 10, 22:. Route of Administration TermID Version Date / Number #2-4 —> .
{l— 6.k 4.r.10.2b% Route of Adninistration TermID #2-4 —3
<originalText>G. k. 4. r. 10, 1{/originalText>
1=, k. 4.7.10. 1: Routte of Administration (free text} #2—4 —>
{/routeCode> . .
<deseQuantity value="10" unit="G.k.4.r, 1b"/>
{!-- G. k. 4.1. 1a Dose {number) #2-4 —>
{I— G.k.4.7. 1h: Dose (unit) #2-4 —>
<consumable typeCode="CSM*>
{instance0fKind classCode="INST">
<productInstancelnstance classCode="MWMAT” determinerCode="TNSTANCE™>
<lotNumberText>6. k. 4. r. 7</latNunberText>
¢l— G.k.4.1.7: Batch / Lot Bumber §2-4 —p
</productInstanceInstance} )
<kindOfProduct classCode="MMAT* determinerCode="KIND">
"{fornCode code="G. k. 4.r.9.2h" codeSystem="TBI-DoseForn™ codeSystemVersion="G. k. 4.1, 9, 2a">
<l-- 6.k, 4.1.9.2a! Pharmacentical Dose Form TermID Version Date / Number #2-4 —>
{l— 6.k 4.r.9, 2b: Pharmaceutical Dose Form TermID #3-4 —>
<originalText>G, k, 4. 1. 9. 1</originalText>
- <I— G.k 4.7.9.1 Pharmaceutical Dose Form (free text) #2-4 —>
{/formCoda) :
{/kind0fFroduct)
</instance0fKind>
<{/consumable)
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{inboundRelationship typeCode="REFR">
{chservation classCode="0BS" moodCode="EVN™>
¢cade code="28" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 18" displayName="parentRouteOfAdministration™/>
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 1. 840. 1. 113883, 2. 988. 2. L. 1. 14" codeSystenVersion="G. k. 4.r.
11.2a™> -
<1—— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-4 —>
<¢1— G.k.4. 1. 11. 2b: Parent Route of Administration TermID #2-4 ——>
CoriginalText>G. k. 4.r. 1E. 1<{/originalText> .
<lw- G.k.4.r.11.1: Parent Route of Administration (free text) #2-4 -->
{fvalue> -
{/observation>
£/inboundRelationship>
{/substanceAdministration> .
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
{t-— G k. 4.1 Dosage and Relevant Information {repeat as necessary) H#2—5 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
<text>G. k. 4. r. 8</text>
<!— G.k. 4.1.B: Dosage Text #2-5 -
<effectiveTinme xsi:type="SXPR_TS™>
Ccomp xsi'type="PIVL_T5™>
<peried value="10" unit="G.k.4.1.3"/>
<l-- G.k. 4.r.2: Number of Units in the Interval #2-3 -
¢l— 6.k 4.r.3: Definition of the Time Interval Unit #2-5 -—>
{feomp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20000101"/>
<l— G.k.4.r.5: Date and Time of Last Administration #2-5 —>
</comp>
{/effectiveTime>
{routeCode code="G.k. 4. 1. 10, 2b” codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. L. 1. [4” codeSystenVersion="G. k. 4. r, 10. 2a™>
¢!— G,k 4.1, 10, 2a; Route of Administration TernID Version Date / Number #2-5 —>
<l— G.k.4.r. 10. Zb: Route of Administration TernlID #2-5 —>
<originalText>G. k. 4.7, 10. 1<{/originalText>
¢l— G.k.4.1. 10, 1: Route of Administration (free text} #2-5 —>
</routeCode>
¢doseQuantity value="10" unit="G.k 4.r. 16"/
¢l— G. k. 4.r. 1a Dose (number) #2-5 —> -
<l— G. k. 4.r.1b: Dose (unit) #2-5 >
{consumable typeCode="CSH">
{instanceOfKind classCode="INST">
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
¢lotNumberText>G. k. 4. r. 7¢/lotNumberText>
¢l-- G. k. 4.r.7: Batch / Lot Number #2-5 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForn” codeSystemVersion="G.k. 4.r.9.2a™>
¢]— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 -->
<l— G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #2-5 ——>
originalText>G. k. 4. r. 9. I{/originalText>
<]—- G.k.4.r.9.1: Pharmaceutical Dose Form {free text) H2-6 —> .
</fornCode>
</kind0fProduct>
</instanceOfKind>
</consumahle>
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
<code code="28" cadsSystem="2. 16, 840, 1, 113883, 3. 989, 2. 1. 1. 197 displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE” code="G.k. 4.1, 11. 2b" codeSystem="2. 16840 1. 113883. 3. 986. 2. 1. |. 14" codeSystem¥ersion="G. k. 4.r.
11, 22>
{l—— G.X% 4,r.11.2a: Parent Route of Administration TermID Version Date / Number §2-5 —>
¢l— G.%.4.r.11.2b: Parent Route of Administration TermID #2-5 —>
CoriginalText>G. k. 4. r. 11. 1</original Text>
¢!— G.k.4.x.11. 1 Parent Route of Administration (free text) #2-5 —>
</value>
{/observation>
</inhoundRelationship>
{/substanceAdninistration>
¢/outhoundRelationship2>
CoutboundRelationshipZ typeCode="COMP™>
<I— G_k. 4. ¥: Dosage and Relevant Infermation (repest as necessary) #2-6 —>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
<textdG. k. 4. 1. 84/ text? ’
¢l— .k, 4.r.B: Dosage Text #2-6 ——>
(effectiveTime xsi:type="SXPR_TS">

-39 -



{comp xsi:type="PIVL_TS">
{period value="10" unit="G.k.4.r.37/>
{1~ G.k.4.r.2: Number of Units in the Interval #2-6 —>
d-- G k4.1 3: Defxmtmn of the ‘Fime Interval Unit #2—6 -—>
{/comp>
{comp xsi:type= IVL _T8” eperator="4" >
¢width value="4" unit="G.k.4.r.6b"/>
<l G.k.4.r.6a: Duration of Drug Administration (number) atz & —>
¢I— 6.k 4. r.6b: Durat1on of Drug Administration (unit) #2-6 —> :
{/comp> .,
¢/effactiveTime> : . R
¢routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16. 840. L. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G.k.4.r. 10.2a™>
¢l— G. k.4.1.10. 28 Route of Administration TermlD Version Date / Number #2-6 —>
¢l— G. k. 4. 1.10. 2b: Route of Administration TermID #2-6 —>
CoriginalText>G. k. 4. r. 10, 1</originalText>
¢|— G k. 4/r. 10,17 Réute of Administration (free text) #2-6 —>
</routeCode>
¢doseQuantity value="10" unit="6.k. 4. 1. 1b"/>
¢l G.k.4.r.la Dose {(number) #2-6 —>
¢l— G.k 4.r.1b: Dose {unit) #2-6 —>
{¢onsumable typeCode="CSM™>
{instanceOfKind classCode="INST™>
<productInstanceInstance classCode="MMAT” determinerCade="INSTANCE"> :
<lothumherText>G. k. 4. r. 7</lotNumberText>
. ¢l G.k.4.1.7: Batch / Lot Number #2-6 —>
¢/productInstancelnstance>
<kindOfProduct ¢lassCode="MMAT® determinerCode="KIND™>
<fornCode code="G.k. 4.r.9.2h" codeSysten="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a™>
<]-- G.k.4.1.9.2a’ Pharmaceutical Dose Form TermlD Version Date / Number #2-6 —>
<!— G.k. 4. r. 9 2b: Pharmaceutical Dose Form TermlD #2-6 —>
CoriginalTextG. k, 4. 1. 9. 1<{/originalText>
<l G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-6 ——>
{/formCode>
</kind0fProduct>
{/instance0fKind>
¢{/consumable>
¢inbhotndRelationship typeCode="REFR™>
{observation classCode="0BS” moadCode="E¥N™»
{code code="28" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1, 19" displayName=" parEntRouteﬂfAdmlnlstrat1on "/
Zvalue xsi:type="CE™ code="G.k.4.r.11,2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. L. 14" codeSystenVersion="G.k. 4.1.

R

11. 2a™>
¢|— G.k.4.7.11,2a: Parent Route of Administration TernID Version Date / Number #2 & —>

. &l—— G.k.4.1.11.2b: Parent Route of Administraticn TermID #2-6 —>
<originalText>G. k. 4. r. 11, 1{/originalText>
{l— G.k. 4.7, 11. 1: Parent Route of Administration (free text) #2-6 —>
{/valuey
</observation>
</inboundRelationshipy
{/substanceAdministration>
{/outboundRelationship2>
<oautboundRelationship2 typeCode— COMP™>
<l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —>
<substanceddministration classCode="SBADH™ moodCode="EVN">
C(text>G. k. 4. r. 8</textd ,
(l— G.k.4.x.8: Dosage Text #2-7 —>
<effectiveTime xs5i:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
<l-- G. k. 4.r.2: Number of Units in the Interval #2-7 -
{l— G.%.4.r.3: Definition of the Time Interval Unit {#2-7 —>
{feffectiveTime>
¢routeCede code="6. k. 4. t. 1¢. 2b” codeSystem="2, 16, 840 1. 113883. 3. 989. 2. 1. 1. 14™ codeSystenVersion="G. k. 4. r. 10. 2a™>
{I— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-7 —>
<!— G.k. 4.1.10.2b: Route of Administration TermID #2-7 —>
{originalText>G. k. 4. 1. 10. 1{/originalText>
¢l— G.k.4.r.10.1: Route of Administration (free text) #2-7 -—>
¢/routeCode>
<doseQuatitity value="10" unit="G. k. 4.r. 1b"/> ' B
¢l— G.k.4.r.1a Pose (number) H2-7 —>
{— 6.k 4.z 1b: Dose (unit) #2-7 —>
¢consunable typeCode="CSH™>
{instance0fKind classCode="INST">
<productInstancelnstance classCode="MHAT” determlnerCcde- INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotRumber Text>
1— G.k.4,x.7: Batch / Lot Number #2-7 —>
{/productInstancelnstance>
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<kindOfProduct classCode="MMAT” determinerCode="KIND"> .
{fornCode code="G. k.4.r.9.2b" codeSysten="TBD-DogeForm” codeSystemVersion="G.k.4.r.9.2a™>
<l-- G. k. 4.r. 5 2a! Pharmaceutical Dose Form TermlD Yersien Date / Number #2-7 —>
<!— G.k. 4. r. 9. 2b! Pharmaceutical Dose Ferm TermlD H2-7 —->
<originalText>G, k, 4, r. 9. 1</originalText> .
<}— G. k. 4.r.9. 1: Pharmaceutical Dose Form (free text) #2-7 —>
{/formCode>
</kind0fProduct>
</instance0iKind>
¢/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN™>
{cade code="28" codeSystem="2. 16. 840, [. 113883.3. 989, 2.1. 1. 19" displayName="parentRoute0fAdministration”/>
<value xsi:type="CE" code="G.k. 4.r.1l. 25" codeSystem="2.16.840.1.113883. 3. 989.2. 1. 1. 14" codeSystemVersion=". k. 4.r.
11, 22> :
<1— G.k.4.r.11. 2a: Parent Route of Administration TermID Yersion Date / Number #2-7 —>
<l— G.k.4.7.11. 2b: Parent Route of Administration TermID H2-7 —>
<originalText>G. k. 4. 1. 11. 1</originalText>
¢l— G.k.4.7. 11, 1: Parent Route of Administration (free text) #2-7 —>
<fvalue>
¢{/chservationd
{/inboundRelationship>
</substanceAdministration> ' '
¢/outboundRelationship2> ’
<outhoundRelationship? typetCode="COMP™>
¢!~ G.k 4.x: Dosage and Relevant Information (repeat as necessary) #2-8 —
{substanceAdninistration classCode="SBADM" moodCode="EVN™>
Ctext>G. k. 4. 1. 8</text> ’
<l-- G.k. 4.1.87 Dosage Text #2-8 —>
~ <effectiveTime xsi:type="IVL_TS">
{low value="200801017/>
¢l— 6.k 4.r.4: Date and Time of Start of Drug #2-8 -
{/effoctiveTime>
¢routeCode code="G. k. 4.r. 10. 2b” codeSystem="2, L6, 840. L. 113883, 3, 989, 2, 1, L. 14" codeSystemVersien="G. k. 4.r. 10. 2a™>
¢1— G.k.4.r.10.2a’ Route of Adwinistration TermlD Version Date / Number #2-8 —>
<1— G. k. 4.1.10.2b: Route of Administration FermiD #2-8 —>
<originalText>G, k. 4. r. 10. 1</originalText?
{3— G.k.4.7.10.1: Route of Administration (free text) #2-8 >
{/ratteCode>
{deseQuantity value="10" mmit="G. k. 4.r.1b"/>
<|— G,k 4.1, 1a Dose (number) #2-8 —>
¢ &)= G.k 4.r.1b: Dose {unit} #2-8 —>
{cohsumable typeCode="CS¥™>
¢instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" detexrminerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotiunberText>
{!— G.k. 4.1.7: Batch / Lot Number #2-8 —>
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="XIND™>
¢fornCode code="G. k. 4. 1.9, 2b” codeSystem="TBD-DoseForn”™ codeSystemVersion="G.k:4.r.%. 2a™>
¢}— G.k.4,r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 ->
<]-- G.k.4.r.9. 2b: Pharmaceutical Dose Form TermID #2-8 -—>
<originalText>G. k. 4. r. 9, 1¢/original Text)
¢!— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
</formCode>
¢/kindOfProduct>
</instance0fKind>
{/consumahle>
¢inboundRelationship typeCode="REFR™>
<observatien ¢lassCode="0BS” moodCode="EVN™>
<code code="28" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 197 displayName="perentRoute0fAdministration™/>
Cvalue xsi:type="CE” code="G.k.4.r.11.2b" codeSysten="2. 16. 840, 1, 113883, 3. 989. 2, L. 1. 14" codeSystemVersion="G. k.é I.
11.2a">
¢f— G.k.4.r.11, 2a: Parent Route of Administration TermID Version Date / Number #2-8 —>
¢l— G.k.4.r.11, 2b: Parent Route of Administration TermID #2-8 —>
{originalText>G, k. 4. r. 11. 1</originalText>
¢I-— G.k.4.r.11.1: Parent Reute of Adninistration (free text) #2-8 —>
</value? !
</observation>
</inbcundRelationship>
¢/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
<!— . k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9% —>
¢substanceAdninistration elassCode="SBADM” moodCode="EVN">
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{textdG. k. 4. r. 8¢/text>
{l— G.k.4.r.8: Dosage Text #2-9 —>
(effectiveTime xsi:type="IVL_TS™>
<high value="20090L0E" /> .
¢}— G.k.4:r.5: Date and Time of Last Ad.mlmstratmn #2"9 e
{feffectiveTime> :
(routeCode code="G. k. 4. . 10. 2b” codeSystem="2. 16. 840. 1. 113883, 3.980. 2. 1. 1, 14" codeSystemVersion="6. k. 4. r. 10, 2a">
¢l=— G.k 4.r.10.%a: Route of Administration TermID Version Date / Number #2-9 -—>
¢l— G.k. 4,110, 2b: Route of Administration TernID H#2-9 —>
SoriginalText>. k. 4. r. 10. 1</originalText>
¢!— G. k. 4.7.10. 1: Route of Administration (free text) #2-8 —>
<frduteCode>
<dogeQuantity value="i0" unit="G. k. 4 r 1" />
{!— G.k.4.r.1a Dose (number} H2-9 —>
{|— G.k 4. r.1b: Dosc (unit) #2-9 —>
{consumable typeCode="CSH™>
{instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT™ determinerCode=" INSTANCE > .
{lotNumberText>G. k. 4. r. 7</LotNunberText>
l— G.k.4.1.7: Batch / Lot Numher #2-9 —>
</productInstancelnstance>
(Kind0fProduct eclassCode="MMAT™ determinerCude=’KIN]}">
<fornCode code="G, k. 4,r.9.2b" |:odeSystem—”TBD—DoseForm' codeSystcm\"ersJ‘.on"G k.4, r.9 227

(!— G. k. 4.r.9. 2b- Pharmaceutical Dose Farm TermID #2-9 —>
<originalText>G. k. 4. r, 9, 1<{/original Text>
¢!— G.X.4.1.9.1: Pharmaceutical Dose Form (free text) #2-9 —>
¢/fornCode)>
</kindOfProduct>
</instancedfKind>
(/consuma'ble)
<inboundRelaticnship typeCode="REFR™> )
Cobservatioh classCode="08S" moodCode=TEVN™>
Ccode code="28" codeSystem="2, 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="parentRouteQfAdministration”/>
¢yalue xsi:type="CE” code="G.k.4.r.11,2b" codeSystem="2.16.840. 1. 113883, 3. 980. 2, 1, 1. 14" codeSystemVersion="C. k. 4. 1.
11.2a™> .
¢4— G.k 4.1, 11, 2a: Parent Reute of Administration TermID Versien Date / Number #2-9 —>
¢4— G.k.4.r.11.2b: Parent Route of Administration TermID #2-3 —>
{originalText>G. k. 4 r. 11. 1{/eriginalText>
{4— G.k.4.r.11. 1: Parent Route of Administration (free text) #2-9 —>
{/value>
{/ohservation>
{/inboundRelatisnship>
</substanceAduinistration>
{/outboundRelationship2>
CputboundRelationship2 typeCode="COMP™>
£l— G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-10 —>
<substanceAdministration classCode="SBADH™ moodCode="EVN">
Ctoxt>G. k. 4. r. 8</text? )
{!— G.k.4.r.8: Dosage Text #2-10 —>
¢effectiveTine xsi:type="1VL_TS">
{width value="4" unit="G.k 4.r.6b"/>
¢4-- G. k. 4.r. Ga: Duration of Drug Administration (number) #2-10 —>
{— G.k. 4.1, 6b: Duration of Drug Administration {unit) §2-10 —>
{feffectiveTime>
(routeCode code="G. k. 4. r. 10. 26" codeSystem="2, 16. 840. 1. 113853. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. r. 10. 2a">
¢}-- G.k. 4. r.10.2a’ Route of Administration TermID Version Date / Number #2-10 —>
<l— 6.k 4 1. 10,2h: Route of Administration TermID #2-10 —>
{originalText>G. k. 4. r. 10. 1</originalText>
{— G.k. 4.1, 10. 1: Route of Administration (free text) #2-10 —>
</routeCode>
<doseQuantity value="107 unit="G.k.4.r. 1b7/>
{I— G.k 4,r.1a Dose (number} #2-10 —>
I~ G.k.4.r. 1b: Dose (unit) #2-10 —>
{constmable typeCade="CSK™> '
CinstanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCade="INSTANCE™>
CtotNumberText>G. k. 4. v, 7</lotNumhexText> .
— G.%. 4.r.7: Batch / Lot Number §2-10¢ —>
{/productInstancelnstance> ’
¢kindDfProduct classCode="MMAT" determinerCode="KIND™>
¢farmCode code="G. k. 4.r.9. 2h" codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a™>
¢!— G.k.4.r. 9. 2a: Pharmaceutical Dose Form TerwlD Version Date / Number #2-10 —>
" ¢l— G.k 4. r.9. 2b: Pharmaceutical Dose Form Termll #$2-10 ——>
CoriginalText?G. k. 4. 1, 8, 1{/originalText>
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¢)— G.k 4.r.9.1: Pharmaceutical Dose Form {free text) #2-10 —>
{/fornCode>
¢/kindOfProduct> ]
</instanceQfKind> B
</consumahle> :
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2, 16. 840. 1. 113883, 3. 980, 2, 1. 1, 18" displayName="parentRouteOfAdministraticn™/>
<value xsi:type="CE" code="G.k 4.r.11.2b" codeSystem="2. E6. B40. 1. 113883. 3.989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r.
11.2a">
¢l—— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number $2-10 —>
¢l-- G.k.4.r. 11. 2b: Parent Route of Adwinistration TermID #2-10 ——>
<originalText>G. k. 4. r. 11, 1<{/originalText>
¢l— G, k.4, r, 11,1: Parent Route of Administration (free text) #2-10 —>
</value> .
{/ohservation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="SUMH™>
Cobservation classCode="0BS” moodCode="EVN™>
Ceode code="14" codeSystem="2. [6. 840. 1. 113883, 3. 989. 2, 1. 1, 19" displayName="cumulativeDoseToReaction™/>
<value xsi:type="PQ” value="10" unit="G.k 5b7/>
¢<!— G.k.5a: Cumulative Dose to First Reaction (humber) #2 —>
¢l 6.k 5h: Cumulative Dose to First Reactien (unit) #2 —>
</observation> '
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN"> -
<code code="16" codeSystem="2, 16, 840, 1, 113883, 3.989. 2. 1. 1. 19° displayName="gestationPeriod”/>
<value xsi:type="PQ" value="10" unit="G.k.6b"/>
¢l— G.k Ba: Gestation Period st Time of Exposure (number) #2 —>
¢l— .k 6b: Gestation Period at Time of Bxposure (unit) #2 —>
{/observation>
¢/outhoundRelationship2> i
<outboundRelationship? typeCode="PERT*>
<observation classCode="0BS" moodCode="EVN™>
Ccode code="31" codeSysten="2. I6. B40. 1. 113883, 3. 988. 2, I. 1, 19" displayName="recurrancaQfReaction”/>
{value xsiitype="CE" code="G.k.9.1i.4" codeSystem="2.16.840. 1. 113883,3,989.2,1,1.16"/>
<l=- G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #l —>
<otitboundRelationshipl typeCode="REFR™>
<actReference elassCode="0BS” moodCode="EVN™>
<id rnut='154EhB89-95Sh—_45f2—302f~42d4d6f4657f“/>
{/actReference>
{/outboundRelationshipl>
{/ohservation>
¢/outboundRelationship2>
{outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code cade="31" codeSystem="2. 16, 840. 1. 113883, 3.989. 2. t. 1. 18" displayName="recurranceOfReaction”/>
<valpe xsiitype="CE” code="G.k.9.i.4" codeSystem="2. 16 840.1. 113883.3.989.2.1. 1. 167/>
¢1-- G.k. 9.1.4: Did Reaction Reeur on Re-administration? Drug #2, Reaction #2 —>
{outboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS" meodGode="EVN™>
id reot="2baa28d6-c9e8-4efc-93e9-5186003142207/>
{/actReference>
¢{/outboundRelationshipl>
{/observation>
</outboundRelationship2> : .
{outhoundRelationship2 typeCode="REFR™>
<ohservation classCode="0BS™ moodCode="EVN"> .
<code code="9" codeSystem="2. 16. 840, ), 113883.3. 989, 2. 1. 1. 19" displayName="codedDrugInfermation™/>
{value xsi:type="CE” code="G,k. 10.r" codeSystem="2.16.840. 1. 113883, 3.98%. 2. 1. 1. 177/>
¢l— G, % 10.1: Additional Information on Drug (coded) (repeat as necessary) #2-1 —>
<{/observatian>
</outboundRelationship2>
{outbeundRelationship? typeCode="REFR™>
<observation classCode="0BS” moodCode="BVN">
<code code="9" codeSystem="2. 16, 840. 1. 1138832.3.989.2. 1. 1, 197 displayName="codedDrugInformatien™/>
Cvalue xsittype="CE” code="G.% 10.r" codeSystem="2, 16. 840.1, 113883, 3.980.2.1.1. 17"/>
¢l— G.k 10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 —>
{fobservation?
</outboundRelationship2>
CoutboundRelationship2 typeCade="REFR">
{observation classCode="0BS" moodCode="EVN™>
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¢code code="2" cadeSystemn="2. 16. B40, 1. 113883. 3 989 2. 1.1, 14" displayName="additionalInformation”, />
{value xsi:type="ST">G.k. 11¢/valus>
¢l— G.k 11 Additional Information on Drug (free text) #2 —>
(/obgervation>
¢/outboundRelationship2> : .
{inboundRelationship typeCode="RSON">
{ohservation classCode="0BS” moodCode="EVN">
Ccade code="10" codeSystem="2. 16. 840, 1. 113883. 3. 08%. 2. 1. 1. 18" displayName="indication”/>
¢yalue xsi:type="CE” code="G.k.7.r.2b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystenVersion="G. k. 7. 1. 2a">
{l—— G.k.7.r.2a: MedDRA Version for Indication §2-1 —>
¢l-- G.k.7:r.2b! Indication (MedDRA cede) _#2-1 —>
¢originalText>G. k. 7. r. 1</original Text>
¢!— G,k 7.1.1: Indication as Reported by the Primary Source #2~1 —>
</valoed
<performer typeCode="PRF™>
CassignedEntity classCode="ASSIGNED">
¢code code="3" codeSystem="2. 16, 840 1.113883.3.989.2. 1. 1. 217 dlsplayName— snurceReporter />
{/assignedEntity>
<{/performer>
{/observation} -
{/inboundRelationship>
<inboundRelatisnship typeCode="RSON™>
<ohservation classCode="0BS™ mondCode="EVN™>
{code code="19" codeSystew="2. 15. 840, 1, 113883. 3.989. 2. 1. 1. 19" displayName=" indication”/>
<value xsi:type="CE" code="G.k.7.r.2b" codeSystem="2. 16, 840, 1, 113B83. 6. 163" codeSystenmVersion="G.k 7.r.2a )
{l~~ 6. k. 7.1, 2a: MedDRA Version for Indication #2-2 —>
¢l— G k. 7.r. 2b: Endication (MedDRA code) #2-2 —>
¢ariginalText>G. k. 7. . 1</originalText>
¢l— G k.7.r. 1: Indication as Reported by the Primary Source §2-2 —>
</valuey - '
{performer typeCade="PRF">
(asslgnedEntltY classCode="A55IGNED™>
(code code="3" codeSyster="2. EB. 840, 1, 113883, 3,98%.2, 1. 1. 21" dlsplayName— sourceReporter D
</assignedEntity> -
</performer>
</observation>
</inboundRelationship>
<inboundRelationship typeCode="CAUS™>
¢act classCode="ACT” moodCodew EVN™>
<code code="G, k, 87 cndeSystem— 2. 16. 840, 1. 113883, 3,989, 2, 1. 1. 157/>
<!— 6.k 8: Action(s) Taken with Drug #2 —>
{fact>
</inboundkelationship>
</substanceAdninistration>
{/component>
{forganizer> =
</subject0f2>
(suhjectOf2 typeCode="SB]™>
{organizer classCode="CATEGORY" moodCode="EVN™>
{eode cade="1" codeSystem="2. 16, 840, 1. 113883.3.688.5.1. 3. 2. 1. 11 displayName="THBROITE"/>
{component typeGode="COMF™> -
{observation classCode="0BS” moodCode="EVN">
¢eade code="7" codeSystew="2, 16, 840, 1, 113883. 3. 989. 5. 1. , 2. L. 10" displayNeme="/RIHEIL"/>
<value xsiltype="INT” value="1"/>
(l— @8aJe. 13.r. 1: HHEE #1 —>
</observation?
¢/compohent>
{component typeCode="COMP™>
{ohservation classCede="0BS™ moodCode="EVN™>
Ccade code="8" codeSystew="2. 16,840, 1, 113883. 3, 969. 5, 1. 3. 2, 1. 10" displayName="3tZRM />
<valte xsi!type="ED">J2.13.1.2(/value>
<I— e@ey2. 13.r.2: idﬁﬁé% #1 —>
</observation>
{/component>
{component typeCode="COMP” )
{observation classCode="0BS" moodCode="EVYN™>
~ <eode cOdE" 9” codeSystem="2, 16, 840.'1, 113883, 3, 889. 5. 1. 3. 2. L. 10" displayName= "B,
Kvalue xsi: ttype="CE” code="J2.13.r.3" codeSystem="2. 16. 840, 1. 113883, 3,980,5,1.3.2. L.77/>
<l— @eaje. 13.r. 3: PR #2 > -
{/observation>
</component>
<compenent typeCode="COMF™>
{observation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2. 16, 840. 1. 113883. 3. 980.5. 1. 3.2. 1. 10 displayName="#F P DER OFE" >
<value xsititype="BL".value="true"/>
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<l— gseJ2. 13.r. 4 BEPOEHOFE 1 —>
{/observation>
</companent?
{forganizer>
{/subjectOf2>
<subject0f2 typeCode="SBI">
<organizer classCode="CATEGORY” moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840, 1. 113883 3.969,5.1.3.2, 1. 117 displayName="{EBRDMTR"/H
<component typeCode="COMP”>
{observation classCode="0BS" moodCode="EVN™>
<code cade="7" codeSystem="2.15. B40. 1, 113883. 3. 989. 5. 1. 3. 2. L. 10" displayName="f& HPBI¥" />
<value xsi:type="INT" value="1"/>
¢1— g@eje. 13.r.1: EHE 12 —
{/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS" mocdCode="EVN™>
{code code="8" cadeSystem="2. 16. B40. 1. 113883, 3.989. 5. 1. 3. 2. 1. 10" displayName="%1&#M7/>
{value xsi:type="ED">J2. [3.r. 2{/valued -
<l— @80J2. 13.r. 21 kM 2 —
¢/observation>
</component>
<component typeCode="COMP™>
{obsarvation ¢lassCode="DBS” moodCode="EVN™>
<code code="9" codeSystem="2. 16. 840. 1. 113883, 3, 985, 5. 1, 3, 2, 1, 10” displaylame="BEF44H"/>
{value xsi:type="CE" code="J2.13.r.3" codeSystem 2.16,840.1.113883.3.989.5.1.3. 2. L.7"/>
<1— @)z, 13.r.3: BAZE4A #2 —>
</ohservation>
¢/component>
<component typeCode="COMP™>
¢ohservation classCode="0BS" moodCode="EVN™>
{code code="10" codeSystem="2, 16. 840. 1. 113883. 3. 989, 5. 1. 3.2, 1, 107 displayName="123EP O FEH DA EH"/>
<value xsi:type="BL" value="false”™/>
<l— @g8J2. 13.r. 4; BWPOEPIOFE 42 —
{/vhservation>
</componenht>
{/organizer>
<fsubjectOf2>
</primaryRole>
{/subjectl>
{compohent typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2. 16, 840. 1. 113883, 3. 986. 2. 1. 1. 19" displayName="interventionCharacterization”/>
<value xsi:type="CE” code="6.k. 17 codeSystem="2. 16,840, 1, 113883, 3,989.2.1. 1. 13"/>
¢l— G.k 1: Characterisation of Drug Role Drug 1 ——>
{subject? typeCode="SUB]™>
{productUseReference classCode="SBADM" moodCode="EVN">
<id reot="3c01b4d5-¢039-4a7a-9c30-67671b0efFed” />
{/productUseReference>
<{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS" mondCode="EVN™>
¢code code="20" codeSystem="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 19" displayNzwe="interventionCharacterization”/>
<value xsiitype="CE” code="G.k.1" codeSystem="2. 16.840. 1. 113883.3.980.2, 1. 1. 13"/>
{l— G.k.1: Characterisation of Drug Rele Drug #2 —>
¢subject2 typeCode="SUBJ™>
{productUseReference classCode="SBADM” mcodCode="E¥N">
<id root="68d6fEce~3b3b-45c7-92dd-69e06730c3a9" />
</productlUseReference?
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP™>
CocausalityAssessment classCode="0BS” moodCode~ EVN™>
<code code="39" codeSystem="2, 16, 840, 1:113883. 3. 989. 2. 1. 1. 18" displayName="causality"/>
<value xsi:type="ST">G.k. 9.1i.Z.r.3<{/value>
¢l 6.k 9.i.2.r.3: Result of Assessment Drug #I, Reactlon #1, Assessment 1 —>

<methodCode>

{originalText>G. k. 9. i. 2. r. 2</originalText>

<l— 6.k 9.1,2.1, 2: Method of Assessment Drug #1, Reaction #1, Assessment #1 —
</methodCode>

<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
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{code>
{originalText>G. k. 9. i. 2. r. 1{/originalText>
S¢l— 6. % 9.i.2. 1. 1¢ Source of Assessment Drug #i, Reaction #1, Assessment #1 —>
<{/code>
</assignedEntity>
{/author?
<subjectl typeCode="SUB]" S
LadverseRffectReference classCode="0BS" moodCode="EVN™>
¢id root="154eb889-958b-45f2-n02f-42d4d6T 4657/
{/adverseEffectReference>
<{/suhjectl>
<subject? typeCode=" SUBJ >
¢productUseReference classCode="SBADM” mocdCode="BVN™>
¢id root="3¢91b4d5-e039-4aT2-9c30-67671b0ef9ed” />
{/productUseReference>
<{/subject2>
{/causalityAssessment>
</cemponent>
{component typeCode="COMP™>
<causalityAssessment classCode="0BS” moocdCode="EVN™>
Ccode code="39" codeSystem="2. 16. 840. 1. 113883, 2. 989, 2, 1. 1. 19° displayName="causality”/>
¢value xsi:type="ST">G.k.9.1i.2.r. 3¢/value>
¢I—6. k. 8.i.2. 1. 3: Result of Assessment Drug #1, Reaction #2, Assessment #1 —>
{methodCode>
{originalText>G k. 9. i. 2. r. 2¢/originalText>
¢l—G.k.9.1i.2. 1. 2 Method of Assessment Drug #1, Reaction #2, Assessment #1 —>
{/methodGode>
<atthor typeCode="AUT™> '
¢assignedEntity classCode="ASSIGNED">
{code>
<ar1g1nachxt>G.k.9.i.2.r.!(/originalText)
</cade)
{/assignedfntity>
</author>
<subject]l typeCode="SUBJ™>
{adverseEffectReference classCode="0BS” mondCode—"EVN >
<id reot="2baa?8d6-cIeB-4ebe—03e9- 5b860b314220 Pl
{/adverseEffectReference>
¢/subjectl>
{subject2 typeCade="SUBJ">
¢productUseRefersnce classCode="SEADM™ moodCode="EVN™>
<id root="3c91bdd5-e038-4a7a-G¢30-67671b0af9ed” />
</productUseReference>
¢/subject2>
{/causalityAssessment>
</component>
<camponent typeCode="COMP">
{causalityAssessment classCode="0BS" moodCode="EVN">
<eode code="39" codeSystem="2, 16. 840. 1. 113883, 3,980.2. 1. 1. 19" displayName="causality”/>
(value xsiitype="ST™>C. k. 9.i. 2 r.3</value>
¢1—G.k.9.1. 2. 7. 3: Result of Assessment Drug #2, Reaction #2, Assessment #1 —>
{methodCode>
CoriginalText>G. k. 9. i. 2. r. 2{/originalText>
(1--G. k. 9.i.2.r. 2! Method of Assessment Drug #2, Reaction #2, Assessment #1 -
</methodCode>
<author typeCode="AUT">
¢assignedEntity classCode="ASSIGNED™>
{code?
CoriginalText>G, k. 8. i. 2. r. 1</originalText>
- G.k.09.i.2.x. 1! Source of Assessment Drug #2, Reaction #2, Assessment #1 —>
</code?
{fassignedEntity>
{/author>
¢subjectl typeCode="SUBJ™>
{adverseEffectReference classCode="0BS” moodCode="EVN™>
<id root='2baa28dﬁ—cge3—426c-9359—5b35Db314220”/)
</adverseEffectReference>
¢/subject]>
{subject2 typeCode="SUBJ">
{productlseReference classCode="SBADM” moodCode="EVN">
<id root="68d6fbce-3b3b-45cT-92dd-69e06730c329" />
{/productUseReference>
{/subject2>
{/causalityAssessment>
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</component>
<component typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCade="EVN™>
<code code="39" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. L. 1, 19" displayName="causality”/>
Cvalue xsictype="ST™>G.k. 9.1i.2.r.3</value>

¢1—G.k 9.i.2.1.3: Result of Assessment Drug #2, Reaction #2, Assessment #2 — ’
{methodCede>

<eriginalText>G. k. 9.1, 2, r, 2{/originalText>

<}—G.k.9.4.2.7.2: Method of Assessment Drug #2, Reaction #2, Assessment #2 —>
</methadCode>

<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED™>
<eode>
<nr1g1nalText>G.k.9.1.2.r.1</0r]g1nalText>
<t— G.k.9.1.2.r.1: Source of Assessment Drug &2, Reaction #2, Assessment #2 —>
<feode> .
{/assignedEntity>
/author>
<subjectl typeCode="SUBJ™>
CadverseEffectReference classCode="0BS" moodCode="EVN™>
<id root="2baa28d6-c9e8-dehe—53e9-6bBG60DI14220%/>
{fadverseEffeciReference>
¢/subjectl> )
¢suhject? typeCode="SUB]™>
{productUseReforence classCode="SEADM™ moodCode="EVN™>
<id root="6Bd6f5ce-3b3b—45c7-92dd-60e06730c3a0" />
{/productlseReference’
</subject2>
{/causalityAssessment>
{/component>
<componentl typsCode="COMP">
{vbservationEvent c¢lassCode="0B5" moodCode="EVN™>
<code code="10" codeSystem="2. 16. B40. 1. 113883, 3. 989, 2. 1. 1. 197 displayName="comment”/>
<value xsi:type="ED™MI. 2</value>
<l— H.2: Reporter’ s Comments —->
<author typeCode="AUT™>
CassignedEntity classCode="ASSIGNED™>
{code code="3" codeSystem="2, 16, 840, 1. 113883. 3.989.2. 1. 1. 21" d1splayName— sourceReporter”/>
{fasasignedEntity>
{/authory .
{/ohservationEvent>
</tcomponent1>
{componentl typeCode="COMP”>
{observationBvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. I9" displayName="diagnosis"/>
{valpe xsiitype="CE” code="H.3.r.1b" ccdeSystew="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="H.3.1.1a"/>
¢l— {. 3.1, la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #l ——>
<l— #. 3. r. 1h! Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #1 —>
<author typeCode="AUT™> }
{assignedBntity elassCode="ASSIGNED">
{code code="1" codeSysten="2.16. 840. 1, 113893. 3. 989, 2, 1. 1. 217 displayName="sender”/>
{/assighedEntity>
{/author>
<{/chservationEvent>
{/componentI>
{componentl typeCode="CONP™>
<observationEvent classCode="0BS” moodCode="EVN">
(code code="15" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1, 18" displayName="diagnosis"/>
<value xsi:type="CE* code="H.3.r.1b" codeSystem="2.16. 840. I. 113883. 6. 163" codeSystemVersion="H.3.1.1a"/>
¢1— H.3.1.1a: MedDRA Version for Sender's Diaghosis / Syndrome and / or Reclassification of Reactjon / Event #2 —>
¢!— H.3.1.1b° Sender’ s Diagnosis / Syndrome and / cr Reclassification of Reaction / Event (MedDRA code) #2 ——>
¢author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™> |
{code cade="1" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 21" displayName="sender”/>
{/assignedEntity>
¢/author>
</abservationEvent>
<fcomponentl>
<copponent® typeCode="COMP™>
{chservationEvent classCode="0BS" moodCode="EVN">
<code code="10" codeSystem="2.16.840. 1. 113883, 3,989, 2, 1,1, 19" displayName="comment”/>
Cyalue xsiitype="ED">H. 4</value>
{I— H.4: Sender's Comments —>
Cauthor typeCode="AUT”>
{assignedEntity classCode="ASSIGNED™>
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¢eode code="1" codeSystem="2. 16. 840. 1. 113883, 3,989.2. 1. 1. 21" displayName="sender"/>
{/assignedEntity>
</author>
{/observationEvent>
</component1>
<componentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
¢code code="3" codeSystem— 2,16, 840, 1, 113883. 3, 989.5.1.3. 2. 1. 10" dlsplayNameﬁ'ﬂemT[.jd'g‘E;:l;l VR
<value xsi:type="ED">J2. 7. 2<{/value>
{1— 28@J2.7.2: METIATDIAL P —>
{/chservationEvent> )
</componentl>
{componentl typeCode="COMF™>
{obgervationEvent classCode="0BS" mocdCode="EVN™>
‘code code="4" codeSystem="2.15. 840. |, }13B83.3.989.5. 1. 3. 2. . 10" displayName="ISZfE 0 M LR/
<value xsi:iype="ED”»J2.9¢/value>
<|— @aaJ2. 9: BREOHRBE —
{/observationEvent> -
</componentl>
{cemponent]l typeCode="COMP™>
{observationEvent classCode="0BS” moodCcde— EVN™>
Céode code="5" cedeSystem="2, 16,840, 1, 113883.3.989.5.1.3. 2. 1. 10" dlsplayNamen'é?ﬂﬁﬂ)iTFh />
{value xsi:type="ED">J2. 10<{/value
!— emsaj2. 10: SEHEOHE —>
</observationEvent)
{/comporent1>
{component]l typeCode="COMP™>
{observationEvent classCode— 0B5* moodCode="EVN">
<code code="6" codeSysten="2. 16, 840, 1, 113883. 3.988.5.1.3.2.1.10” dlsplayName—'ﬁEF)ﬂhi$3§§3§§%$”/>
<value xsi:type="ED">J2.11</value>
<-- geeJ2. 11: TOMBHXYHG —
{/observatioatvent>
{/componentl>
{compenentl typeCode="COMP™>
{observationEvent classCode="0B3" meodCode="EVN">
Ccode code="12" codeSystem="2. 16. B40. . 113883. 3. 989. 5. 1. 3. 2. 1. 10" displapNane="SRSMEDEAL"/
<value xsi:type="ED">J2.16{/value>
<1— @eeJz.16: MEAFDER —
{/observationEvent>
¢/component1>
{componentl typeCode="COMP™> ~
{observationEvent classCode="0BS" moodCode="EVN">
{code code="13" codeSystew="2. 16. 840, 1, 113883.3.989. 5. 1.3, 2. 1. 10" displayName="{iZ&1"/>
<value xsiitype= "ED">J2. 19</value>
<l— apayz. 19: f#iE —
{/ohservationEvent>
{/componentl>
{compenentl typeCode="COMF™>
{observationEvent classCode="0BS” noodCode="EVYN">
{code code="14" codeSysten=" *2, 16. 840, 1, 113883. 3. 989, 5. 1. 3. 2. 1. 10" displayName="{i352"/>
<value xsi:type="ED">]2, 20</value Coe
¢1— @geJ2. 20: {EH2 —>
</observationEvent>
</component1>
{compenentl typeCoda="COMP™>
{ohservationEvent classCade="0BS™ moodCode="EVN">
<code code="15" codeSystem="2, 6. 840, 1, 113883. 3 989.5.1.3.2. 1. 10% displavName="HEE3"/>
<value x=iitype="ED">]2, 21{/value>
<1-- @@ay2.21: H=E3 —
{/observationEvent>
</component1}
<compenent]l typeCode="COMP™>
{observationEvent classCode="0BS" moodCade="EVN™> :
Ccode code="16" codeSystem="2. 15. §40, }, 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayNeme="{54"/>
<yalue xsi:type="ED">J2, 22{/value
<!— 8@@J2.22: %4 —>
{/observationEvent>"
{/component1>
{fadverseEventAssessment>

¢

</cotponent>

{component typeCode="COMP™>
{observationEvent classCode="085" moodCode="EVN">
<code eode="1" codeSystem="2. 16.840. I, 113883, 3.980.2. 1. 1. 197 dlsplaYName— additionalDocumentsAvailable”™/>
<value xsi:type="BL" value="true"/>
<l-- €. 1.6.1: Are Additional Documents Available? —>
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{/observationEvent?
</component>
<component typeCode="COMP">
{observationEvent classCade="0BS™ moodCode="EVN™>
<code code="23" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1. 1. 197 displayName="localCriteriaForExpedited”/>
<value xsi:type="BL" value="true”/>
¢l— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
¢/observationEvent>
</component>
<eomponent typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN™>
<code code="36" codeSystewm="2.16. 840, 1, 113883, 3,989, 2, 1.1, 197 displayName="summaryAndComment”/>
<value zsi:type="ED” language="H. 5. r.1h7>H, 5. 1. 1a</value>
¢]— H.B.r, la: Case Summary and Reporter’s Comments Text #1 —>
¢l-— H.5.r.1b: Case Summary and Reporter's Comments Language ¥l —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{code code="2" codeSystem="2. 16. 840, 1. 113863.3.989. 2. 1. 1. 21" displayNeme="reporter”/>
{/assighedBntity>
{/author>
{/observationEvent>
{/component”
{component typeCode="COMP™>
<ohservationEvent classCode="0BS” moodCede="EVN™>
{code code="36" codeSystem="2. 15, 840. 1. 113883, 3. 980, 2, 1. 1. 19" displayName="summaryAndComment™/> -
Cvalve xsiltype="BD" language="H. 5. r.1b™>H. 5, 1, 1al/value>
¢!— H.5.r.1a: Case Summary and Reporter’s Comments Text #2 —>
¢t— H.5.r.1b: Case Summary and Reporter’s Comments Language §Z —>
Catithor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
{code code="2" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 21" displayName="reporter”/>
{/assignedBntity>
</author>
</observationEvent>
{/component>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG™ meodCode="EYN™>
{code code="1" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 22" displayName="initialReport”/>
(subjectDf2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>
Zauthor typeCode="AUT™>
<assignedEntity classCode="ASSEGNED">
<code code="C.1.8.2" codeSystem="2. 16.540. 1. 113883,3,089,.2.1. 1,37/
<l— €.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
</controlActEvent>
{/subject0f2>
¢/relatedInvestigation>
{/outboundRelationship>
<outbsundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
<code nullFlavor="NA"/>
(subject0f2 typeCode="SUBJ">
{controlictEvent classCode="CACT” moodCode="EVN™>
<id extension="C. 1. 10.r” root="2. 16.840. 1. 113883, 3.989.2. 1.3.2"/>
€]-- C.1.10.r: Identification Number of the Report ¥Which Is Linked to This Report (repeat as necessary) #1
{/controlAciEvent?
{/subject0f2>
¢/relatedInvestigation>
<{/outboundRelationship>
<outboundRelationship typeCade="SPRT™>
{relatedInvestigation classCode="INVSTG" moodCode="E¥N™>
{cede nullFlavor="NA"/>
¢stibjectOf2 typeCade="SUBJ">
<controlActEvent classCode="CAGT” moodCode="EVN™>
{id extension="C, 1. 10, r" root="2.16. 840. 1. 113883. 3. 989. 2. 1. 3. 2" /> .
. ¢l— C.1.10.r: Identification Mumber of the Report Which Is Linked to this Report (repeat as necessary} #2 —>
</contraldctEvent>
</subjectGf2>
</relatedInvestigation>
¢/outhoundRelationship?
<putboundRelaticnship typeCode="SPRT™>
CpriorityNumber value="1"/>
¢|— C.2.r.5: Primary Source for Regulatory Purposes Hl —>
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<relatedInvestigation c¢lassCade="INVSTG” moodCode="EVN™>
<cade code="2" codeSystem="2. 16. 840.1. 113883. 3.989.2. 1. 1. 227 dzsplayName~ sourceReport” />
{gubjectOf? typeCode=" SUBJ >
(zontrolActEvent classCode="CACT™ moodCode="EVN™>
{author typeCode="AUT™>
CassignedBntity classCode="ASSIGNED™>
<addr>
{streetAddressLine>C. 2.r. 2. 3</streetn\ddressLme>
{1 €.2.r. 2.3 Reporter's Street #l —>
<city»GC. 2. r. 2. 44 /city>
{l— C.2. 1.2, 4: Reporter’s City #1 —>
¢statedC. 2. 1. 2. 5¢/state
<l-— C.2.r.2.5: Reporter’'s State or Province #1 ——>
<postalCode>C, 2, 1. 2. B</postalCode>
<l— €. 2.1, 2.6° Reporter’' s Postcode #1 —>
{/addr>
<telecom value="tel:C.2.r.2.77/>
¢l— C.2.1.2.7: Reporter's Telephone #1 —>
{assignedPerson classCode="PSN” determinerCode="INSTANCE™>
<{name?
<prefix>C. 2. 1. 1, 1</prefix>
<l— G, 2.7r.1.1: Reporter's Title #1 —>
{given>C. 2. 1. 1, 2</given>
{— €.2.r.1.2: Reporter’ s Given Name #1 —>
<given>C, 2. r. 1. 3¢/given>
{l=— C.2.r.1.3: Reporter’ s Middle Name H1 -->
{family>C. 2. r. 1. 4</family>
{!-— C.2.1.1.4: Reporter’ s Family Name #1 —>
</name>
CasQualifiedEntity classCode="QUAL™>
{code code="C. 2, r.4” codeSysten="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1.67/>
¢}— C,2,r.4: Qualification #1 —>
</asQualifiedEntity> ’
{asLocatedButity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.2.1.3" codeSystem="1.0.3166.-1, 2,27/
¢]— C.2.r.3: Reporter’ s Gountry Code #1 —>
{/location? ’
{/asLocatedBntity> -
{/assignedPerson>
(representedOrganization classCode="ORG™ determinerCode=" INSTANCE >
{name>C. 2. r. 2. 2</name>
¢l— C.2.r.2.2: Reporter’ s Department §1 —>
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG” determinerCode=" INSTANCE )
{nawe>C. % r. 2. 1{/name>
<!— C.2.1.2.1: Reporter’ s Orgenisation #1 —>
{/representedOrganization?
{/assignedEntity> .
{/representedOrganization>
¢/assignedEntity> ,
</author? :
' {/controlActEvent>
</subject0f2>
¢/relatedInvestigation>
{/outboundRelaticnship> .
<outboundRelationship typeCode="SPRT™>
{rolatedTnvestigation classCode="INVSTG”" moodCode="EVN™>
{code code="2" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 22" displayName=" sourceReport'/>
{subject0f2 typeCode="SUBJ™>
{eontrolActEvent classCode="CACT" moodCode="EVN">
(author typeCade="aUT™>
<assighedBntity c¢lassCode="ASSIGNED”>
{addr>
{streetAddressLine>C. 2. r. 2. 3¢/streethddressLine>
{l-- C.2.r.2.3: Reporter's Street #2z —>
CcitydC. 2.1, 2. 4</city>
<{l— C.2.r.2.4: Reporter's City H2 —> .
<statedC. 2.r. 2, 5{/stated '
<l-- €. 2.r.2.5: Reporter’s State or Province #2 —> .
<postalCode>C, 2. r. 2. 6</postalCode>
<|— €. 2.1r. 2. 6! Reporter’ s Posteode #2 —>
{/addr>
<telecom value="tel:C.2.r.2.77/>
<l=— C,2.r.2.7 Reporter’ s Telephone #2 —>
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¢assignedPerson classCode="PSN™ determinerCode="TINSTANCE™>
{name> '
{prefixdC, 2.1, 1. E{/prefix>
¢le~ C.2.r.1.1: Reporter's Title #2 —>
{given>C. 2. 1. 1. 2{/given>
{1~ C.2.r.1.2: Reporter's Given Name HZ —>
<given>C. 2. 1. 1. 3¢/given>
¢l=- £.2.r.1.3: Reporter’'s Middle Name #2 —>
{family>C. 2. 1. 1. 4¢/Tanily>
{!— 2. r.1.4: Reporter' s Family Nome #2 >
</name>
<asQualifiedEntity classCode="QUAL">
¢code code="C.2.1.4" codeSystem="2, 16, §40. 1. 1£3883. 3.980.2. 1. 1.6"/>
¢(I— € 2, r.4; Qualification #2 —>
{fasQualifiedEntity>
<asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="TNSTANCE™>
¢code code="C.Z2.r.3" codeSystem="1.0.3L66.1.2.27/>
¢}—- C.2.1.3: Reporter’s Country Code #2 -->
</location>
{faslocatedEntity>
¢/assignedPerson>
<representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
{name>C, 2, 1. 2, 2¢/name>
<{— C.2.r.2. 2! Reportar’s Department #2 —>
{assignedEntity classCode="ASSIGNED")’
CrepresentedOrganization classCode="ORG" determinerCode="INSTANCE™>
<name>C, 2, r. 2. 1{/name>
¢I— C.2.r.2.1: Reperter's Organisation #2 —>
{/representedQrganization>
</assignedEntity>
{/representedrganization>
{/assignedBntity>
</author> .
</controlActEvent>
{/subject0f2>
</relatedlnvestigation>
¢/outhoundRelationshipy
¢subject0f]l typeCode="SUBJ">
{controlActEvent classCode="CACT" moodCode="EVN™>
<author typeCode="AUT™>
<agsignedBntity classCode="ASSIGNED™> '
{code code="C.3.1" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. .7"/>
<!— C.3.1: Sender Type —>
<addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
¢1—.C.3.4.1: Sender’s Street Address —>
{eity>C. 3 4. 2¢/city>
{4 C.3.4.2: Sender’s City —>
{state>C. 3. 4. 3{/state>
{!-— C.3.4.3: Sender's State or Prevince —>
</addr>
<telecom value="tel:C.3.4.6"/>
¢l— €.3. 4. 6: Sender’ s Telephone —>
<telecom value="fax:C.3.4.77/>
¢l— C.3,4.7: Sender’ s Fax —>
<telecom value="majlto:C.3.4,87/>
{l— C.3.4.8: Sender's E-wail Address —>
¢assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name>
<prefix>C. 3. 3. 2{/prefix>
¢1— (.3.3.2: Sender’s Title —>
{given>C, 3, 3, 3¢/given>
¢]— C.3.3.3: Sender’ s Given Name —>
<given>C. 3. 3. 4<{/given>
{1—— (. 3.3.4: Sender’ s Middle Name ——>
{Family>C, 3, 3. B¢/ family>
¢) C.3.3.5: Sender’ s Family Name —> -
</name>
¢asLocatedEntity classCode="LOCE™>
Qocation classCode="COUNIRY™ determinerCode="INSTANCE™>
¢code code="C.3. 4.5 codeSysten="1.0.3166.1.2.27/>
¢l C.3.4.5: Sender’ s Country Code —>
</location>
</asLocatedEntity>
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¢fassignedPerscn>
<representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<name’C. 3. 2<{/name>
<l— £.3.2: Sender’'s Drganlsatlon )
</represented0rganization’
{/assignedEntity>
<fauthor>
<primaryInformationRecipient typeCode="PRCP™>
<assignedEntity classCode="ASSIGNED™> . .
<assignedPersan classCode="PSN” determinerCode="INSTANCE™> .
{name> .
<prefix>J2. 18, 2</prefix>
<l— 888J2.18.2: B{EHK FEZ —
<family>J2. 18. 3</family>
<1— @@aJz. 18.3: EEH M —
{given>J2, 18, 4</given>
<l— @g@rz. 18.4: 2ER &
<{/name>
{/assignedPerson>
<representedOrganization classCode="0RG" determinerCode="INSTANCE"?
<name>J2. 18. 1</hame>
<l— 88@J2.18. 1: BIEHE gL —
</representedfrganization>
{/assignedEntity>
{/primaryInformationRecipient?
{/controlActEvent>
</subjectOf1>
{subject0fl typeCode="SUBJ™>
{controlActEvent classCode="CACT" moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1.r.2" root="2 16, 840, 1, 113883. 3,989.2. 1. 3. 3"/
¢l— €.1.9.1.r.1: Source(s) of the Case Identificr {vepeat as necessary) #1 -—> i
¢l— £.1.9.1.r.2 Case Identifier(s) #1 —>
{/controlictEvent>
{fsubjectdf1> .
¢subjectOfl typeCode="SUBJ™>
<controlActEvent classCede="CACT” moodCode="EYN">
¢id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9.1.r. 2" root="2. 16, 844, 1, 113883 3.989.2.1. 3. 3”/)
{3~ 0. 1.9.1.r. 1} Source(s) of the Case Identifier (repeat as necessary) #2 ——>
<}J— C.1.9.1.r. 2 Case Identifier(s) #2 -—>
</controlActEvent> ’
{/subject0f1>
<subjectDF2 typeCode="SUB}™>
<investigationCharacteristic classCode="0BS” moodCode="EVN" >
{code code="1" codeSystem="2. 16. 840, 1. 113883, 3. 988. 2. 1. 1. 23" displayName="ichReportType™/>
¢yalue xsiitype="CE” code="C. L. 3" codeSysten="2.16.840.1.113883.3,989.2. 1.1, 2/>
<I-- C. 1.3 Type of Report —>
{/investigationCharacteristic>
{/subjectOfZ>
{subject0f2 typeCode="SUB]">
CinvestigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 23" d1sp1ayName— "otherCaselds”/>
Cvalue xsi:type="BEL" value="true"/>
¢]-- C.1.8.1 Other Case Identificrs in Previcus Transmissions -—>
{/investigationCharacteristic>
{/subjectOf2>
¢sub ject0f2 typeCode="SUB]">
{investigationCharacteristic c¢lassCode="0BS™ moodCode="EVN™>
¢code code="3" codeSystem="2. 16. 840. 1. 113883, 3.989. 2, 1. 1. 23" displayName="nuilificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.17 codeSysten="2. 16, 840, 1, 113883, 3.989,2.1.1.5"/>
<l=- C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic>
¢/subjectdf2>
{subject0fZ typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentReason /)
<value xsi:type="CE™>
* {originalText>C. L. 11. 2¢foriginalText>
¢l—- C.1.1L 2: Reason for Nullification / Amendment —>
{/value>
<finvestigationCharacteristic>
</subject0f2> . ) . .
{sub jectDf2 typeCode="SUBJ]">
<investigationCharacteristic classCodé=" GBS moodCode="EVN™>
¢code code="1" codeSystem="2. 16, 840, 1. 113883. 3.986.5,1.3.2. 1. 127 dlspla)’Name—'ﬁﬁU%‘%‘ (s "0
¢value xsi:type="CE" code="J2, 1a” codeSysten="2.16.840.1. 113883.3.989.5.1.3.2. 1.1"/>
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<|— geaJz. la: WHIES (HELHBE) —
{/investigationCharacteristic>
</sub ject0f2>
¢suhject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS" mocodCode="EVN™>
<code code="2" codeSystem="2. 16, 840, 1. 113883. 3.989. 5. 1. 3. 2. 1. 12" displayName="$2$5EHK A "/>
{value xsi:type="T5" value="20130107"/>
<l-- g@ej2.2.1: MERER — ‘
</investigaticnCharacteristic»
</sub ject0f2>
{subjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” mcodCode="EVN™>
<code code="3" codeSystem="2, 16, 840, [, 113883. 3.989. 5, 1, 3. 2. 1. 127 displayName="@&EHE HZBFT 532+,
Cvalue xsi:type="ED">J2.2.2¢/value>
<J-- 800J2.2.2: MERBERIETI2AXF —
{/investigationCharacteristic)
</subject0f2>
{subject0f2 typeCode="SUBJ">
<investigationCharacteristic c¢lassCode="0BS" moodCode="EWN™>
<code code="4" codeSystem="2, 16, B40. 1. 113883. 3. 989, 5, 1. 3. 2. 1. 12" displayName="E)Eifits 7 5 &7 />
{value xsi:type="CE” code="J2.3" codeSystem="2, L6.E40. 1.113883.3,989.5.1.3.2.1.2"/>
<l— eeaya2. 3: MEFRET S —>
{/investigationCharacteristiec>
<{/subject0f2>
<{subject0f2 typeCode="SUB]™>
¢investigationCharacteristic classCode="0BS" moodCade="E¥N">
{code code="B" codeSystem="2. 16.840. 1. 113883. 3. 980. 5. 1. 3. 2. 1. 127 displayName="4R&EX RN 75 77/
¢value xsi:type="CE" code="J2.8.1" codeSystem="2. 16. 840 1 [13883.3.989.5.1.3.2. L. 6"/> .
- (l— @enJz.8. 1 |EHRA TS —>
</investigationCharacteristic>
</5ubject0f2>
<subject0f2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS™ moodCode="EVN™> .
(eode code="6" codeSystem="2.16.840. 1. 113883. 3. 989.5. 1.3. 2. 1. 127 displayName="$R &3R4 DMH "/
<value xsi:type="ED">]2.8. 2{/value>
<I— ea8]2.8.2: REHSHAOMEE —>
{/investigationCharacteristic>
¢fsub ject0f2>
{/investigationEvent>
¢/subject>
<fcontrolActProcess?
</PORR_IN049016UV>
<!-- Yessage #1 —>
d— Message #2 —>
<!-— PORR_IND490160V —>
 ¢l— /PORR_INGAOMI6WV ——>
" (l-— Message #2 —
<receiver typeCode="RCV™>
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N. 1, 4" root="2, 16.840.1 113883.3.989.2.1.3.14"">
¢{1— N.1.4: Batch Receiver ldentifier —>
/device) -
{/receiver>
{sender typeCode="SND">
¢device classCode="DEV" determinerCode="INSTANCE™>
{id extensian="N.!.3" root="2.16. 840. 1. 113883. 3. 989.2.1.3.13"/>
<l-- N.1.3: Batch Sender Identifier —>
¢/device> .
{/sender>
</MCCI_IN200100UVOL>
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BRA L AE A (REE)

{?xml version="1.0" encoding="UTF-8"7>
CUCCT_IN200100UY01 TTSVersion="XML_1.0" xsi:schemalocation="urn:h17-org:v3 HCCI_IN200100UV01. xsd” xmlns="urn:hl7-orgiv3” xmlns:xsi="http://wew. w3, org/
2001/XMLSchema-instance”™> ’
<id extensmn— "N, 1.2" root="2, 6. 840. 1. 113883. 3. 989, 2, 1, 3. 22" /)
¢t— N.1.2: Batch Number —> . . . . ST - . . -
{creationTime value="201012141516177/>
{J—— N.1.5: Date of Batch Transmission >
{responsedodeCode code="D"/>
(interactionld extension="HCCI_INZ00100UVO1" root="2. 16.840. 1. 113883.1.6"/>
<name code="N. 1.1” codeSystem="2: 16,840, 1, 113883, 3.989.2.1.1.1°/>
<l=- N.1.1: Type of Messages in Batch —)
{l— Message #1 —>
<PORR__INQ42016UV> -
<id extension="N.2.r.1” reot="2.16.840. 1. 113883.3.989.2.1.3.1°/>
<l-= N.2.r.1: Message Tdentifier —>
{ereationTime value="20101214151617"/>
~¢l— N.2,r.4: Date of Message Creation —>
¢interactionId extension="FORR_INO4B016UV" root="2. 16. 840, 1. 113833 1,68"/>
{processingCode code="P"/>
<processingdodeCode code="1"/>
<acceptickCode code="AL"/>
<receiver typeCode="RCV™>
<dev1ce classCode="DEY” determinerCode="" INSTANCE b4
<id extensicn="N.Z.r.3" root="2. 16, 840_1.113883.3.98%. 2. 1.3. 12"/
¢1— N.2.r.3: Message Receiver Identifier —>
<{/device?
{freceiver>
¢sender typeCode="SND">
<device classCode="DEV" determinerCode="INSTANCE™>

<id extension="N.2.r.Z" root="2.16.840,1.113883.3.989.2.1.3.11°/> o
l— N.2.r.2: Message Sender Identifier ——>
</device> -
{/sender? -

_ <controlActProcess classCode="CACT” 1eoodCode="EYN">
<code code="PORR_TEQ4Y90161V”~ codeSystem="2. 16. 840. 1. 113883, 1, 187/>
<!— HLT Trigger Event ID —>
<effectiveTime value="20101214151617"/>
¢l-~ C.1.2! Date of Creation —>
<subject typeCode="SUBJ™>
¢investigationEvent classCoede="INVSTG" moodCode="EYN">
¢id extension="C.1.1" rest="2, 16. 340, I. 113883.3.989.2.1.3.17/>
¢l-— €. 1. 17 Sendsr’ s (c¢ase) Safety Report Unigue Identifier —>
¢id extension="C.1.8.1" root="2,16. 840.1.113883,3.689.2.1.3.27/>
¢l— €. 1,8.1: Worldwide Unique Case Identification Number —>
¢id extension="J2, Ib" root="2.16.840, 1, 113883.3.980.5.1.3.2.3. 1"/
(l—- geaJz. 1b: WAEE (FF) —
¢code code="PAT_ADY_EVNT” codeSystem="2.16.840,1, 113883.5.4"/>
CCtextPH 1</ text>
¢l—- H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcoms and Additional Relevant Information —>
{statusCode code="active™/>
¢l— 008]2.7.1 &T. RETES —>
{effectiveTime>
<low value="200901017/>
¢|— C,1,4: Date Report Was First Received from Source —>
{/effectiveTime>
¢availabilityTime value="2009010F7/>
¢l— €. 1.5: Date of Most Recent Information for This Report -->
{reference typeCode="REFR™>
<document classCode="DOC" woodCede="EVN">
{code code="2" codeSystem="2. 16. 84D, 1. 113883. 3. 989, 2, 1. 1, 27" displayName="1iteratureReforence”/>
- <title>J2, 17. ré/title>
- geaJ2. 17.r BB/ TEOSE #1
<text mediaType="application/pdf” representation= "B547>C. 4. r. 2</text)
{le="¢C.4, 1. 2! Included Documents #1 —> :
<bibliographicDesignationText>C, 4. 1. 1{/bibliographicDesignationText>
¢l— C.4.1.1: Literature Reference(s) #1 —>
‘{participation typeCode="AUT™>
¢assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="ORG”™ determinanade=’INSTANCE”>
<asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="J2,15. 1" codeSystem="1.0. 3166. 1. 2,27/
<|— aeeyz, 16.r ARE #1 —
{/location>
{/aslocatedEntity> -



 &/representedOrganization>
{/assignedEntity> -
{/participation>
</document)>
</reference> .
<reference typeCode="REFR™>
<document classCode="DOC” moodCode="EVN™>
{code code="2" codeSystem="2. 16. 840, 1. 113883, 3,989.2. I. 1. 27" displayName="1iteratureReference”/>
<title>J2, 17, r</titled
<!— 8@8aJ2.17.r B /HIREDE #2
{text mediaType="application/pdf” representation="BE4™)C, 4. r.2{/text>
<!— C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1¢{/bibliegraphicDesignationText>
¢l— € 4.r.1: Literature Reference(s) §2 —>
{participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG" determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE">
{location classCode="COUNTRY” determinerCode="INSTAKCE™>
<code code="J2, 15, r” codeSystem="1.0. 3166. 1.2.27/>
<— 868J2.15.r &XE #2 —>
{/location?
{/aslocatedEntity>
{/representedOrganization> R
{/assignedEntity>
{/participation>
</document?
</reference>
<component typeCode="COMP">
<adverseBventAssessment ¢lassCode="INVSTG” moodCode="EVN">
<subjectl typeCode="SB]">
<primaryRole classCode="INVSBJ">
¢playerl classCode="PSN” determinerCode="INSTANCE"/>
<subjectOf1 typeCode="SB]"> Co
{researchStudy classCode="CLNTRL" woodCode="BYN™>
<id extension="C.5.3" roat="2, 16,840, 1. 113883.3.989.2.1.3.57/>
{!— C.5.3: Sponser Study Number ——>
Ccode code="C.5.4" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2, 1, 1,87 />
<l—— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —>
<title>C. 5. 2</title>
<l— C. 6.2 Stody Name —>
{authorizaticn typeCode="AUTH">
{studyRegistration classCode="ACT” mocdCode="EVN">
¢id extension="C.5. 1.1, 1" roat="2. 16.840. 1. 1}38683. 3.989. 2. 1. 3.6 />
<J— C.5.L.r.1: Study Registration Number #1 —>
<author typeCode="AUT">
{territorialAuthority classCode="TERR">
{gaverningPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C.5.1.xr. 2" codeSystew="1.90. 3166.1,2.27/>
<t— C.5.1.r.2: Study Registration Country #1 ——>
</gaverningPlace>
{/territorialAuthority>
</author>
{/studyRegistration>
¢/authorization>
Cauthorization typeCode="AUTH™>
{studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C, 5. 1.r.,1” root="2.16.840. 1. 113883, 3. 989. 2. 1. 3, 6"/>
<I-- C.5.1.r.1 Study Registration Number #2 —>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY” determinerCede="INSTANCE">
{code code="C.5.1.r.2" codeSystem="1.0.3166.1.2.27/>
¢l— €.5.1.xr.2: Study Registration Country #2 —>
</governingPlace>
{/territorialAuthorityd
{/author>
</studyRegistration>
{/authorization>
{/researchStudy>
{/subject0f1>
¢subject0f2 typeCade="SB]">
{organizer classCode="CATEGORY" maodCode="EVN™>
<code code="4" codeSystem="2. 16, 840, 1, 113883, 3, 989.2.1. 1. 20" displayName="drugInformation”/>
¢l— 6.k Drug(s) Information (repeat as necessary) #I —>
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$comprnent typeCode="COMP™>
{substanceAdninistration classCode="SBADM" moodCode="EVN">
<id roct="3c81bdd5-e039-4aT7a~9c30-67671b0efDed” />
<{consumable typeCode="CSK™>
{instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND"™>
¢code code="G.k.2.1.1b" codeSystem="TBD-MPIN"/>
<l— G.k.2.1.1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2{/hame>
<l— G,k 2.2: Medicinal Praduct Name as Reported hy the Primary Source #1 —>
<asManufacturedProduct classCode="WANU™>
{subject0f typeCode="SBJ">
{approval classCode="CNTRCT" moodCode="EVN™>
<id extension="0.k. 3. 17 roct="2.16.840.1.113883.3.989.2.1.3.14"/>
<I-- 6.k 3.1: Authorisation / Application Number #l —>
<author typeCode="AUT">
{territorialAuthority classCode="TERR™>
<territory classCode="NAT" determinerCede="INSTANCE >
{code -code="G. k. 3. 2" codeSysten="1.0.3166.1.2.2"/>
<l— G.% 3.2: Country of Authorisation / Application #I —>
{/territery>
(/terrltorlalAuthorlty>
{/author>
<{pertinentInformatien t]rpeCnde— PERT"> : . .
¢policy classCode="POLICY" moadCode="EVN">

<code code="J2. 5. k" codeSystem="2. 16, 840, 1. 113883, 3.989.5.1.3,2, 1. 4°/>
— eeale.b. ki —RKAERMFOY AFEHE #1 —>
{/policy> .
¢/pertinentInformation>
{/approval>
© {/subject0f>

<subjectOf typeCode="SEJ™>
{characteristic classCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2, 16, 840. I, 113883. 3.080.5. 1. 3. 2. 1. 10" displayNeme="$FEIEREDORIRER"/>
Kyalue. xsi:iype="CE" code="]2.4. k" codeSystem="2. 16. 840, 1. 113883. 3.989.5.1.3.2.1.3"/>
<]-- eeeJz. 4. k: HEFESFORRES #1 —> .
{/characteristic>
</subject0f>
{/asManufacturedProduct>
CasSpecializedKind classCode="GEN">
<generalizedifaterialKind classCode="MAT" determinerCode="KIND">
<{code>
<originalText>]J2. 12<{/ariginalText>
<l— eaJe.12: BERASRE —>
</cade>
</generalizedMaterialKind>
</asSpecializedKind>
<ingredient classCode="ACTI™>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G. k. 2.3.r.2b" codeSystem="TBD-Substance”/>
{l-- G.k.2.3. 1. 2b: Substance / Specified Substance TemID‘#l—l )
<{name>G. k. 2, 3. r. 1<{/name>
¢l-- G.k.2.3.1.1: Substance / Specified Sthstance Name #1-1 —>
{/ingredientSubstance>
</ingredient>
<ingredient classCode="ACTI™>
<ingredientSubstance classCode="MMAT" determinerfode="KIND">
<code code="G.k. 2. 3.1.2b" codeSysten="TBI-Substance’/>
€= G.% 2.3, v,2b: Substance / Specified Substance TermID #1-2 -—>
<namedG. k. 2. 3. 1. 1{/nane>
{l— G.k.2.3.1.1° Substance / Specified Substance Name #I-2 —>
~ {/ingredientSubstance?
</ingredient>
{/kind0fProduct>
<subjectOf typeCode="SB]")
{obgervationBvent classCode="0BS" moodCode="EVN™>
¢cade code="2" codeSystem="2, 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="" —ﬂﬁﬂlﬁ%&.‘:@k%ﬁ%'h
<value xsi:type="CE" code="J2.6.k" codeSystem="2.16. 840, 1. 113883.3.980.5.1.3. 2. 1.5"/>
<1— @80J2.6. k: —RBERIJOAFER # —> .
{/observationBvent>
</subject0f>
</instance0fKind>
{/consumable> ’
{/subsianceAdministration>
{/component> B



{/organizer>
¢/subjectDfZ>
¢subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY" moodCode="EVN">
{code code="1" codeSystem="2, 16, 840, 1, 113883, 3,989, 5.1, 3,2, 1, 117 displayNawe="{58 DI E" />
{component typeCode="COMP">
{ebservation classCode="0BS" moaodCode="EVN"> .
Seode code="T" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. [. 3. 2. 1. 10" displayName="J/FH[E¥%"/>
<value xsi:type="INT" value="1"/>
<l 88972, 13.x. 1: BIENE #1 —
{/observation>
</component>
{component typeCode="COMP">
<obser?ation classCode="0BS" moodCade="EYN">
<code code="8" codeSystem="2. 16. 840, 1. 113883.3.989.5.1. 3. 2. 1, 10" displayName="3}R&EB />
(value xsi:type="ED">]2. 13, r, 2<{/valued>
<I-- eea)z. 13.r.2: MREA #1 — .
{f/observation>
{/component>
<compenent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>

{code code="9" codeSystem="2. 16. 840, 1. 113883, 3. 989, 5. 1. 3, 2. 1. 10" displayName="BASEIE" />
{value xsi:type="CE" code="]2.13.r.3" cndeSystemﬁ'Z. 16, B40. 1, 113883, 3,989,5,1.3. 2. 1.7°/>
<l— @eaJ2.13. r.3: PARHR #1 —
</ohservation>
{/component>

{component typeCode="CCMP™>
{observation classCode="0BS" moodCode="EVN">
{code code="10" cedeSystem="2, 16, 840, 1. 113883, 3, 989, 5, 1. 3. 2, 1, 10" displayName="{3IKh DEROFE"/>
<value xsi:type="BL" value="true“/>
<1— 0@8J2. 13. r. 4 BRI OERNOHE H1 —
<{/observation>
{/corponent>
{/organizer>
{/subject0£2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EV¥N"> .
<code code="1" codeSystem="2. 16, 840, 1. 113883, 3.989. 5. 1. 3.2.1. 117 displayName="{5520RE"/>
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EYN™>
{code code="T" codeSystem="2. 16. 840. 1. 113883. 3. 969. 5. 1. 3. 2. L. 10™ displayName="J& H®BI1%"/>
<value xsi:type="INT* value="1"/>
«l— @e8J2. 13, r, 1: JRHEHK #2 —
</observation>
¢/component?
{conponent typeCode="COMP">
Cobservation classCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2. 16. B40. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="3%f & B"/>
{value xsiitype="ED">J2. 13. 1. 2<{/valued
I— 80872.13, r. 2: RPRR # —
</obscrvation?
</component>
{compenent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
{code code="9" codeSystem="2. 16.840. 1. 113883. 3. 989. §. 1. 3. 2. 1. 10" displayName="PASE4"/>
<value xsiitype="CE" code="]J2.13.r.3" codeSysten="2.16.840. 1. 113883, 3.989,5.1.3.2. .7°/>
<l— @gajz 13.1.3: BAZREHE #2
</observation> .
{/component’>
<component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN"> .
¢code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="1ZFPDIEM OFIE"/>
{value xsiltype="BL" value="false”/>
<!— @eaJe. 13.r.4: WEPOEFOTE 82 —
{/observation>
</companent>
{forganizer>
</subject0f2>
{/primaryRole>
</subjectl>
<componentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCede="BVN™>
{code code="10" codeSysten="2. 16. 840, 1, 113883, 3. 989, 2, 1. 1. 19” displayName="comment”/>
<value xsi:type="ED">H, 4¢/value>
€l-- H.4: Sender’ s Comments ——>



<author typeCode="AUT">
¢assignedBntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16. 840, 1. 113883, 3,989. 2. 1. 1. 217 displayName="sender”/>
(/asslgnedEntity)
</author> : :
¢/observationEvent?
¢/componentl>
{componantl typeCode="COMP™>
" ¢observationEvent classCode="0BS™ moodCode="EVN™>
(code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 107 disnlayName=" KRB TicH B3 A}/
Cvalue xsi'type="ED">J2.7. 2¢/value>
¢<I— @seJ2. 7.2: RETREHTS=AYEF —
</obgervationBvent>
¢/companentl>
{cemponent]l typeCode="COMP™>
<{observationEvent classCode="0BS" moodCode="E¥N™>
{code code="6" codeSystem="2. 16. 840. 1, 113883. 3. 989, 5. 1. 3. 2. 1. 10" displayName="41% OREE"/>
Cvalue xsi:type="ED">J2.10{/value>
<1— eaajz, 10 SEoHE —
{/observationBvent>
</component1>
<compenentl typeCode="COMP"> -
<observationBvent classCode="0BS" moodCode="R¥YN">
{code code="6" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 2. 2. 1. 10" displayName=" %Eﬂ)ﬂh%iiégflﬁé¥'/>
<value xsiztype="ED">J2. 11</value}
<1— g@eje. 11: TOMBEFEAEE >
¢/observationEvent?
</component1>
<compenent! typeCode="COMP™>
{ohservationBvent classCode="0BS" moodCode="E¥N">
<code code="12" codeSystem="2. 16, 840. 1. 113883. 3. 989, 5. 1. 3. 2..1. 10" displayName="3#EWNEOEL"/>
<yalue xsi:type="ED">J2. 16<{/value>
<l— g2eJ2.16: WENFOER ——
</ohservationfvent>
{/eomponent1)>
{/adverseBventAssessment?
</component?
<compenent typeCode="COMP™>
{observationBvent classCode="0BS” moodCode="EVN">
- ¢code code="23" codeSystem="2, 16, 840, 1, 113883. 3, 989. 2. 1. . 19" displayName=" locaiCrlter1aFDrExped1ted'/)
Cvalue xsi:type="BL” value="true”/>
¢} C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Repert? -->
¢/chservationEvent> ’
{/component?
<outboundRelationship typeCode— SPRT™>
(relatedInvestigation classCode="INVSTG” moodCode="EVN">
" <ecods code="1" codeSystem="2, 16, B40, 1, 113883, 3,989. 2. 1. 1. 227 displayName="InitialReport”/>
<subject0f2 typeCode="SUB]™> ’
{controlActEvent classCode="CACI” meodCode="EVN">
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED”>
<code code="C. 1. 8. 2" codeSystem="2. 16. 840. 1. 113883.3.989.2.1. 1. 3"/
<l— €.1.8.2: First Sender of This Case —>
{/assignedEntity>
</author>
{/controlActBvent>
</subject0f2>
¢/relatedInvestigation>
{/outboundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation clagsCode="TNY3TG™ moodCode="EVN™>
<code nullFlavor="Na"/>
<subject0f2 typeCode="SUB]">
CcontrolActBvent classCode="CACT” mocdCode="EVN™>
<id extension="C.l. 10.r" root="2. 16, 840. 1. 113883. 3.989.2.1.3.2"/>
¢l— 1,10, 1 Ident1f1cat1un Number of the Report Which Is Linked te This Report (repeat as hecessary) #1 —>
</controlActEvent)
</subjectDfzy
</relatedInvestigation>
{foutboundRelationship>
{outhoundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG"™ moodCode="EVN™>
{code nullFlavor="NA"/>
<sub jectOf2 typeCode="SUBJ™>
{contrelActEvent classCode="CACT” moodCode="] EVN">



{id extension="C.1.10.r" root="2.16. 840. 1. 113883. 3.989.2. 1.3.2"/>
{I— C.1.10.r: Identification Number of the Report Which Is Linked 1o this Report (repeat as necessary) #2 —>
{/controlActBvent)
{/subject0f2>
<{/relatedInvestigationd
</outboundRelationshipd
<subjectdf]l typeCode="SUB]™>
CcontrolictEvent classCode="CACT™ moodCode="EVN™}
{author typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
<{addr)>
<streetAddressLine>C. 3. 4. 1{/streetAddressLine>
¢I— €.3.4.1: Sender’s Street Address —>
{eity>C. 3. 4. 2/eity>
<l— C;3,4, 27 Sender’ s City —>
{statedC. 3. 4. 3(/state)
<l €.3.4,3: Sender’'s State or Province —>
{faddr>
<assignedPersen classCode="FSN” determinerCaode="I1NSTANCE >
<hame}
<prefix>C. 3. 3, 2{/prefix>
Cl— C.3.3.2; Sender’s Title —>
{given>C. 3. 3. 3</given>
<l— C.3.3,3: Sender’s Given Neme —>
{given>C. 3. 3. &</giver>
<]— C.3.3.4: Sender’s Middle Name —->
{family>C. 3. 3. 5</fanmily>
{1— €. 3.3.5: Sender’'s Fanily Name —>
{/name>
{asLecatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinexrCode="INSTANCE™>
{eode code="C,3,4.5" codeSysten="1, 0. 3166, 1,2,27/>
<]— £.3.4.5: Sender’s Country Code —>
{/location>
{/aslocatedEntity>
{/assignedPerson> ' N
<representedrganization classCode=" DRG determinerCede="INSTANCE™>
<name>C. 3. 2{/name>
¢1— (.3.2; Sender’s Organisation —>
{/representedOrganization?
{/assighedBntity>
</author>
{/controlActEvent>
{/subject0fl>
<subject8fl typeCode="SUBJ">
{controlActEvent classCode="CACT™ moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r.1" extension="C, 1,9, 1, r, 2" recot="2. 16, 840, 1, 113883.3.989.2.1.3.3"/>
I~ C€.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #1 —>
{l— C.1.9.1.7.2 Case Identifier(s) #1 —>
{/controlActEvent>
</subjectOfl>
<subject0fl typeCode="SUBJ">
{controlActBvent classCode="CACT™ mondCade="EVN™>
<id assigningAuthorityName="C.1.9.l.r.1" extension="C.1.9.1.r.2" root="2. 16, 840, 1, 113883, 3.989.2. 1. 3. 3" />
¢t— C.1.8. 1.1, 1: Source(s) of the Case Identifier (repeat as necessary} #2 —>
¢{I— C.1.9.1.1.2 Case Identifier(s) #2 —
</controlictEvent>
<{/suthject0f1>
<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="1" codeSystem="2. 16.E40. 1, 113883. 3,989, 2, 1, 1, 23" displayNane="ichRepertType”/>
{value xsi:type="CE" cade="C.1.3" codeSystem="2.16.840.1.113883.3.980.2.1.1.27/>
<}— C. 1.3 Type of Report —>
¢/investigationCharacteristic)
{/subject0f2>
¢subject0f2 typeCode="SUE]">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883, 3. 989, 2. 1. 1. 23" displayName="otherCaselds™/>
<value xsi:type="BL” value="true”/>
{]— C.1.9.1 Other Case Identifiers in Previous Transmissions —>
¢/investigationCharacteristic>
{/sub jectGf2>
<subjectOf2 typeCode="5UB] >
CinvestigationCharacteristic classCode="0BS™ moodCode="EVN">
{code code="3" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 23" d15p1ayName— nullificationAwendmentCode”™ />
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<value xsi:type="CE” code="C. 1. 11. 1" codeSysten="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1.5"/>
¢!~ C.1.11. 1: Repert Nullification / Amendment —>
¢/investigationCharacteristic> ’
</subjectOf2>
¢subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVYN">
Ccode code="4" codeSystem="2. 16. 840. 1. 113883, 3. 089, 2. 1. 1. 23" displayName="nullificationAmendnentReason”/>
<value xsi:type="CE™>
<originalText>C. 1. t1. 2{/originalText> )
¢l— C.1.11.2: Reason for Nullification / Amendment —>
</value>
¢/investigationCharacieristic?
</subject0f2>
<{subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0B5" moodCode="EYN">
¢code code="1* codeSystem="2, 16. 840, 1. 113883. 3. 989. 5. [. 3. 2. 1. 12" displayName="FRBNES CRESE “H
<value xsi:itype="CE” code="]2, 1a” codeSystem="2. I6. 840. 1. 113883, 3.989.5.1.3.2. 1.1"/>
< 98]z la: MERIF/S (HEEHW —
</investigationCharacteristic>
</subjectOE2> '
{subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCodo="EVN™>
<code code="2" codeSystem="2. 16, B40, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 12" displayName="$45 2R B "/>
{value xsiitype="TS" value="20130107"/> -
(1— egarz.2.1: MEERA —
{/investigationCharacteristic>
</subjectBfZ>
{suhjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSysten="2, 16, B40. 1. 113883. 3.989. 5. 1. 3. 2. 1. 12" displayName="fERBH BICET 2 m A 10
Cvalue xsi:type="ED">J2.2.2</value>
<1 g8ajz2.2.2: WERFERICATIRAV T —>
</investigationCharacteristic>
{/subject0f2>

“¢/investigationEvent>
¢/subject>
</controlActProcess?
</PORR_INO4SOEBUV>
{]— Message #l ~->
{|-- Hessage #2 —>
{1— PORR_IN049016UV —>
{!— /PORR_INO49OIBUV —> |
{}— Hessage #2 —>
<receiver typeCode="RCV*>
{device classCode="DEV” determinerCade="INSTANCE™>
<id extension="N.1.4” root="2. 16.840. 1. 113883. 3, 989. 2, 1. 3. 14" />
<!— N.1.4: Batch Receiver Identifier —>
Sdeviced ’

{/receiver)

<sender typeCode="SND">
{device classCode="DEV” determinerCode="ENSTANCE™>
<id extension="N.1,3" root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 13" />
<l-- N.1.3: Batch Sender Identifier —>
¢{/device>
{/sender>
£/MCCT_TN200100UV01>



XLBREA 2 Z A (HEHEHERS)

{?xml versien="1.0" encoding="UTF-8"7>
CUCCT_IN200L0OUVOL ITSVersion="XML_I. 0" xsi:schemalocation="urn:hl7-org:v3 MCCI_TN200100U¥0l. xsd” xmlns="urn:hl7-org:v3” amlns:xsi="httip://wwmw, w3, org/
2001 /00.5chema—instance >
<id extension="N. 1.2 root="2.16.840. 1. 113883, 3. 989. 2, 1. 3, 22" />
<!— N.1.2: Batch. Number —>
<creationTime value="201012141516177/>
<!-- N.1.5: Date of Batch Transmission —>
{responseModeCode code="11"/>
CinteractionId extension="MCCI_INZ00100U¥01™ root="2. 16.840.1.113883. 1.6"/>
<name code="N.1.1” codeSystem="2. 16, 840. 1. 113883.3.988.2. 1. 1. 1>
{I— N.1.1: Type of Messages in Batch —>
<I— Message #1 —>
<PGRR_ING49016UV>>
<id extension="N.2.r.}” raot="2.16.840. 1. 113883. 3,969. 2. 1.3, 1"/>
¢)— N.2.1.1: Message Identifier —>
{creationTime value="201012141516177/>
¢!— N.2.r.4: Date of Message Creation ——>
(interactionld extension="PORR_INO49016UV” root="2. 16.840. 1, 113883, 1. 67/>
{processingCode code="P"/>
¢processingiodeCode code="T"/>
¢acceptAckCode code="AL"/>
{receiver typeCode="RCY">
<device classCode="DEV” determinerCode="INSTANCE™>
{id extension="N.2.r. 3" root="2. 16. B40. 1. 113883. 3. 986. 2. L. 3. 127/>
<l-- N.2.r.3: Message Receiver Identifier —>
</device>
{/receiver>
- <sender typeCode="SND">
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N,2.r.2” root="2.16.840.1. 113883, 3.989.2.1.3.11"/>
{l— N.2.r.2: Message Sender Identifier —>
{/device>
{/sender> .
{controlActProcess classCode="CACT™ moodCade="EVN">
¢code code="FORR_TE049016UV" cedeSystem="2. 16, 840. 1, 113883, 1, 187/>
¢l HLT Trigget Event ID —>
{effectiveTime value="201012141516177/>
{l— C,1.2: Date of Creation —>
{subject typeCode="SUBJ">
<investigationEvent classCode="INVSTG” moodCode="EYN">
<id extension="C.1.1" root="2.16.840. 1. 113883. 3. 989,2.1.3.17/>
{1— C.I,1: Sender's (case} Safety Report Unique Identifier —>
<id extension="C.1.8. 1" root="2, 16,840, 1, 113883.3.989.2.1.3.2"/>
<1— €. 1.8. 1 Worldwide Unique Case Identification Number —>
<id extension="J2. 16" root="2.16.840. 1. 113883.3.089.5.1.3.2. 3. 1°/>
- ggaJz. 1b: BRES (B®) —
<code code="PAT_ADV_EVNT" codeSystem="2. 16.840. 1. 113883.5.47/>
<text>H. 1</text>
¢1—— M. I: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information —>
{statusCode code="active”/> ’
— @0aJ2. 7.1 BT . FKETES —
<{effectiveTime>
{low value="200901017/>
¢l— C.1.4:! Date Report Was First Received from Source —>
</effectiveTime>
<availabilityTime value="20090101%/>
{1-- C.1.5: Date of Wost Recent Information for This Report —>
<reference typeCode="REFR™> :
¢document classCode="DOC” moodCode="EVN™>
. <code code="2" codeSystew="2. 16.840. [, 113883, 3,989, 2, 1, 1. 27" displayName="1iteratureReference”/>
{text mediaType="application/pdf” representation="B647>C.4.r. 2</text>
{I— C.4.7.2: Included Documents #1 —>
<hibliographicDesignationText>C. 4. r. 1</bibliographicDesignationfext>
<!-- C.4.r.1: Literature Reference(s) #1 —>
.{participation typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
(representedOrganization classCode="0RG” determinerCode="INSTANCE™>
(asLocatedEntity classCode="LOCE”>
¢location ¢lassCode="COUNTRY” determinerCode="INSTANCE">
{code code="J2, 15.r" codeSystem="1. 0. 3166.1.2.2"/>
<I— @geJz.15.r 2FKE #1 —>
</location>
</asLocatedEntity>
</representedOrganization>
</assignedEntity>



{/participation}
{/document)
{/reference>
{reference typeCode="REFR™> )
<document classCode="T0C" moodCode="EVN"> ]
<code code="2" codeSystem="2, 16. 840, I. [13883. 3,989, 2. 1. 1. 27" displayName="1iteratureReference”/>
¢text mediaType="application/pdf” representatien="B64">C. 4. r.2{/text>
(l—- C. 4.1.2: Included Docunents #2 —>
" ¢bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
!~ €. 4. r. 1: Literature Reference{s} #2 —>
{participatien typeCode="AUT">
LassignedEntity classCode="ASSIGNED™>
{representedlrganization classCode="0RG” determinerCode="INSTANCE™>
<aslocatedEntity classCode="LOCE™>
<lacation classCode="COUNTRY” determinerCode="INSTANCE™>
Ccode code="]2,16.r" codeSystem="1.0. 3166. 1.2, 27/>
¢l— @eajz, th. r FE #2 > '
<flocation>
{/asLocatedEntity>
{frepresentedOrganization>
</assignedEntityd
</participation>
</document>
{/reference’
{component typeCode="COMP™>
{adverseEventAssessment- classCode="INVSTG™ moodCode="EVN™>
<subjectl typeCode="SBJ™> ¢
{primaryRole classCode="INVSB]™>
<playerl classCode="PSN” determinerCode="INSTANCE"/>
<subjectOfl typeCode="SBI™>
<researchStudy classCode="CLNTRL™ mocdCode="EVN">
<id extension="C.5.3" root=*2. 16. 840, 1, 113883.3.989. 2. 1.3.5"/>
<I— €.5.3: Sponsor Study Number —>
{eode code="C, B.4" codeSystem="2. 16.840. 1. 113883.3.980.2. 1. 1.8"/">
¢l— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —>
<title>C.3.2¢/title>
<1— €.5.2: Study Name —>
<authorization typeCode="AUTH™>
{studyRegistration classCede="ACT" mocdCode="EVN™>
<jd extension="C.5.1.r.17 root="2. 16840, 1, 113883 3.986. 2. L. 3 6°/>
¢— C.5. l.r. 1: Study Registration Number #1 —>
<author typeCade="AUT™>
{territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNIRY" determinerCode="INSTANCE™>
{code code="C.5.1.r.2" codeSysten="1.0.3166.1.2.27/>
<l-- C.5.1.r.2: Study Registration Country #1 >
</governingPlace>
{/territorialAuthority>
</author>
{/studyRegistration>
{/authorization>
{authorization typeCode="AUTH™>
' {studyRegistration classCode="ACT" moodCade="EVN">
<id extensien="C.5. 1.r. 17 reot="2.16.840. 1. 113883, 3.989. 2. 1.3.6"/>
<I— C.B5.1.r.1 Study Registration Number #2 —>
<author typeCode="AUT">
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.5.1.r.2" codeSystem="1.0.3156,1.2, 27/
¢l-- C.5.1.r.2: Study Registration Country #2 ~—>

¢/governingPlace>
<{/territorialAuthority>
</author>
{/studyRegistraticn>
{/authorization>
¢/ressarchStudy> -
{/subjectOf1>

<subject0f2 typeCode="SBJ” >
{organizer classCode="CATEGORY” moodCode="EVN">
<cede code="4" codeSystem="2, 16, 840. 1. 113883, 3.989. 2, 1, 1. 20" dlsplayName- drugInformatien 124
<l— G.k Drug{s) Information (repeat as necessary) #1 —>
{gomponent typeCode="COMP™>
{substanceAdministration classCode="SBADM™ moodCode="E¥YN™>
<id reot="3c81b4d5-e039-4a7a-9c30-67671b0efIed” />
¢consumable typeCode="CSH™>



{instanceOfKind classCode="INST™>
<kinddfProduct classCode="MMAT® determinerCode="KIND">
<code code="G.k.2. 1. 1b" codeSystem="TRD-MPID"/>
<l— G.k. 2.1, 1b: Medicinal Product Identifier (MPID) #1 ~—>
<name>G. k. 2. 2{/name> )
<l-- G.k.2.2: Medicinal Preduct Name as Reported by the Primary Source #1 —>
CasManufacturedProduct classCode="MANI">
<subjectdf typeCode="SBJ™>
<approval classCode="CNTRCT” moodCode="EVN™>
¢id extension="6G.k 3. 17 root="2. L6. 840, 1. 113883.3.989.2.1.3.4" "
¢!— G.k.3.1: Authorisation / Applieation Number #1 —->
<author typeCode="AUT">
{territorialAuthority classCode="TERR™>
(territory classCode="NAT" determinerCode="INSTANCE™>
¢code code="G,k 3. 2" codeSystem="1, 0. 3166. 1,2.2%/>
¢l— G.k. 3.2: Country of Authorisation / Application 1 —>
fterritory?
{/territerialAuthority>
</fauthor>
<pertinentInformation typeCude="PERT™>
<{policy classCode="POLICY” moodCode="EYN™>
<code code="]2.5.k” codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.4"/>
<I-- g@e)2.5.k: —BRAEESKTO) AL EIF H —
</oolicy> .
<fpartinentInformation)
</approval>
</subject0f£>
¢subjectOf typeCede="SBI™>
{characteristic classCode="0BS" moodCode="EVN™>
{code code="1" codeSystern="2. 16. §40. 1. 113883. 3. 980, 5. 1. 3. 2, . 10" displayName="3ERELFOWRRES"/>
<value xsi:type="CE" code="J2.4.k" codeSystem="2.16,840.1.113883.3,989.5.1.3.2,1.37/>
<I— 88aJ2. 4. k: MERGFTORRKS #1 —>
</characteristic>
</sub jectOf>
{fas¥anufacturedPreductd
<asSpecializedEind classCode="GEN">
<generalizediaterialKind classCode="MAT" determinerCode="KIND™>
<code>
{originalText>J2.12</original Text>
d-- 80J2. 12: HRENRE —
</code>
{/generalizedfaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI™>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G.k.2.3.r. 2b" codeSystem="TBD-Substance”/>
<|— G.%. 2.3, r.2b° Substance / Specified Substance TermlD H1-1 ——>
<name>G. k. 2. 3. r. 1{/nane>
<}= G.k.2.3.r.1: Substance / Specified Substance Name #l-1 —>
</ingredientSubstanced :
¢{/ingredient>
¢ingredient classCode="ACTI">
¢ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G. k. 2. 3.r. 2b" codeSystem="TBD-Substance”/>
¢l— &.k.2.3.1r.2b! Substance / Specified Substance TermID #1-2 —>
<name>G. k. 2. 3. x. 1{/name>
¢l— G, k, 2.3, 1r,1: Substance / Specified Substance Name #1-2 -->
</ingredientSubstance>
{/ingredient>
</kindCfProduct>
{sub jectOf typeCode="SB]">
{observationEvent classCode="0BS” moodCode="BVN"> .
<code code="2" codeSystem="2. 16. 840. 1. 113883, 3,989.5.1.3.2. 1. 10" displayNeme="—-AEKEHOATER" >
<value xsi:type="CE” code="]2.6.k" codeSystem="2, 16, B40. 1, 113883.3.989.5.1.3.2.1.5"/>
<I-- 880J2.6.k: —RAEELOAFER #1 —
¢/aobservationEvent>
{/subject0f>
{/instanceQfKind>
¢/consumable>
{/substanceAdministration>
</component>
</organizer>
</subjectOf2>
<subjectDf2 typeCode="SB]">
{organizer classCode="CATEGORY” mcodCode="EVN™>



{code code="1" cadeSystem="2. 16. 840, 1. 113883, 3, 989. 5, 1.3. 2. 1. 11" displayName="{SBRDELE"/>
{component typeCude;'COMT')
{observation classCode="0BS™ moadCode="EVN™>
<code code="7" codeSystem="2. 16. 40. 1.113883. 3. 889, 5, l 3 2 110" dlsplayName—'EEHd[]ii'/)
<value xsittype="INT" value="1"/> -
<l— @aeJ2. 13.r.1: BHERR 1 —
</observation>
</component?
<componant typeCode="COMP™>
{chservation classCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2. 16, 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 107 displayName="3{SEH"/>
<{value xsiitype="ED">J2. 13. 1. 2¢{/value>
<l— @8aJ2.13.1.2: HEURB 1 —>
</observation>
</component’
{component typeCode="COMP™>
{chservation classCode="0BS" moodCode="EVYN™>
{code code="9" codeSystem="2.16. 840, 1, 113883, 3, 989: 5. 1. 3. 2. 1. 10" displayNawe="FHFE$3"/>

<value xsiitype="CE~ code="J2.13.r.3" codeSystem="2.16.840. 1. 113883.3,989.5.1.3.2. L,.7°/>
<I— @g8J2.13.r.3: JA%AE 1 —
</observation’
</component?

<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2, 1. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 107 displayNeme="#:IR P OIERIDHE"/>
<value xsi:type="BL" value="true”/>
<l @g8J2.13.1.4: BWREDOEFOFE #1 —>
</observation>
</companent?
{/organizex>
{/sub ject0f2>
(subject0f? typeCode="SB]">
{organizer c¢lassCode="CATEGORY” moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840, 1. 113883, 3. 989, 5. 1. 3, 2, 1. 11" displayName="TRERDEE"/>
{component typeCode="COMP">
(observation classCode="0BS” moodCode="EVN">
{code code="7" codeSystem="2. 16.840. 1. 113883, 3.989.5. L. 3, 2. 1. 107 dlsplayNameu RBEE S
<value xsi:type="INT" value="1"/>
{l— eearz. 13.». 1: BHER #2 —>
{/observation>
{/component>
{component typeCode="COMP">
{obgervation classCode="0RS™ mosdCode="EVN™>
<code code="8" codeSystem="2. 16. 840. 1. 113883, 3,989, 5. 1.3, 2. 1. 10* displayName="3#REFH"/,>
<value xsi:type="ED">J2.13.r, 2</value>
(l— @eeJ2. 13.r.2: #EHRB #2 —
</observation>
{/component>
<component typeCade="COMP">
<observation classCode="0BS” moodCode="EVN™>
<code code="9" cadeSystem="2. 15. 840, 1. 113883, 3. 989, 5.1. 2. 2. 1, 10" displayName="FR13848"/>
{value xsi:type="CE” code="]2.13.r.3" codeSystem="2, 16.840. 1. 113883.3.989.5.1.3.2.L.7"/>
<]— @@eJe.13.r.3: BEFEM #2 —>
{/ohaervation>
</component> '
<component typeCode="COMP">
¢observation classCode="0BS" moodCode="EYN">
{eode code="10" codeSystem="2.16. 840. 1. 113883, 3, 989.5. 1. 3. 2. 1. 10" displayName="1¢ 8 h DR O AT 2"/
¢value xsi:type="BL" value="false”/>
o ¢l-- @g@aJ2. 13.r.4: BEPOEFOHE §2 —>
<{fobservation>
{feamponent>
</organizer>
¢/subject0f2>
</primarvRole>
{/zubjectl>
<componentl typeCode="COMP™>
<observationEvent classCode="OBS" meodCode="EVN">
(code code="10" codeSystem="2, 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="comnent” />
<value xsi:type="ED"OH, 4¢/value> '
I— H,4: Sender’ s Comments ——>
Cauthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">-
<code code="1" codeSystem="2, 16. 840, 1, 113883, 3. 989, 2. 1. 1. 217 displayName="sender”/>
</assignedEntity> .

.’



</author>
* {/observationEvent>
{/component1>
<eomponentl typeCode="COMP™>
{ohservationBvent classCode="0BS" moodCode="EVN™>
<code code="3" codeSysten="2. 16. 840, 1, 113883. 3. 989,
<value xsi:type="ED">]J2.7.2¢/value>
{I— @eaJ2.7.2: RRThHTSIIALF —>
{/observationEvent>
{/component1>
<componentl typeCode="COMF">
{observationEvent ¢lassCode="0BS” moodCode="EVN">
{code code="5" codeSystem="2.16. 840, 1. [13883. 3. 989
<value xsi:type="ED">J2. 10</value>
<1— @8eJz. 10: SHOHE —
{/observationEvent>
{/component1>
<compenent} typeCode="COMP">
CobservationBvent classCode="0BS” moodCode="EVN™>
" <eode code="B" codeSystem="2. 16. 840. 1. L13883. 3. 989
<value xsi:type="ED">J2. 11</valus>
{d— 0088]2.11: TOAMBEYIAE >
</observationEvent>
{/componentl>
{ecomponentl typeCode="COMP™>
{ohservationEvent classCode="0BS" moodCode="EVN">

2

2

5

.1.3.2.1.107 displayName=" B TiHFTH = AL +7H

.1.3.2. 1. 107 displayName="4% 335" />

. 1.3.2.1. 10" displayNeme="T DB ERFIEE"/>

Ceode code="12" codeSystem="2, 16. 840. 1. 113883. 3. 989, 5. 1. 3. 2. 1, 107 displayName="355REF DB/,

<value xsi:type="ED">J2.16¢/value>
<I— BBEJ2. 16: WEWNECER
{/ohservationEvent>
¢/componentl>
</adverseEventAssessment>
" </companent?
<component typeCode="COMP™>
{observationBvent classCode="0BS” mocdCode="EVN™)>

<code code="23" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1. 19" di

<value xsi:type="BL" value="true"/>

splayName="1localCriteriaForExpedited”/>

<1— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>

{/observaticnEvent>

</component>

CouthoundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG" moodCode="EVYNT>

<code code="1" codeSystem="2, 16, B40. 1. 113883. 3. 980. 2. 1. 1. 22" displayName="initialReport™/>

<{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT" moodCode="EVN™>
<auther typeCode="AUT">
<assignedBntity classCode="ASSIGNED">

<eade cade="C.1.8.2" codeSystem="2, 16. B40. 1. 113883.°3. 989, 2. 1. L. 3" />

{l— €.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
</controlactEvent>
</subject0f2>
¢/relatedInvestigationd
{/outboundRelationship>
{outhoundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG™ maodCode="EVN™>
<{gode nullFlaver="NA"/> :
<subjectOf2 typeCode="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN">

(id extension="C.1.10.r" root="2.16.840. 1. 113883.3.989.2.1.3.27/> )
{l— C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>

</controlictBventd
{/subject0f2>
{/relatedInvestigation>
{/outhoundRelationship
<outboundRelationship typeCode="SPRT">
¢relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
{code nullFlavor="NA"/>
<subject0f2 typeCade="SUB]">
{controlActEvent classCode="CACT” moodCode="EVN™>

<id extension="C. 1.10.r" root="2.16.840. 1. 1138832.3,989,2.1,3.27/>

<}— C. 1. 10.r: Identification Number of the Report Which Is Linked to this Repert {repeat as necessary)

{/controlActEvent>
{/subjectDf2>

#2 —>



{/relatedInvestigation>
</outboundRelationship>
{subjectDf1 typeCode="SUBJ">
<controiActEvent classCode="CACT” mocdCode="EYN™>
<author typeCode="AUT">
CassignedBntity classCode="ASSIGNED™>
<addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressline>
<I— C.3.4.1: Sender's Street Address —>
CeitydC. 3, 4. 2/ eity>
¢{I— .3, 4.2 Sender’s City —>
{statedC. 3. 4, 3¢/state>
{I— €.3.4.3: Sender's State or Province —>
¢/addr>
{assignedPerson classCode="PSN” determinerCode="1NSTANCE">
<{name>
<prefix>C. 3. 3. 2¢/prefix>
¢l— (., 3,3 2: Sender’s Title —>
<givem>C. 3. 3. 3¢/given’
<l— C.3.3 3! Sender’ s Given Name —>
<given>C. 3. 3. 4<¢/given>
{l~= £.3.3.4: Sender’ s Middle Name —>
<family>C. 3. 3. 5</fanmily>
{l—— C.3.3.5: Sendex’s FﬂmllY Name —>
</nﬂme)
{asLocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE™>
<eode code="C, 3, 4.5" codeSystem="1.0.3166. [.2.2"/>
{l-- €. 3.4.5: Sender’s Country Code —>
</location>
. </asLocatedEntity>
{/assignadPerson>
(representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<name>C, 3. £<{/name>
¢<|— ,3,2: Sender’s Organisation >
{/representedOrganization>
¢/assignedBfntity>
<fauther>
{/controlActBvent>
{/subject0f1>
{subjectOf1 typeCode="SUB]">
{controlActEvent classCode="CACT" moodCode="EVN™>
<id agsigningAuthorityName="C.1.8.1.r.1” extension="C.1.9.1.r.27 root="2. 16. 840. 1. 113883. 3.989.2.1.3. 3"/>
<l-- C.1.9.1.x.1: Source(s) of the Case Identifier (repeat as necessary) #1 —> :
{1— C.1.9. L.v.2 Case Identifier(s) #1 —>
{/centrolActEvent?
{/subjectOf1>
<subject0fl typeCode="SUBJ">
<controlActEvent classCode="CACT™ moodCode="EVN™>
<id assigningAuthorityName="C.1.9.1.r.1" extension="C. 1. 9.1.r.27 ront.— 2.16.840. 1. 113883.3.989. 2. 1. 3.3"/>
<l— €.1.9.1.x.1: Source(s) of the Case Identifier (repeat as necessary) #2 —>
<l—-C. 1.9.L.1.2 Case Identifier(s) #2 —> '
{/controlActRvent)
£/subject0f1>
<subjectOf2 typeCode="SUBJ" > .
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code cade="1" codeSysten="2. 16. 840.'1. 113863. 3. 889. 2. 1. 1. 23" displayName="ichReportType™/>
<value xsi:type="CE" code="C,1.3" codeSystem="2, 16.840. 1. 113883.3.989.2. 1.1.2"/>
I— C.1.3 Type of Report —>
{finvestigationCharacteristie>
¢/subject0f2>
{subject0f2 typeCode="SUBJ™>
<investipatienCharacteristic elassCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 23" displayName="otherCaselds"/>
<value xsi:type="BL” value="true"/>
<]-- C.1.9.1 Other Case Identifiers in Previous Transwissions —>
{/investigationCharacteristicd -
{/subject0f2>
{subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="] EVN >
<code code="3" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentCode”/>
. ¢value xsittype="CE” code="C.1.11. 1" codeSystem="2, 16,840, 1. 113883, 3.969.2.1.1.5°/>
+ {1 (. 1.11 1: Report Nullification / Amendment —>
{/investigationCharacteristic>
{/subject0f2> ’ ’



<subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="4" codaSysten="2, 16, 340, 1, 113883, 3, 989.2, 1. 1. 237 displayName="nullificaticnimendmentReason™/>
¢value xsi:itype="CE™>
{originalText>C, 1. 1}. 2{/originalText>
¢§» C.1.11.2: Reason for Nullification / Amendment —>
{fvalue>
{/investigationCharacteristic>
</subject0f2>
<subjectOfZ typeCode="SUB]™>
{investigationCharacteristic c¢lassCode="0BS™ moodCode="EVN™>
Ccode code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.5. 1. 3. 2. 1. 12" displayNane="BRRIES CR&ESE) 9,

{value xsiitype="CE” code="J2.Ia” codeSystem="2. 16.840. 1. [13883.3.980.5.1.3.2.1.1"/>
<J— gea)2. 1a: MENES (HESE —
<{/investigationCharacteristic> .
</subject0f2> ’ )

<sub ject0f2 typeCode="SUBJ">
¢investigationCharacteristic classCode="0BS™ moodCode="E¥YN™>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 12" displayName="$45#5 A />
<value xsi:type="T5" value="20130107"/>
- @88y 2.1 MERKR —
</investigationCharacteristic>
</subject0f2>
¢sttbject0f2 typeCede="SUBJ">
{investigationCharacteristic classCode="0BS" maodCode="E¥N">
{code code="3" codeSystem="2. 16.840. [. 113883.3.989.5.1.3.2. 1. 127 dlsplayName—’ﬂmﬂgHLm‘ﬂ'%ﬂf b 2 p
<value xsi:type="ED">J2. 2. 2¢/value>
<I— ggeJz.2.2: MARKAKHETS=AYF —
{/investigationCharacteristie>
¢/subjectOf2>
(subject0f2 typeCods="SUBT">
¢investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2. 16.840. 1. 113883. 3, 989.5. 1. 3. 2. 1. 12" displayNene="BIRERE 2 727/
<value xsi:type="CE” code="]2.3" codeSystem="2. 1G.840. 1. 113883, 3.989.5.1.3.2,1,27/>
{1— @gaye. 3: MIRSREZ TS —>
{/investigationCharacteristic>
</sub jectOf2>
</investigaticnBEvent>
{fsubject>
</eantrolActProcessd
</PORR_TNO49016UV>
¢]— Message #1 —>
{I— Message #2 —>
<1— PORR_INO49016UV >
{1— /PORR_IND490161V —>
{!— Message #2 —>
{receiver typeCode="RCV™>
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.1.4" root="2. 16, 840, 1. 113883. 3, 989.2, 1. 3, 147 />
<l— N.1.4: Batch Receiver Identifier ~—>
¢/device>
<{/receiver>
¢sender typeCode="SND">
<device classCode="DEV” determinerCode="INSTANCE™>
¢id extension="N. 1, 3" root="2, 16. 840. I. 113883.3.989.2.1.3. 13"/
¢!— N.1.3: Batch Sender Identifier ——>
<fdevice>
{/sender>
</MCCT_TN260100UV01>
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemal.ocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_ IN049016UV[r]/controlActProcess[@classCod
e='CACT'] [@moodCode="EVN']/ subjecti@typeCode='"SUBJ'][1)/investigationEvent
[@classCode="INVSTG"}@moodCode='"EVN'V/subjectOf2[@typeCode="SUBJl[inve
stigationCharacteicisticfcode [@code="11[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127][1)/investigationCharacteristicl@classCode="OBS '} [@mood Code="EVN"
Ivaluel@xsiitype='"CEl[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1')/@code
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XPath /MCCI INZOOIOOUVOI[@ITSVersmn "KML_1.0'}[@xsi: schemaLocation="urn’hl7-

org:v3

MCCI_IN200100UV01.xsd'/PORR_IN0490 16UV[r]/controlActProcess[@classCod
e='CACT][@moodCode="EVN'l/subjectl@type Code="SUBJ'] [1]/investigationEvent

[@classCode="INVSTGT{@moodCode="EVN']/id[@root='2.16.840.1.113883.3.989.5.

1.3.2.3.1'l[1]/@extension
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XPath

e='CACT'l[@moodCode="EVN'l/subjecti@type Code="SUBJI{{1]/investigationEvent

/MCCI_IN200100UV01[@ITS Version=XML,_1.07[@xsi:schemaLocation="urn:hl7-
org-v3 .
MCCI_IN200 IOOUVO1.xsd’]/PORR-INO49016UV[r]/controlActProcess[@classCod

[@classCode=INVSTG'l[@moodCode="EVNY/subjectOf2[@typeCode="SUBJ l[inve
stigationCharacteristic/code[@code='2'[@codeSystem='2.16.840.1.113883.3.989.5.
1.8.2.1.12'1[1)/investigationCharacteristicl@classCode="OBS'| {@mood Code="EVN'
Ivaluel@xsi:type="TS'V@value '
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XPath /MCCI_IN200100UV01[@ITSVersion="XML _1.0'l[@xsi:schemalocation=urn:hl7-
org:v3 _
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[r}/controlActProcessl@classCod
e="CACT'l[@mood Code="EVN'l/subjectl@typeCode='"SUBJ'][1l/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVIN'l/subjectOf2 [@typeCode='St}BJ Nlinve
stigationCharacteristic/code[@code="3'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121][1)/investigationCharacteristicl@classCode='"OBS'] [@moodCode"'EVN'
]/value [@x51 type—'ED ]/textO
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_XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemal.ocation="urn:hi7-

org:va .

| MCCI_IN200100UV01.xsd'/PORR_IN049016UVIr)/controlActProcess[@classCod

e='CACT'][@moodCode="EVNV/subjectl@typeCode='"SUBJ '} 1)/investigationEvent
[@classCode=TNVSTG][@mood Code="EVN1/subjectOf2l@typeCode="SUBJ linve
stigationCharacteristic/code[@code="4'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12711[1)/investigationCharacteristic[@classCode="OBS1{@mood Code="EVN!
Ivaluel@xsi:type="CE'l{@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.2'l/@code

e T O ﬁ,l;ﬁi ; s - 5 : ‘ : =
EASA | BEREOXESETT, - ' '
SECF: | RIS XV R o FEAER L CRET 2.
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MRH (0TC)) OHFHhbHENFNER UEHTHZ &, ' ‘
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FEE FHE 5 2B
XPath /MCCI_IN200100UVO01[@ITSVersion="XML,_1.0'J[@xsi‘schemalocation="urn:hl7-
orgv3

MCCI_IN200100UVO01.xs d'l/PORR_IN049016UV[rl/controlActProcess{@classCod
e='"CACT"][@moodCode="EVN'l/subjectl@typeCode="SUBJ'] [l]finvestigationEvent
[@classCode="INVSTG'lI@mood Code="EVN'l/component [@typeCode='"COMP'][adv
erseEventAssessment] [1]/adverseEventAssessment[@classCode='INVSTG‘] [@mo
odCOdei‘EVN']/subject1[@type Code='SBJ'l[1)/primaryRolel@classCode="INVSBJ"*
I/subjectOf2l@typeCode='SBJ"] [organizer/code[@code="4'1[@codeSystem="2.16.840. |
1.113883.3.989.2.1.1.2011[1)/organizer[@classCode='"CATEGORY'l[@mood Code='E
VN'//component[@typeCode='"COMP'l[substanceAdministration/id] [kl/substanceA
dministration{@classCode='"SBADM'][@mood Code="EVN'l/consumable[@typeCode |
='CSM] [1)/instanceOfKind [@classCode="INST')/kind OfProductl@classCode="MM
AT)[@determinerCode="KIND'//asManufacturedProducti@classCode="MANU"/su
bjectOfl@typeCode="SBJ'l[characteristicl[1)/characteristiclcode[@code="1l[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10'][1][@classCode="OBS'l[@mood Cod
e="EVN'/valuel@xsi:type='CE'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@code " :
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XPath /MCCI_IN200100UV01{@ITSVersion="XML_1.0'l[@xsi‘schemalocation="urn:hl7-
orgivs3

MCCI_IN200100UV01.xsd /PORR_IN0490 16UV[r]/controlActProcess[@classcod
e="CACT[@moodCode=TEVN'//subjectl@typeCode="SUBJ'I[1}/investigationEvent
[@classCode="INVSTG'] [@moodCode=’EVN']/component[@typeCode='COMP‘] [adv
erseEventAssessmentl[1}/adverselEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVNV/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode="INVSBJ"’
1/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="4| [@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20)[1)/organizer[@classCode="CATEGORY }{@moodCode='E
VN'//componentl@typeCode='"COMP'][substanceAdministration/idi[kl/substanceA
dministration[@classCode='SBADM' [@moodCode="EVN'//consumable[@type Code
='CSM'][1VinstanceOfKind[@classCode="INST')/kind OfProduct[@classCode=MM
AT[@determinerCode="KIND')/asManufactured Product[@classCode="MANU"}/su
bjectOfl@type Code='SBJ'[approvall[1]/approval[@classCode='CNTRCT'] [@mood .'
Code="EVN'}/pertinentInformation[@typeCode=PERT'][1]/policyl@classCode="PO
LICY'1[@moodCode='"EVN'l/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

4‘]/@code
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XPath

(value)

| VN')/componentl@typeCode="COMP'] [substanceAdministration/id] [kl/substanceA

/MCCI_IN200 100UV01[@ITSVersmn“'XML 1.0'l[@xsi:schemaLocation="urn‘hl7-
org:v3

MCCI_IN200100UV01.xedI/PORR_ IN049016UV[r]/contr01ActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'H1)/investigationEvent -
[@classCode=TNVSTG'] [@moodCodez'EVN']/componént[@typeCode"'COMP‘] [adv
erseEventAssessment][1)//adverseEventAssessment [@classCode=INVSTG'][@mo
0dCode="EVN' ]/sub;ectl[@type Code='SBJ'1{1}/primaryRole[@classCode="TNVSBJ'
I/subjectOf2[@typeCode='SBJ"l[organizer/codel@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2011[1]/organizer@classCode='"CATEGORY'l{@mood Code="E

dministrationl@classCode="SBADM'}[@mood Code="EVN'l/consumable[@typeCode
=0SM1[1)/instanceOfKindl[@classCode="TNSTl/subjectOfl@type Code="SBJ')/obse.
rvationEventlcode[@code="2"1[@codeSystem='2.16.840.1.113883.3. 989.5.1.3.2-.1.10'
1{1][@classCode='OBS[@moodCode="EVN'/value[@xsi: type—'CE'] [@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5')/@code

XPath
(null

flavor)

/MCCI_IN200100UV01[@ITS Version=XML,_1.01[@xsi:schemal.ocation="urn:h17-
org:v3 '

MCCI_IN200100UV01.xsd'I/PORR_IN0490 16UV[r]/conti'olActProcess[@classCod
e='CACT|[@mood Code="EVN'/subjectl@typeCode='SUBJ'|[1)/investigationEvent
[@classCode="INVSTG' [@moodCode="EVN')/component{@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG] [@mo
0dCode="EVN' ]/subject1[@typeCode—'SBJ 1[1]/primaryRole[@classCode="INVSBJ'
lsubjectOf2i@typeCode="SBJ1lorganizer/codel@code="4'l [@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20'1][1]/organizer[@classCode='"CATEGORY 'l [@mood Code='E .
VN'/componentl@typeCode='"COMP'][substanceAdministration/id][1]/substanceA
dministration[@classCode="SBADM'] [@moodCode#‘EVN']/consumable [@typeCode
= CSM'][1)/instanceOfKind[@classCode="INST'V/subjectOf[@type Code="SBJ'|/obse
rvationEvent[code[@code="21[@codeSystem="'2.16.840.1.113883.3.989.5.1.8.2.1.10'
N1l{@classCode="0BS'l[@mood Code="EVN/valuel@xsi:type="CEl{@codeSystem

—'2 16 840.1.113883.3.989.5.1.3.2.1.5'//@nullFlavor
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XPath

/MCCI_IN200100UV01{@ITSVersion="XML_1.0'][@xsi’schemal.ocation="urn-hl7-
orgva
MCCI_IN2001000V01.xsd'/PORR_IN049016UV[r}/controlActProcess[@classCod

e='CACTI[@moodCode="EVN'l/subject{@typeCode="SUBJ'l[1])/investigationEvent
[@classCode=TNVSTG N @moodCode="EVN'/statusCode/@code
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XPath MCCI_IN200100UV01[@ITSVersion=XML,_1.0'I[@xsi‘schemaLocation="urn:hl7-
0rg1v3 _
MCCI_IN200100UV01.xsdl/PORR_IN049016UV[xl/controlActProcessl@classCod
e="CACT'{@moodCode="EVN'l/subject@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN"l/component[@typeCode='"COMP'I[adv
erseEventAssessment][1]/adverseEventAssessment(@classCode="TNVSTG'[[@mo
0dCode="EVN'l/component1[@typeCode="COMP']l[observationEvent[code[@code='
31l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10]][1)/observationEvent[@c
lass Code""OBS'] [@moodCode—'EVN']/value [@xsi: type—'ED ]/text()
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XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'][@xsi‘schemal.ocation="urn‘hl7-
orgv3

MCCI_IN200100UV01.xsd'l/PORR._ INO49016UV[r]/controlActProcess[@classCod
e='CACT"][@moodCode="EVN/subject[@typeCode="SUBJ"[1)/investigationEvent
[@classCode="INVSTG)[@mood Code="EVNI/subjectOf2[@typeCode="SUBJ l[inve
stigationCharacteristic/code[@code="5'[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121][1)/investigationCharacteristic[@classCode='OBS'][@mood Code="EVN'
Ivaluel@xsi: type“"CE'] [@codeSystem="2.16.840.1.113883.3. 989.5.1.3.2.1.6]/@c0de
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XPath -

s A 10000
HEE B iR ‘
IMCCIL IN200100UV01[@ITS Version="XMIL._1.0'1[@xsi:schemal.ocation="urn:hl7-

.. ‘Org:VS ..,.._k e e R LRI TR IR

| stigationCharacteristic/codel@code="61@codeSystem='2.16.840.1.113883.3.989.5.
| 1.3.2.1.121N[1)investigationCharacteristic[@classCode="OBS][@mood Code="EVN'
I/valuel@xsi:type="ED'1/text(

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[xl/controlActProcessl@classCod .
e='CACT'll@mood Code="EVN'//subject[@typeCode='SUBJ[1)/investigationkivent
[@classCode="INVSTG'[@moodCode="EVN'Y/subjectOf2[@typeCode="SUBJ 'l [inve

T s
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REFE TR AMRIEN A 542} LV RESNERAENERTET 3,
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F-g 8 10000J

FAE B HieHE

XPath /MCCI_IN200100UV01{@ITSVersion=XML_1.0'l{@xsi'schemalocation=urn:hl7-

| org:vd ' , _ :

'MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr]/controlActProcess [@classCod:
e='CACT[@moodCode="EVN/subjectl@type Code="SUBJ'I[1)/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN'//ecomponent[@typeCode='COMP[adv
erseEventAssessﬁ_lent] [11/ advgrseEventAssessment[@classCodeZ'INVSTGf] [@mo
0dCode="EVN/component1[@typeCode='"COMP'l [observationEventlcode[@code='
4[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'1]1[1]/observationEvent[@c
lassCode='0B8'1[@mood Code="EVN'l/value[@xsi:type=EDV/text(
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemalocation="urn:hl7-
org:v3 ‘
MCCI_IN200100U0V01.xsd'T/PORR_IN049016UVirl/controlActProcess[@classCod
e="CACT'l[@mood Code='"EVN'Visubject[@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'] [@moodCodé='EVN']/component[@tyi)e Code='"COMP'l[adv
erseEventAssessment]{1)/adverseEventAssessmentl@classCode="INVSTG'[[@mo
0dCode="EVN'l/component1[@typeCode="COMP'][observationEvent[code{@code="
5'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10711[1]/observationEvent{@c
lassCode="OBS'[@moodCode="EVN']/valuel@xsi‘type="ED'V/textO '
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F—F A 10000
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XPath /MCCI_IN200100UV01[@ITS Version=XML_1. 0_'] [@xsi:schemaLocation="urn:hl7-
orgvy

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[xl/controlActProcessf@classCod
e='CACT1[@moodCode="EVN'l/subject[@type Code="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN"}/component[@typeCode='"COMP'] [adv
erseEventAssessment]{1]/adverseEventAssessmentl@classCode="INVSTG'][@mo

0dCode=EVN'l/component1[@type Code='COMP'l[observationEvent{code [@co-de='
6'1l@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"]1[1)/observationEvent[@c
lassCode="OBS'] [@moodCode=EVN/value [@xsi‘type="ED"/text(
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0")[@xsi:schemalocation="urn:hl7-
orgv3 ‘

MCCI_IN200100UVOl.xsd']/P-ORR_INO490 16UV[rl/controlActProcessl@classCod
e='CACT'l[@moodCode="EVN/subject[@typeCode="SUBJ"|[1}/investigationEvent
[@classCode='INVSTG'l[@moodCode="EVN')/component{@typeCode='"COMP][adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="INVSTG'] [@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2l@typeCode="SBJ'] [organizer/codel@code='4][@codeSystem="2.16.840.

8




1.113883.3.989.2.1.1.201 [ 1]/organizerl@classCode="CATEGORY'l[@mood Code="E: |

VN']/compone ntl@typeCode='"COMP][substanceAdministration/idl/ substanceAd
ministration[@classCode="SBADM'][@mood Code="EVN'[consumable/instanceOf

‘Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/original Te

xt][1l/consumable[@typeCode='"CSMI[1V/instanceOfKind[@classCode="TNST}/kin
dOfProduct[@classCodez‘I\/ﬂVIAT'] [@determinerCode=KIND'/asSpecializedKind[
@classCode='"GEN'[1]/generalizedMaterialKind[@classCode="MAT][@determiner

Code="KIND'//code/originalText/text()

J2:1: 2k

TH B A BB LiC, EBREEEEORHEREPRHE TS,

Ry | ERITEREERE LTV RVESITE, EME T L,

F—x8 | 2N '

FEE. ML

XPath /MCCI_IN200 100UV01[@ITSVer51on“'XML 1.0'[@xsi: schemaLocatlon“‘urn hl7-
orgva

MCCI_IN200100UV01.xsd'l/PORR_IN04901 6UV[r]/controlActProcess [@classCod
e='CACT][@moodCode="EVN/subject[@typeCode="SUBJ'[[1]/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component [@typeCodé='COMP'] [adv
erseEventAssessment)[1)/adverseEventAssessmentl@classCode='INVSTG!/[@mo

deOde——f'EVN']/ subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode=INVSBJ'
}/subjectOf2[@typeCode="SBJ"] [organizer/code [@code="11] [@codeSystem='2.16.840.

| 1.113883.3.989.5.1.3.2.1. 11l [r)/organizer{@class Code="CATEGORY l[@mood Code

=EVN' ]/component[@typeCode—'COMP']/observation[@classCode“"OBS'] [@mood
Code="EVN'] [code[@code"'?][@codeSystem—'Z 16.840.1.113883.3.989.5.1.3.2.1.10'
Il/valuel@xsiztype="INT)/@value.

EEBE | BBROLIC, BREHERESCTHIN TV INRRBRETRT 2.
S AE | BEREHEEHEARE LTV AEAICE. RERAAKTE I LR TED, k. EHRE
' EEEFRH L TWRVBA I, BRERHBEEICERL TV IHRRBEREHT S
L. A—OBRERSEE CORROERE NS L THHBANL. F v TR > TR
WEBHz L,
—&E | 1000J
| srstE HWEE .
XPath /MCCI_IN200100UV01[@ITSVersion=XML._1.0'l[@xsi‘schemaLocation="urn:hl7-

orgv3d
MCCI_IN200 100UV01 xsd']l/PORR._ INO49016UV[r]lcontrolActProcess[@classCod
e='CACT][@moodCode=EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent

[@classCode=INVSTG'] [@mood Code="EVN'l/componenti@typeCode='COMP']{adv
9 | |




erseEventAssessment] [1)/adverseEventAssessmentl@classCode=INVSTG'][@mo

0dCode="EVN'l/subject1l[@type Code="SBJ'l [1]/prim aryRolel@classCode='"INVSBJ'
I/subjectOf2[@typeCode="SBJ'l [organizer/codel@code="1"] [@codeSystem='2, 16.840.
1.113883.3.989.5.1.3.2.1.11][rl/organizer[@classCode='CATEGORY'][@mood Code
='EVN'/component[@typeCode="COMP']/observationl@classCode="OBS"[@mood

Code="EVN'|[code[@code="81[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10"
II/valuel@xsitype="ED'Vtext() '

HEBHA RBREEEEFCER SN T HHEBEE T,

R TIk BREAEBELEZRE LTV IBEICE., THEPEWRTI LA TED, 2B, IRERE
BEEEZRE L TWaEWEEIE, s X V@l — FEEERLTRETS 2
Eo ‘

7—& A 1N _

A E B 5 BB - ‘.

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-

org:v3
MCCI_IN200100UGV01.xsd'J/PORR_IN049016UVI[rl/controlActProcessi@classCod
e='CACT'][@moodCode="EVIN'/subjectl@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'//componentl@typeCode='COMP]{adv
erseBventAssessment][1)/adverseBventAssessmenti@classCode="INVSTG'l[@mo
odCode="EVN'}/subject 1{@typeCode='SBJ'l[1}/primaryRole[@classCode="INVSBJ'
I/subjectOf2[@typeCode="SBJ'lorganizer/code[@code='1"1[@codeSystem="'2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[x)/organizer[@classCode='CATEGORY'l [@mood Code
="EVN"/component[@typeCode='COMP'J/observation[@classCode='OBS'l [@mood
Code="EVN'l[code[@code='9"] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
IIvaluel@xsitype="CE'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7)/@cod

e

S O TABAR o BT DB E A B BT

HE WY
ESE R a— FMETHABLS T —NBTHEEERVWDIHEEIE True=F] %, WRWVWEAIE

IFalse=#) Z&IRI DL,

F

—

7—E 10A

|
)
&N

true=%4
false=4&
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'][@xsi‘schemaLlocation="urn‘hl7-

org:vd

| MCCI_IN200100UV01.xsd' /PORR_IN049016UVIr}/controlActProcess[@classCod

e='CACT}[@mood Code='"EVN'l/subjectl@typeCode="SUBJ'}[1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN1/component[@typeCode="COMP][adv

| erseEventAssessmentl[1)/adverseEventAssessment[@classCode=TNVSTG[@mo
.0dCode="EVNY/subject1[@typeCode="SBJ1{1]/primaryRolc[@classCode='INVSBJ" |

l/subjectOf2[@typeCode="SBJ'][organizer/codel@code="1"l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1][r)/organizer@classCode='CATEGORY '] [@mood Code
='EVN']/componént[@typeCode:‘COMP‘]/observation[@cllassCoder_-'OBS'] [@mood
Code="EVN'Hcodel@code="'10'l{@codéSystem="2.16.840.1.113883.3.989.5. 1;3.2. I1

01]/valuel@xsi:type="BL')/@value

BB

WBOBE ., UG OBEAEIMREREE;LTHTE RV HOTH2HER
FH, EOMOBEIETED LT 5, [0SR A O Ei2.1b BIfEA /A& %E4% (MedDRA
2—F) LEESY b, BUEREICRE - BEMEM T 5, (FREORIBTERER,
FBABIED [8. TOMOBRRBIFASEERL CORRTE) © (1) 2387
Bk

Tk

| o— FEPGBIRLCRRT A2 &,
7 Bl 1IN _
G 1=:R%n
2=BL&n
XPath

| /MCCI_IN200100UV01[@ITSVersion=XMIL,_1.0'][@xsi'schemaLocation="urn‘hl7-

orgv3d
MCCI_IN200100UV01.xsdl/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT'][@mood Code="EVN/subject[@typeCode="SUBJ'] [l]finvestigationEvent
[@classCode="INVSTG@moodCode="EVN/component[@typeCode="COMP'] [adv
erseEventAssessment}[1]/adverseEventAssessment[@classCode="INVSTG'l{@mo
0dCode=EVN'l/subject1[@typeCode="SBJ'|[1]/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode='"SBJ'[observation[idl[code[@code="29T[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19']1}[i{/observation[@classCode="OBS'[@mood Code=
EVNT] foutboundRelationship2[@typeCode="PERT'] [observation/codel@code='11']]
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']] [1]/observation[@classCode=
'OBS[@moodCode="EVN'l/valuel@xsi:type='CE1[@codeSystem="'2.16.840.1.11388
3.3.989.5.1.3.2.1.8'/@code

T CEL

FRRER CHERERSICH T, ABICE  TRENARARENTVSBE .
AREETFT. |
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TR E=z— Frb@Efliza— Fe@RLTRETOII L,
WaRBEDOHRE., BEEIMREEEORERXIL. RBRERSHOEBLREHRT L L.
T, SEHEREORS. BELX{TToLEEZRER T L,
HEHECEON T, BREOHNNRBICL > TA—ORES 2 SNIEHEE. 1208
ELLTHEELTELX AR, ZORRIIIREREL 1 ERICREEL. &9 ELEH
ALT, “HFBUBICZDMOARERRERTH &,
%A, A—OHEBEIMLE TR ENEHEIIL, BEAREIRSWTENHRET 5, £
OEEIZIE, BIERE ORICHET CYZEMFEONREELRE T - &, YFEREo
AREPEESHDHECITRIVELEFRTHZ L,
2B, EEOHBRNENRRE LGSR, G LTZ L,

7T —4F 2A

FRE IS0 3166-1 T 772 DE=—F ,

XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0[@xsi:schemalocation="urn:hl7-

| e='CACTl[@moodCode="EVN'//subject[@typeCode="SUBJ'l[1V/investigationEvent

org:v3
MCCI_IN200100UV01.xsd'l/PORR._. IN049016UV[r]/c0ntrolActProcess[@classCod

[@classCode="INVSTG [@moodCode='EVN l/referencel@typeCode="REFR'l[docu
ment/codel@code="21[@codeSystem="2.16.840.1.113883.3.989.2.1.1.27T1[x]/docum
entl@classCode="DOCT[@moodCode="EVN/participation[@typeCode="AUT)/assi
gnedEntity[@classCode='ASSIGNED'/representedOrganization[@classCode="OR

G'l[@determinerCode='INSTANCE'l/asLocated Entity[@classCode="LOCE'/locatio
nl@classCode="COUNTRY'l[@determinerCode=INSTANCE/code {@codeSystem—
'1.0.3166.1.2. 2]/@code

1216 BENEOER

P RREE O ERERE o Be. SRR EEOERE T

H B A
RETIE L
— 8 500dJ
FrAE B B RCE
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'] [@xsiischemaLocation=‘urnlhl’? -
org-v3d

MCCI_ IN200100UV01 xsdl/PORR_IN0490 16UV[r]!controlActProcess[@classCod
e="CACT'][@moodCode="EVN'l/subjecti@type Code="SUBJ'{1)/investigationEvent
[@classCode=INVSTG'1[@mood Code="EVN"l/component(@typeCode="COMP{adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG ] [@mo

0dCode="EVN'l/componentl{@typeCode='COMP'][observationEvent[code[@code="
12'{l@codeSystem="2.16.840. 1; 113883.3.989.5.1.3.2.1.10'1[1]/observationEvent[@
classCode="0OBS'l[@moodCode="EVN'/valuel@xsi:type="ED"/text(




e OBE ., TRERRR R U3 THERER %) ORlZrRT,

HH RS

R#E | kL

F—#3 | IN - =

EEEE | I=HRERRERWIE - -
2=FEERERERER FFSE

XPath

/MCCI_IN200100UV01[@ITS Version="XML._1.071[@xsi‘schemaLlocation="arn‘hi7-
orgiv3 S e ' - |
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'/subject[@typeCode="SUBJ ][1)/investigationEvent
[@classCode="INVSTG][@moodCode=EVN'l/reference[@type Codé='"REFR] [docu
ment/code[@code="21[@codeSystem='2.16.840.1.113883.3.989.2.1.1.27}{r}/docum
ent[@classCode=DOCT[@mood Code='EVN/title/textQ)

il

EEL:

TCSR (O[S E DM 37t

R | MR AEERERSER OIS L BT 5,

F—ZE | 100J

FrEE El=ER 17

XPath /MCCI_IN200100UVO01[@ITSVersion="XML:_1.0'[@xsi‘schemaLocation="urn'h17-
org:v3

MCCI_IN200100UV01.xsd/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT][@moodCode="EVN'l/subject@type Code='SUBJ'[1]/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent!primaryInformatioﬂRecipient] [1)/controlActEvent[@classCode="CAC
] [@moodCode=‘EVN']/primaryInforrnationRecipient[@typeCode='PRCP']‘/assign
edEntity[@class Code='AS_SIGNED‘]/representedOrganizationI@classCode='ORG']

[@determinerCode='INSTANCE)/name/text( - '

; A

BEWHA | ISR OZEBEORRS b T,

ERE | mER LT 5.

F—&% 1100

FrEE Ef:=EGE

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemalocation="urn‘hl7-
org-v3 ’ ' ‘

MCCI_IN200100UV01.xsdl/PORR_IN049016UVIr)/controlActProcessl@classCod
-e='CACT"][@mood Code=EVN/subjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/subjectOf1[@typeCode="SUBJ"] [cont
rolActEvent/primaryInformationRecipient][1)/controlActEventl@classCode="CAC
T [@moodCode=EVN')/primaryInformationRecipient[@typeCode="PRCP')/assign
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edEntityl@classCode="ASSIGNED'//assignedPerson[@classCode="PSN'][@determ
inerCode="INSTANCE'//name/prefix[1]/text(

HHHHA ICSR DEEHDOMETFT,

R Wi BEOBREROHEETET D,

F—FH 100J

FEM B

XPath /MCCI_IN200 IOOUVOI[@ITSVersmn—'XML 1.0%l@xsi:schemaLocation="urn:hl7-
org:v3d
MCCI_IN2001000V01.xsd'I/PORR,_IN049016UV[x)/controlActProcess[@classCod
e="CACT][@mood Code=EVN'l/subjectl@typeCode="SUBJ'l[1}/investigationEvent
[@classCode="INVSTG'Il@mood Code="EVN')/subjectOf1[@type Code="SUBJ[cont
rolActEvent/primaryInformationRecipient][1)/controlActEventl@classCode='CAC
T'}[@moodCode="EVN'l/primaryInformationRecipient[@typeCode='"PRCP']/assign
edEntity[@classCode="ASSIGNED'V/assignedPerson{@classCode=PSN'l[@determ
merCode—'INSTAN CE ]/namelfamﬂy[l]/text()

2184 BIEEH e e

IHEFE | ICSR @ﬁ{p‘a!fd)ﬂ, %T@‘

REHE | EEOBEROLETKT D,

F—ZE 100J

FrEE B R0

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3 |

| MCCI_IN200100UVO01. xsd']/PORR INO49016UV[r]/controlActProcess[@classCod

e="CACT'][@moodCode="EVN' ]/sub]ect[@type Code="SUBJ'] [1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/subjectOf1[@typeCode="SUBJ"} [cont
rolActEvent/primaryInformationRecipient|[1]/controlActEventi@classCode="CAC
T [@moodCode='EVN']/primaryInformationRecipient[@type Code='"PRCP']/assign
edEntity[@classCode='ASSIGNED]/assignedPerson[@classCode="PSNl [@determ
inerCode="INSTANCE'l/name/given[1]/text(

LCRES TEER

FLETIE 2L

F— s 10000J

FrAE H B Ftid

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0l[@xsi:schemalocation="urn:hl7-

| org'v3d _ _

MCCI_IN200100UV01.xsd'J/PORR_IN049016UV[r)/controlActProcessl@classCod
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e='CACT'[@moodCode="EVN'l/subject@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG' [@mood Code="EVN'] /component[@typeCode='COMP'] ‘[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TINVSTG[@mo.
0dCode='"EVN'l/component1[@typeCode='COMP!][observationEventlcode[@code="
13'] [@code'systém='2.16.840.1.113883.3.989.5.1.3.2.1.10']]][1]/observationEveﬁt[@'
classCode="0BS' [@mood Code="EVN'/valuel@xsi:type="ED1/text()

H B & FREE
| Rk L
F—FE - | 10000
M H R , |
XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemaLocation="urn:hl7-
' ' orgwvg

MCCI_IN200100UV0L.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'][@moodCode=EVN'l/subject[@typeCode='"SUBJ'][1)/investigationEvent
[@classCode='INVSTG'][@mood Code="EVN'/componentl@typeCode='"COMP] [adv
erseBventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'I[@mo
odCode:_'EVN']./c'omponent1[@typeCodeZ'COMP'] [observationEventlcodel@code="
147[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]1[1)/observationEvent[@

classCode="OBS'[@moodCode="EVN'l/valuel@xsi:type="ED/text(} -

EHEB#HHA FEE R

ok FiE L

F—F® | 10000

AR ERED

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalLocation="urn:hl7-
org-v3 ‘ ‘

MCCI_IN200100UV01.xsdT/PORR_IN049016UV(x])/control ActProcess[@classCod
e='CACT'][@mood Code="EVNV/subject[@typeCode="SUBJ'|[1)/investigationEvent
[@ciassCode='INV STG'] [@moo&CodefEVN'] /component[@typeCode='COMP'][adv
erseBventAssessment)[1]/adverseEventAssessmentl@classCode=INVSTG[@mo

odCode:‘EVN‘]/c_omponent 1[@typeCode='COMP!][observationEvent[code[@code="
15'[@codeSystem="2.16.840.1.113883:3.989.5.1:3.2.1:10']I[1}/observationEvent[@
classCode='0BS' [@mood Code="EVN'l/valuel@xsi:type=ED'l/text(

FEE

5 BH#AFA
E e L
T

10000J
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FrEME B Bl .
XPath MCCI_IN200100UV01 [@ITSVersioni'XML_l.OT] [@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/eontrolActProcessl@classCod

e="CACT'][@mood Code="EVN'l/subjectl@typeCode="SUBJ'|[1]/investigationEvent

[@classCode="TNVSTG'l[@mood Code="EVN'l/component[@type Code='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l[@mo
0dCode="EVN'l/component][@type Code='"COMPl[observationEventl{code[@code="

16'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'1/[1l/observationEvent[@

classCode="0BS'l[@mood Code="EVN'l/valuel@xsi:type="EDl/text()
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